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Item format plan

S.N. Type of item Score per item Total item Total score Time
! Multiple Choice Questions | 1 1 25 minutes
2 Short Question Answer 5 8 40 135 minutes
3 Long Question Answer 8 3 24
Grand Total 22 75 3 hours
Remarks:

Item format in composite should be met as per the specification grid.
Designated weightage of the units/content areas should be met.

In the case of SAQ and LAQ), these should ensure that 1 mark will be assigned per element expected as correct response.

The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and

30% higher ability level.

SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be

approximately to the required distribution. In case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 1 "OR"

question

(?)




Model questions

Grade XI
Attempt all questions
Group 'A'
Circle the best alternative to the following questions. (11x1=11)

1. A metre rule is used to measure the length of a piece of string in a certain
experiment. It is found to be 20 cm long to the nearest millimeter. How should this
result be recorded in a table of results?

(2) 0.2000m  (b) 0.200m (d) 0.20m (d) 0.2m

2. Forces are applied to a rigid body. The forces all act in the same plane. In which diagram is
(a) (b) (c)

(d)
2F 2F
F F F F l l
F | F FF
2F 2F

3. An athlete makes a long jump and follows a projectile motion. Air resistance is

the body in equilibrium?

negligible.
Which one of the following statements is true about the athlete?
(a) The athlete has a constant horizontal and vertical velocities. é

(b) The athlete has a constant horizontal velocity and constant

downward acceleration.

(c) The athlete has a constant upward acceleration followed by a constant downward

acceleration.

(d) The athlete has a constant upward velocity followed by a constant downward velocity.

(30)



4. At Kulekhani-I Hydro-power station, water flows from

Indra Sarowar into the turbines that are a vertical Lake T

distance of 550 m below the lake, as shown in the ———7 J\\

diagram. Generally, 780 000 kg of water flows into the £E0m k‘\\

turbines every minute. The turbines have the _ \% .
A | Tutoe |

efficiency of 85%. What is the output power of the

turbines?
(a) 71 MW (b) 60MW (c) 4.2 GW (d) 3.6 GW

5. Graphs of stress-strain for four different materials are shown below. Which graph
represents the stiffest material?

Stress

Stress
Stress
Stress

Strain Strain Strain Strain

(a) (b) (c) (d)

6. A boy walks towards a stationary plane mirror at a speed of 1.2 ms™'. What is the relative
speed of approach of the boy and his image?
(a) zero (b) 1.2 ms-1 (c) 2.4 ms-1 (d) 1.44 ms-1

7. The critical angle between an equilateral prism and air is 45°. What happens to the incident
ray perpendicular to the refracting surface?
(a) Itis reflected totally from the second surface and emerges perpendicular from the third.

surface.
(b) It gets reflected from second and third surfaces and emerges from the first surface
(c) It keeps reflecting from all the three sides of the prism and never emerges out.
(d) After deviation, it gets refracted from the second surface.
8. In the formation of a rainbow, the light from the sun on water droplets undergoes which of

the following phenomenon/phenomena?

(a) dispersion only (b) only total reflection.
(c) dispersion and total internal reflection (d) scattering

9. In what unit is the power of lens measured?
(a) watt (b) metre  (c¢) dioptre  (d) Hertz

(19)



10. A piece of wire of resistance R is bent through 180° at mid-point and the two halves are
twisted together. What is the resistance of the wire thus formed?

(a) R/4 (b) R2 (©)R (d) 2R
11. What are the elementary particles with half spin called?
(a) quarks (b) bosons (c) fermions (d) hadrons
Group 'B'
Answer the following questions. (8 x 5=40)
1. (a) State the law of conservation of momentum. 2]

(b) A jumbo jet of mass 4 x10° kg travelling at a speed of 5000 m/s lands on the airport. It
takes 2 minutes to come to rest. Calculate the average force applied by the ground on

the aeroplane. [2]

(c) After landing the aeroplane's momentum becomes zero. Explain how the law of

conservation holds here. [1]
OR

(a) State Hook’s law. [2]

(b) The walls of the tyres on a car are made of a rubber
compound. The variation with stress of the strain of a
specimen of this rubber compound is shown in Fig. 1.2.

As the car moves, the walls of the tyres end and straighten

continuously. Use Fig. 1.2 to explain why the walls of the Fig. 1.2.
tyres become warm. [3]
2. (a) What is meant by specific latent heat of vaporization of water = 2.26MJkg'? [1]

(b) A 1.0kW kettle contains 500g of boiling water. Calculate the time needed to
evaporate all the water in the kettle. (Specific latent heat of vaporization of

water = 2.26MJkg ). [3]
(c) Explain why the actual time needed is a little longer than the time calculated in
2(b). [1]

3. (a) Sate any three properties of an ideal gas as assumed by the kinetic theory of gas. [3]
(b) A student needed to use the ideal gas for a certain experiment. But, the ideal gas does
not exist. Suggest what two different things this student could do to solve his problem.

[2]

4. (a) Define temperature gradient in an object. [1]

(?)



(b) An electric kitchen range has a total wall area of 1.40 m? and is insulted with a layer
of fiber glass that has a temperature of 175°C and its outside surface is 35 °C. The
fiber glass has a thermal conductivity of 0.040 Wm™'K-!. Calculate the rate of flow of

heat through the insulation, assuming the fibre as a flat slab of area of 1.40 m>.

[3]

(c) How might the rate of conduction be affected if the fiber absorbs moisture? Justify your

answer.
5. Figure 5.1 shows a ray of light is entering and
emerging through a part of a convex lens.

(i) Define ‘convex lens', and state one daily

Normal /
/

application of it. [2]
(1) Explain why this lens is also called
converging lens? [1]

(i1) Calculate the refractive index of the material
of the lens shown in the figure.
[2]

OR

(a) Define ‘concave mirror’ and state on daily application of it.

(b) A certain projector uses a concave mirror for
projecting an object’s image on a screen. It
produces an image that is 5 times bigger than
the object and the screen is Sm away from the
mirror as shown in Fig. 5.2.

(i) Give reason why is the image larger than the

object? [1]

(i1) Calculate the focal length of the mirror.

[2]

6. (a) Sketch an electric field pattern around two identical negative point charges shown

-Q below. -Q [2] y
Y @
r r
Fig. 6.1

(b) Obtain an equation, in terms of Q and r, for the field strength at point X due to two

charges shown in shown in Fig. 6.1

7. (a) Define capacitance of a parallel plate capacitor and state one application of it in

electric circuit. [2]

Fig. 5.2

[1]

2]

[3]

(b) Three capacitors each of 1000uF are connected in an electric circuit as shown

below.

(13)



T EH

Fig. 7.1
(1) Identify the type of combination shown in Fig. 7.1, and calculate the effective
capacitance of the combination. [1+2]
8. (a) What is it meant by power of a heater is 2 kW? [1]

(b) Calculate the resistance of the above mentioned heater when it is connected to 220V

source. [2]
(c) Suggest what changes must be done to the heater so that it gives more heat. Justify your
answer. [2]

Group 'C'

Give long answer to the following questions. 3 x8=24)
9. A box at rest is accelerated by a rope attached with a motor as shown in the Fig
2.1. The velocity-time graph given below shows the pattern of its motion for 20 s.

(a) Ifthe box is pulled with constant unbalanced force 10N. Show that the initial

acceleration of the box is 2.5 ms, and calculate its mass. [2+1]
(b) After 2.0 second the box is being pulled by a constant force 12 N.

Determine the size of frictional forces acting on the box at this time. [2]
(c) Determine the distance of the box travels along the ground at 8.0s. [3]

10. A boy is operating a remote-controlled toy car on a horizontal circular track, as
shown in Figure.

(¥¥)



The track has a radius of 1-8 m and the car travels around the track with a
constant speed.

Fig. 10.1

(1)  Explain why the car is accelerating, even though it is travelling at a constant
speed. [2]
(i1)) The car has a mass of 0-50 kg. The boy now increases the speed of the car
to 6:0 m s "!. The total radial friction between the car and the track has a
maximum value of 7.0 N.
Show by calculation that the car cannot continue to travel in a circular
path. [3]
(ii1) The car is now placed on a track, which includes a raised section. This is
shown in Figure 10.2

The raised section of the track can
be considered as the arc of a circle,
which has radius r of 0-85 m. The
car will lose contact with the raised

section of track if its speed is
greater than Vipax. Show that Vipax Fig. 10.2

is given by the relationship Vmax

=Jrg. 3]
OR
Juno is a NASA orbiter with a
mission to survey Jupiter. It is
in an elliptical orbit around
Jupiter as shown in the figure
below.

(3%)



The gravitational potential at point A in the orbit of Juno is -1-70 x 10° J kg™

(a) State what is meant by a gravitational potential at point A is -1-70 x 10° J
kgl [2]

(b) At point B, Juno is 1-69 x 10® m from the centre of Jupiter. If the mass if

Jupiter is 1.90 x10%” kg, calculate the gravitational potential at point B.
[3]
(c) The mass of Juno is 1-6 x 10° kg. Determine the change in gravitational potential
energy if Juno moves from Point A to Point B. (3]
11. (a) Explain how Rutherford’s a-scattering experiment suggested that the nucleus of an
atom is very small, very dense and positively charged. [3]
(b) Considering that the a-particles carry average kinetic energy of 2.00 x 10 J,

calculate the maximum size of the gold nucleus. [Atomic number of gold is 79 and

e=1.60 x 10°C] [3]
(c) Explain why the radius of the gold nucleus must be much smaller than the value
calculated in 11(b) above. [2]
K U A H
MCQ 2 5 3 1
SAQ 2+3+14242=10 | 1+1+2+1=5 3+3+2+2=10 | 2+1+1+2+1+3+3+2=15
LAQ 3+2+3=8 2+3+3=8 3+3+2=8
Total 12 18 21 24
Mechanics Heat & Waves Electricity & | Modern
Thermodynamics and optics | Magnetism Physics
MCQ 5(5 0 4 1 1(1)
SAQ 1(5) 3(15) 1(5) 3(15) 0
LAQ 2 (16) 0 0 0 1(8)
Total 26 15 9 16 9

(1%)



J@ttarr (Accounting)

& 19 J@rtata (Accounting) Acc.103
AT 9 Jgie A T
formr e e e ¥ 9 3 faaror F
Aafd Brar | Frar wed | AT ST | ofq @ | e ged | AT yed [ | 39 | TTRiER
g9+ (@ T g9 97 &
Iq8T (A ERIE (F== T
TE) TqE) Z&rar AR
qE)
Th | Nr | Th | Nr | Th| Nr Th Nr | Th | Nr | Th Nr
q. @@ At CdEr afeEd T R q 9 ¥ R 3 R e 119 R
ERUKECIEIE) @Rl Fgreile
TR THIEN [ ™ ezt afverad | = 3 | ¥ 343 ERES
3. fafae . AR FEwRem q9r | 9 q 29 N v |s |
REUEIEED] g feara fgee
g e e
AN TAIN [ oy gy qar | R q T 3 K
U SRR
TRIETI
. e grafaer srErtafa q R Y Yol R
. afsadt T grae ar | 9 9 3 9 R 3 | g
XATHT J@Tard
3. fafow faerores . Ul 9T FIHErr 9 q R Y s | 93 [ | ¥
Ll fafaar
[EEMUREEIRSRIK
. TR-ATRTHAF FEATHT q q % 4o e
@At
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¥ HHERT 0. FRHRT r@Trarg 3 q 2| s 3 3 ¥+% | 9% [ 3% | 3%
srafafy
STHT 19 9 AR ¥ R 19 E 39 RY ¢ | 9¥0 q¥0
9T R RIS B Y R0
STHT q00 %0

Note: Th=Theory; Nr = Numerical

TIAHT JHREE
TYTF TFRE® qited wger | @wyg fawrse @ 2.4 minute Per mark | TU1E%
afa dfra we 19 99XR.Y = L. ¥ 19
IaT IAT ATSH T a( SXRYXY = % %0
+9+9+9D=9%
AT IR AT J9 3(+)=¥ IXR¥XT = 49 R¥
STEAT RARY) Y50 fae 9y
T

q. AT GIET Y9F § ASHFN g B T THGEH G TG AT T 99 T9F 8T B |

R TIAT YT L ASHFN g G T GhIET 9 ThTgh! Iafae g7 I © Y9H @ A a1 w35 JeAHr fasked faq

i, |

3. ATHT U89 & ATHHT &1 S T 3 U9F @A S AT FA Ueh YA faheq o Afepes |

¥, STH TEHT qUISHH 0 IAATHT T eI, 3= F&7dT TeAT 0 FAeTqd Toe T T A TeHT AAIHATTIR T

& B |

. T TEHT [ATARr YRl T e asaraan dfd @ieT, SiaT T AT YO @ G | o JeHT g @Il 97 @I
AfTATIAT g4 | S TEAT AT [AATT, HeATSHA T (qTATCHE TehT I TEASA |
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J@ifaty (Accounting) [Acc. 103]

AHAT JEA9q 099 (Model Question 2077)

Time: 3 hrs Full Marks: 75

TqHE “F”  (Section “A”)
(fq s Saew® 7e=Ee / Very Short Answer Questions)

o qeeeH IO G | (Attempt All Questions) ®¥WxT=1

1.

T AtaerEd TE & ar ?
What is book-keeping?

2. S@Taiae &9 3% 998 i@ TR |

Mention any two objective of accounting.
3. Hifgd AU AFUROET AT ACTE |

Write the meaning of money measurement concept.
4, I TAATS TATIT TR |

Define trial balance.
5. Y@rEiEd =% q°E & 8 ?

What is cross cheque?
6.  Fgiwad FAfCH ALAT AR |

Write about error of principle.
7. SR AAH F A7

What is reserve?
8.  USNTA @ ¥ AT @ Al F U fIdT AR |

Write any one difference between capital expenditure and revenue expenditure.
9. wdle W H & & ?

What is dhapot?
10. 3% F7dr fepearer fearor faeeme |

Define bank cash book.
11. ovie fea TR Iw@ THe |

State the use of budget sheet.

qHe “@” (Section “B”)
(Sfrer SrcH® yeeee / Short Answer Questions)

S qeeed Ix e | (Attempt All Questions) 5 XY = Yo
12, A. S@iparers JEaHT Jeod TR | 3

State accounting process in brief.
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13.

TAH [TaRUETH FEARTATE @l FIHFT TR THEE | 2
Prepare accounting equation from following details.
a) TR ¥.3,00,000 T K= ¥ ¥,00,000 qTE SAFATIF] T&aTd AT |
Started business with cash Rs. 2, 00,000 and furniture Rs. 5, 00,000.
b) T % 50,000 T AR %. 90,000 | AHTA @RE TAT |
Purchase goods worth Rs. 80,000 on cash and 70,000 on credit.
C)  EX WIET & 40,000 HThA AT |
Paid rent Rs. 90,000.
d) ¥ 20,000 F AN % W,000 A7 fqfF TRAT |
Sold goods costing Rs 20,000 on cash Rs. 25,000.
A. TE T ShepT FRIAREE I [GUH B

Cash and banking transactions are given below:

919 q: G ¥ I HITETd FHIT F £0,000 T & 3,00,000
Poush 1: Opening balance of cash and bank are Rs. 60,000 and 2, 00,000
respectively.
Y 93 TG T 30,000 SHHT STEAT AT |
Poush 13: Cash deposited in bank of Rs. 30,000.
qY R A|ATE 633,000 FF W qhHT T & 34,000 &7 feara fgar wifear |
Poush 22: Paid of Rs. 32,000 to Ram through cheque for settling account
of Rs. 35,000.
a9 AR faer Ao wfareare € 92,000 F1 AF T F. 3,000 AR YIS AT |
Poush 27: Received a cheque from Aviral of Rs. 19,000 and cash Rs.
3,000 for selling machine.

Far e (Required):
= weery Are qisaat (Triple column cash book) 3

=R @ivg gt faare aa fesusr s ¢
Transactions related to furniture purchases are given below:
fedFar W Fo0 TATIEAE @R
Dec 5: Purchase from Karuna suppliers
jo @itk a9« %. 9,00,000 AT (10 coffee tables for Rs. 1,00,000)
0 a1 A1 HEG 5. ¥,000 HT a7AT (20 small chairs @ Rs. 4,000 each)
=R g2 90 % (Trade discount @ 10% )
fedFar & d=Tell degare @ia
Dec 19: Purchased from Anjali traders:
Y F21 T T 94,000 &1 AT (5 beds @ 15,000 each)

(20)



14.

15.

© @aT |1 ¥2 & 3,000 &1 7T (8 pieces of sofa @ Rs. 25,000 per sofa)
Far arerd (Required): @Rz fwam (Purchase book) 2

forarores fearaar fegusr o

Following information are given:

a) e fEarae Hisard ¥ 50,000 T@TAT |
Cash book showed a balance of Rs. 80,000.

b)  fafw= =rereware ST TRUFT F WY,000 W T 30,000 AA  FHAT THEAT WUBT IR |
Bank credited Rs. 20,000 only out of various cheques of Rs. 75,000
deposited in the bank.

C)  %.%0,000 F[ Y& TR AUHHT %.40,000 ARTATEHT = TRTATHT ATNT SHHT Ao FAfT
TE I WA |
Cheques issued of Rs. 90,000 but a cheque of Rs. 10,000 was not
presented for payment till the date.

d)  TTEE =F ARG STEAT TR & ¥¥,000 F TR fhdradr A@fter@ IfEud |
A customers deposited a cheque of Rs. 44,000 directly in the bank but
has not been recorded in the cash book.

€) bl UTH FHAT S Aok & 400 G FAITH @aT |
Bank debited Rs. 500 as bank charge in the pass book.

f) % qR000 FT IF Y AT T AR feparawr wfqera AT TR AFAT THEAT BT qHA |
Cheque of Rs. 12,000 received and entered into the cash book but failed
to deposit in the bank.

Far e (Required): @@ feama faems faawor (Bank Reconciliation Statement) 5

A, IIAT THE AR T TS AT are Afceedrs g |l 3

Rectify following errors before preparing of trial balance.
a)  wTATATE AreHT fafe wivuEr v ¥y, 000 I @rarr fae i
Cash sales to Sharma Rs. 45,000 debited to his account
b) % 9’000 fafE Wwr dhrT @Re fedradr qeaer Ffee Al
Sales of machinery @ Rs. 19,000 were wrongly credited in sales account.

C) U FMH F.30,000 F IK GHIATS (i @IATAT ATHE TAT
Purchase goods from Pema Rs. 20,000 recorded in sales book.
B. g wdEvrEre HeErare faarues feieum g

Following information are extracted from the trial balance

(x1)



faerr (Particulars ) gfae (Debit) #fee (Credit)
% (Rs.) %.(Rs)

fafag smamiEs (Sundry debtors) 52,000

@zre e yraar (Provision for bad 7,000

debt)

e #0 (Bad debt) 1,000

a7 s (Additional information)

b)

@zt A %.3,000 (Bad debt Rs. 2,000)
Ge ;O gadr 4% (provision for bad debt @ 5%)

Far e (Required): @=rer vret graam @rar (Provision for bad debt account 2

#gar (Or),

A g FrrR sHrfad aeqad aierr faarer e S g
An unadjusted trial balance of 'A' trading concern is given below

feazr (Particulars) gfae (Debit)  |faawr (Particulars) |@fee (Credit)
z.(Rs.) z.(Rs)

st qar wa= (Land and building) 400,000 |gsir (Capital) 425,000

gl (Debtors) 225,000 |=rg (Creditors) 120,000

&% Hrsard (Bank balance) 145,000 |fa=T (Sales) 515,000

T« (Salary) 80,000 |=wr (Loan) 250,000

Frara @= (Office expenses) 40,000

@itz (Purchase ) 380,000

e (Cash) 25,000

gtyw 4 (Prepaid insurance) 15,000

s#AT(Total) 13,10,000 sr#rT(Total) 13,10,000

a7 el (Additional information):

a)
b)
©)
d)
e)

atow wratea @ (Office expenses prepaid) Rs 3,000
st 7= g (Land appreciated by) 10%

fq ater a@a (Salary outstanding) Rs. 1500

e #0 #E (Bad debts written off) Rs. 2500

aiw drarer garsr (Prepaid insurance expire) Rs. 10,000

Tar e (Required): swmtea a=qaw wewr (Adjusted Trial balance) 5

16.

Fa q, 095 AT ABC #F¥I %, §,00,000 T HIGR 99 @i¥g T=AT | S[ATE q, 3092 AT FFIwT

#H HEX 99 %, 5,00,000 A @RE TAT | § FATs 030 AT Gfedl GRE TH A2 AAATE T8
% 40,000 gremHT fafe =i ¥ @ife fadmr % 90,00,000 FRTERFT 7HT W@ I @RE T4T |

(R)




feae ferean fafurar gea =@EE 10% #1 TR fqad Fferg T 8¢ a9 FFIAR] FRIAR FSLwated
3 AT g T |

On 1% January, 2018 ABC Company purchased a motor van at Rs. 6, 00,000. On
15" July, 2019, company purchased another van worth Rs. 8, 00,000. On 1° July
2020, the first motor van was sold bearing the loss of Rs. 50,000 and on the same
date company purchased another van for Rs. 10,00,000. Depreciation was
charged @10% p.a. under fixed installment method. The accounts of the
company were closed on 31% December each year.

Far e (Required): @ av@@rT Hiex w9 @rar (Motor Van account for the first
three years) (1+2+2=5)

17. 749 9% 99 30, 0N HT AT TN T [TZTH 3,
Trial balance of Nabin Trader on Chaitra 30, 2071 is given below.
feazor (Particulars) %.(Rs.) |fa=zor (Particulars %.(Rs.)
fafe == (Selling expenses) 5,000 | %= arw1(Gross profit b/d) 87,000
=1s (Interest) 5,000 | & (Creditors) 8,000
gt (Debtors) 25,000 | =% =r(Bank loan) 19,000
gwra A (Bad debt) 2,000 | GRTe HOTET JTadTT 2,000
(Provision for bad debt)

&1 (Insurance) 1000|957 (Capital) 50,000
daa (Salaries) 20,000

awmr (Investment) 40,000

e (Cash) 14,000

#faw (Machinery) 50,000

arer (Rent) 4,000

st (Total) 166,000 |5+ (Total) 166,000

a7 fa faazor (Additional information)

a)  #faimr g 0% gfqad (Depreciation on machinery 10% p.a)
b) fa+ =@ d@a % ¥ooo (Salary payable Rs. 4,000)
c) Tat @™ ® % 9,000 (New bad debt Rs. 1,000)
Tar e (Required):
a) At A @ran (Profit & Loss account)
b) argard (Balance sheet) (3+2)

()



18. ewgs® Mwrgard fqawues fegusr & (Red Cross provides following

information):
1-9-)095 @ arara (Balance Sheet as on 1-1- 2018)
attaed (Liabilities) Amount | Assets Amount
g5t & (Capital fund) 4,00,000 | = == (Fixed assets) 3,00,000
# (Loan) 60,000 | A (Investments) 1,00,000
gfew T7g Heera (Closing | 60,000
cash balance)
s (Total) 4,60,000 | s (Total) 4,60,000
TERAH fAfq 39-9R-R0%5 F U T SRS qd [GSUH G

Receipts and payments of Red Cross are given below as on 31% -12-2018
=it (Receipts)

FT ek (Subscriptions) Rs. 50,000

ga91 9T (Entrance fees) Rs. 30,000

e = (interest on investment) Rs. 5,000
T wiF=r @ (Sale of old Furniture) Rs. 5,000
ot (Payment)

za= @+ (Tournament expenses) Rs.10,000
sarer(wages) Rs. 20,000

fufreg (Printing) Rs. 7,500

g @ (General expenses) Rs. 12,000
=T (Newspaper) Rs. 1,800

o faerures e feguawt g (Other information and outstanding are given below):

a) Tufes = fa= at#r & woo T samen fad =@t . 300(Printing outstanding Rs. 500 and
wages outstanding Rs. 3,000)

b)  ¥0% gaw e geinta (40% of the entrance fee is to be capitalized)

c) fer g 7 '@ 90 % (Fixed assets depreciate by 10%)

d) == g gt 5.33,000 (Subscription due for the year Rs. 22,000)

Far e (Required):

a.  9r=ir T shran @ran (Receipts and payment a/c)

b. gz g1 =77 @ (Income and Expenditure a/c) (2+3)

(R¥)




19.

A, 99Ar THERT F@T YUITAT AwTd @l e TGS | Il AFas] q, 3099 | . 3,00,000
AT g 9% TRA | AT FqHTEAT 3. ,000 & T B Geel AT Zagraare "0
femerT T | ITRT AT ATTHERT TR faaRr HETEr TS g |
Shweta keeps her account under the single entry system. She started a
business with Rs. 2,00,000 on 1% Jan, 2017. She withdraws Rs. 2,000 per
month for household work. The position of her business at the end of the
year was as follows;

ferr vt (Fixed assets) Rs. 1,90,000

Hisara (Inventory) Rs. 85,000

farai#r @= (Due expenses) Rs. 10,000

@rg (Creditors) Rs. 50,000

smrarT (Debtors) Rs. 40,000

& wreard (Bank balance) Rs. 60,000

Tar e (Required):

a)  #i=w e faerw (Closing statement of affairs)

b) AT FE fgERr (Statement of profit and loss) (1+1=2)

FSTeaATEaea FIATAIH! FRERE! (HeTars! faaze fegusr g ¢

Following transactions of District level office are given:

a)

b)

I q, TREAT ATATs 9id AfETT ¥, 5,000 F1 TR 3 AiEHATET TRATST AR AT |

Chaitra 1, House rent (@ Rs. 8000 per month for three month paid to

house owner Sailesh

=T Y, AL, THAEA &, Y000 H BIHER e T 3, Q000 HT Sk BT YT AT

fasterr Jeeft ¥ 000 wgdre TR |

Chaitra 15, Furniture advance of Rs. 5000 was cleared as per bill of Rs.

6000 and bank voucher of Rs. 1000 submitted by Na. Su. Ramchandra

FHATIHT F1lceh HiedTH TRHHAF & 30000 (FFATHY 99 dATeF) T . L000

FHAT JAAHT, F.3000 ATHITF FET FIT T F. U00 ITTHT FHFT T THA faawer

T |

Staff renmeration of kartik Rs. 30000 (with out provident fund) was

distributed after deducting P.F. Rs. 6000, social security Rs. 300 and

income tax Rs. 1500.

Far e (Required): s=« == (Journal Vouchers) (1+1+1=3)
Faar(Or),

(W)



freTERe® serEs [@5uw @1 (Following information are given):

aoie gfed# (Budget sub- | @fis @@ (Annual RIATIT FEHRT T

heads ) budget) (Expenses up to
Falgun)

FH=mw @= (Employee 800,000 400,000

remuneration)

Fraraa g (Office 120,000 60,000

materials)

=e4rer (House rent ) 140,000 80,000

wi=r T fRfes (Furniture 80,000 35,000

and fitting)

Farer @g= (Vehicles) 500,000 350,000

=7 "feqrdt @< (Expenditure for the month of Chaitra):
=7 q, ®H=R @k ¥ 90,000 (Chaitra 1: Purchase furniture Rs. 10,000)
=7 4, FarT @ivg ©.900,000 (Chaitra 5: Purchase vehicles for Rs.100,000)
=7 q0, AR ATET {hT % q0,000(Chaitra 10: Advance rent paid for Rs 10,000)
T 5, AT FX 9000 T FHARY & 5000 HE TR FHANH JIEEHE & 3000 faawo
afedr | (Chaitra 28 Distributed Rs. 35,000 for employee’s remuneration after
deducting income tax Rs. 1,000 and P.F. Rs §,000)
Far e (Required): ssie faazor (Budget Sheet) 5
qHE “U”  (Section “C”)
(Frga Sorc® wewes / Short Answer Questions)
I JETETH! I R | (Attempt All Questions) 3IX5 =RXY¥
20. THiAs HHw faave MeEr fTEuwr g

Information of Samriyan Enterprises is given below
a. g ¥.30,000 AT FHY

Started a business with Rs. 200,000
b.  IWHET F9Y,000 F FAE @RI

Purchase goods of Rs. 15,000 from Ram
c. T F. 45,000 AT A faih

Goods sold on cash Rs 18,000
d. wweE % q0,000 R fafer

Cash paid to Ram Rs. 10,000

(3%)



€. THHT Hel 7E & 30,000 H FHA @G

Again goods purchase from Ram of Rs. 20,000
f. AHAATE %, R%,000 fTRT FFIO FRER AHATE (AT

Paid to Ram Rs. 24,000 in full settlement of his account.
Tar e (Required):
a. ste s (Journal Entries) b. smavas @oiw (Necessary Ledger) ¢. awa aereror (Trail

Balance)

21.

a9 TR 39, fedwer R0%0 I F=qaq T [HFAR fGeuH T .

(3+4+1)

The trail balance of Deepak Store as on 31% December, 2020 is given below:

ferezor (Particulars) % (Rs.) faazor (Particulars) % (Rs.)
wiree ¥ Hiv(Plant 360,000 | wi=r faer amer (Gain 10,000
and machinery) on sale of furniture)
Jaer @=(Salary 71,000 | =g (Creditor) 96,000
expenses)
farsbt ST =T T 755,000 | far (Sales) 1053,000
(Cost of goods sold)
smardr (Debtors) 34,500 | =it ¥ dfrere |ierd 45,000
qg=er@ (Accumulated
depreciation on plant
and machinery)
et Hrsara (Stock 110,000 | 15% == =w ( Bank 56,000
at end) loan )
gsit fwar (Drawing) 15,000 | gsir (Capital) 350,000
10% ==t 120,000 | =T =t (Interest 10,000
(Investment) on investment )
@t (Good will) 48,500
g T g @ (Gas 8,000
and oil expenses)
71z (Cash) 40,000
#7¥a @+ (Repair 34,000
expenses)
s 4 (prepaid 24,000
insurance)
s+ (Total) 1620,000 | s (Total) 1620,000

(R0)



a7 s (Additional information)

a. e fa@eEr 0% ¥ qerEiTE @=er 0%
Salaries are 80% of selling and 20% administrative expenditure.
b. @ U 4MHT ¥ 95000
Insurance expires of Rs. 18,000
c. e ¥ AR Hea = 4%
Depreciation on plant and machinery is 15%
d. wfE qur SuA @w=iEe e @

Gas and oil expenses are selling expenses.

Tar e (Required):

22.

a. &g fa=ror (Income statement based on NFRS)

b.  =&«ra (Balance sheet based on NFRS) (4+4=8)
Faa1(Or),

TIHT @I JOITAT RN & &7 7T AN @l JUTArad! fagaes Sw@ Tad | (3+5=8)

What is government accounting? Explain the features of new government
accounting system.
A. 5% TE fbda qAR T T FREReS fTETw T 4
Following transactions are given to prepare a bank cash book.
HTY q, S HIwaTT & 94,000
Marga 1: Balance at Bank Rs. 75,000
HTE 3, FoTe [FHTAT . 3,34,000 FRTAEHT S TS T AT
Marga 3: Received bank transfer order Rs. 3, 25,000 as a budget release
AT %, HiTAR @REHT AT ¥, 20,000 & =% AT TRAT |
Marga 9: Issued a cheque of Rs. 20,000 for purchasing furniture.
HTE R, AR HATd WHIA T, 40,000 % G&ieb G THT (4 T . 3,000 TG 9T T
Tt fTeT ST wagdie e |
Marga 22: Cleared advance of Subodh Regmi against the submission of
bill of book purchase amount of Rs. 10,000 and cash Rs. 3,000.
T 30, HHATHT HTH ATEATH TRATHE $.55,000 FLH %, 95,000 FTFHT T T, ¥,000
ATAFT gl LT Al THH T AT |
Marga 22, Distributed total salary of Rs. 88,000 after deduction of Provident
fund Rs. 16,000 and income tax of Rs. 4,000.

(3%)



B. emare sm@res ffsue g7 (Following information is given):

e farde (Budget aifties =sie TG TEHET @ YA @@=
Heads) (Annual (Expenditure (Expenditure of
Budget) upto Bhadra) Aswin)
de9 (Salaries) 2,75,000 55,000 24,000
a1 (Allowances) 80,000 10,000 6,000
Frarg @=(Office 60,000 15,000 3,000
expenses) 1,50,000
mzarel (House rent) 75,000 25,000 12,000
wi=rR ¥ fRfeg (Furniture 35,000 | -
and fittings) 2,00,000
At (Machinery) | | - 80,000
s+ (Total) 8,40,000 1,40,000 1,25,000
g9 saar (Additional information):

a)  qrgwAr #9 ¥ 3,44,000 (Revolving fund received Rs. 2, 95,000)

b) =g Hiwara % 3,000 (Cash Balance Rs. 2,000)

C)  wadle g7 ate#l gedr v quooo (Unclear advance Rs. 15,000)

d) Afs@® F@m@IEe B % 3,000 (Loan by nearby office Rs. 3,000)

Far e (Required): @@= wiearr (Statement of expenditure) [4]
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i wE |9¥ o
SEIELEECIT]
fafues
qR0 |4 % R - E R q 9 R R R q 11 ¥0 | R¥
T GEAT, ASHAR I THT qTieAepT
FHH. | TR IFR T qge | 90 A aEe R ST (g T (Fre)

q 8 I ye 19 1 19 %

R BT 999 S Y ¥ 0 _%

3 ATHT 99 3 & Q¥ Yz

SET R 9%, 950 e (3 =van)

JYTEE HIEAT AT TANFUHT THEETHT ekl UHedld TETAR T HBARE] e [Hed TR J9FT Fled T, |

THEH! STHAT HAFAT FXeh AT T THEFAFT THEGHT +3 Fi¥eh T YA (AT T F(brg, X T THIaATE 99 Fitge T
fra=e JEar HTAH THIAE, |

JTATITAT T TEHT FIH 0 FIATd, aTe TehT T9F 30 GIq9Td, TANT qehT T9F U FIq9Td T I=o I&TAT qgehl FIH U Ficqere Fivere
3

I FEAATANT [ATAT, HATHA T fasiar @ T JeA (A7 T0 G |

T T 93 T 9% AT T #f1er aAfafead @rar qedes TaH Y9 F 9 AT USer T ArHr Afdiedd g9 @re] 91 |

AfeFTsT THe a7 O FA THTgATe ATHT I AITHT T TS ATeehad UHEATE i @Iel ¥ el oTes Al Ine, | aTH JITH1 T
HeaT 6T 99 Jedee i |red Al g |
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TEAFH faHE s
T T fava
F4T 99
TTHAT T3 I

I TIETH! IR ETET |

THE & AT TIee 99 = 19

Q. ITHr faepreRt w we gt e 1 (K)

(Give an one introduction of rural development.)

3 ITHIY faerEe g3 S4vgee aete ™ | (K)

(Write down two objectives of rural development.)

3 gE aErsE & UF " aeted | (U)

(Write any one importance of joint family.)
¥, YTHI T U faeadr deted | (U)
(Write any one features of rural tourism.)

W TEHTET S BN SEaE T AE WS B A E AFErd T R
e 1 (A)

(What suggestion will you provide to your friend who is intrested to
run agro based busisnes in mountanious region.)

% FYTCTl ATHITSE FXAAT THT fqpr AT gl w7 uger g9 e | (HA)
(Write down the any one impact of social structure of Nepal in rural
development.)

S YR T AHIAR F Feddl Hearaasd A aeterd | (K)

(Write any two names of ministries at province level.)

S TUTAR! Tl 09 HT GRT FAdfa Haaew Gifas sheedl geod 3 7(K)
(Which articles of constitution of Nepal has mention the
fundamental rights of people .)

R, = ArstareR faeepriad e weterE 7(U)

(Write down long term vision of current plan.)

Q0.  TITH ATSTATA YTHIOT faehrardr a1 G & T 7919 wreter™ » (HA)

(Write down the impact of local level plan on the lifestyle of
citizen.)

Q4. IS Tl F g5 daee aeted | (K)

(Write down any two components of project cycle.)
THE @ BT ITE% ox¥ = ¥O

(®)



qR. TATART JTHIV ST G2 Tekiaew draee seor@ e | (K)

(Mention the natural resources found in the rural areas of Nepal.)
Or

T faepraert (MaRe qeaged! == THad |

(Discuss the determinants of rural development.)

93, UTHIV [FHTHHT AT FHTTRT qIT AMAHE ST IATT T FE ATAIF B,
7 ATEars yhrE aeeE | (HA)

(It is necessity for the upliftment and protection of marginalized and
endangered castes for the rural development. Highlight this
statement. )

Q. ITHIVT THHTHAT YT T Jgeel THT GHRHE Teee Aearserd | (A)
(Point out the positive aspect of promoting rural tourism regarding
rural development.)

. AT (g Tigerorer ATHIT [FehT&AT TR ARTATAR HTATSATCHE STH Jooid
TeE | (HA)

(Critically mention the contribution of Nepal electricity authority in
rural development.)

1§ TTSUIARIH ASSATHS FAATH! @rehT F&qd T1erd | (A)

(Present the frame of organizational structure of rural
Municipality.)

19, FATAERY T {0 [qerael AR g darsTeE | (HA)

(Clearify the interrelationship between the environment and
sustainable development.)

iz,  FEATH ghd AR FIGTHT a1 TATSs A<l 7 e e | (U)

(Right of information enhances the good governance how? Clarify
this statement.)

9%, STHFEEE T AHBTAA rorred wiaw gearsded | (K)

(Differentiate between the long term plan and short term plan.)
AT
T AR yHE fasraaree e T | (K)
(Mention the key characteristics of Fifteenth periodic plan.)
HHE T AT TEATE &x3 = ¥
0. FAYTARI ARHAF [aqgarel JTHIT SET ¥ [FehTEHAT TRE TAEee RTHEAT Th

fees qar 9re@ | (U)
(Prepare an essay on the title ‘The impact of cultural diversity on
rural life and development of Nepal’)

(®)



1.

R

ARETAR I ATATT AR Frdeed! qHrercAsd faol e | (HA)
(Give a critical comment on the function of Commission for

Investigation of Abuse of Authority.)

Aqqr
HiedT, TR AT TS ANTRE ATl UTHIT [GhTqHT T TR
Heated e | (HA)

(Evaluate the contribution of Ministry of Women, Children and
Senior Citizens in rural development.)

THAT J&AEAT TR T84 | (A)

Prepare a model of a proposal of rural development project that is
going to conduct in your community.

(3¥)



Jurisprudence and Legal theories

Jurisprudence Class-11

Specification Grid
Plan for Question and distribution of marks covered
Unit | Content Area Teaching | Knowledge | Comprehens | Application | Higher Total Total | Total
Hours ion ability Questions Marks
covered
VS| S|L|VS|S]|L]|VS VS| S VS| S| L
1 Introduction to
Law and
Jurisprudence 20 1 1|1 1 311 4 8
2 |Types of Law 12
3 Sources of Law 6 1 1 1 1[2]0 3 11
4 Various Schools
of Thought of
Jurisprudence 18 1|1 1 1 2 1 ]1 4 15
5 Rights and Duties 12
Concept of
6 Property 1 1] 1 2 1111 4 15
Possession and
7 Ownership 12
Concept of
8  |Personality 10 1 1 111 3 14
9 Morality and Law 8
Concept of
10 |Justice 10 1 1 21210 4 12
120 6 | 1 1 |3 |3 1 2 |2 11| 8] 3 22 75
Notes:

(34)




1. The alternative short and long questions will be asked from appropriate chapters taking in to account the
nature, depth and coverage of the contents.

2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to
the possible extent.

3. Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the
possible extent. All the questions shall be compulsory. However, two alternative questions will be added to any
two questions among the total questions asked.

4. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However,
one alternative question will be added to any one of the three questions.

5. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in
higher efficiency and in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N.
12 to 19) and long answer questions (Q.N. 20 to 22).

(%)



THAT 999 99 009 (Model Question 2077)
faftremer T F fag (Jurisprudence and Legal theories) [J1t.107]

®&r (Grade): XI
Twa(Time) : 3 Hrs. quitgs (Full Marks): 75
TSI THaFH AR 9TeFH] Htdd I [Gqas | fFAREAT GgUs dgHhd quigsars T9Ss, |

(The candidates are required to give their answers in their own words as far as

practicable. The figures in the margin indicate full marks.)

T % (Group A)

afaq @i STrcHE TeTe® (Very Short Answer Questions)

qa eeEd I G e (Attempt All Questions.) 11x1=11)
1. TOE A5 GRHTNT TR |

10.

11.

Define the term 'sanction'.
farferamres T & B ?

What is jurisprudence?

FAA b HeaqW &7 %1 75 PRUET [Ge |

Why is law important? Give any two reasons.

AT B Ahl & BT 7

What is meant by Substantive Law?
TRl AT AETRI |

Write down the meaning of Custom.

AT FFIH AT &1 | TH FITATS g5 ATRHAT THIOIT TR |

Law is command of sovereign. Justify the statement in two sentences.

HifeTeh &F T FIAAT EhATABT HT F5aaT FIhee ool TR |
Mention any two differences between fundamental rights and legal rights.
Aiferer Traferepr qieToT favere |

Give definition of corporal property.

FIAAT ATdd HT 8T 7 Teqard |

Who is legal person? Write down.

FTA ¥ ATThaTdrerdl Tr= 5 TR IJedd TR |

State the relationship between law and morality in two sentences.

I AT AHl b &l ?

What is meant by public prosecution?

(20)



T § (Group B)
i S Teew (Short Answer Questions)

q JeeEEd IuX e | (Attempt All Questions) (8 x 5 =40)
12. fafaemeasl &8s aren ey |
Explain the scope of Jurisprudence.
13. LT HAA T ARG HTAAA JAAT THRI |
Compare between national law and international law.
14. [qgmad FEA FTAAR GAfAE =T 81 7 IITEX0 Fied ATl T{ar |
How is legislation the primary source of law? Explain with examples.
15. WThide THIET ¥ (TSI TuTcHe TFIRTIAH] HiFes d&leld |
Write the differences between natural school and analytical school of jurisprudence.
#ga1(Or)
AT TR T UAeTEasd EIRrIa=dl fidhes deled |
Write the differences between sociological school and historical school of jurisprudence.
16. HTHl TUTEHN F T [SGHET ATRAT FH FRATETHT TTH YT AT S,
TETHT AT (R ATHATIATS F=ATIH T AUTE ANl e hefed T BT
FAAETAR & HEAT Goolle T fadg 7
Imagine one of your neighbours is often commented of his activities, in that case how you
suggest him regarding the moral and legal duties of citizen so that his wrong activities
would be well corrected.
17. Eutea aafadcs® fag=aee Te=aHl gahd THerd |
Discuss the theories of corporate personality.
#ga1(Or)
A TR T ATHRT ATHThT HIAT S1GTd AT TR |
Explain the legal status of dead person and unborn person.
18. TUTh! FHTSTHT SATHT FTEIE AT FHITEA T AT 9 q9Ts & & HIAT AT
TTE 7 WA TS |
What things do you consider while implementing the civil administration of justice in your
society? Make a list of them.
19. FTA ¥ AfqepaTdrerel wFars faemo THa- |

Analyze the difference between law and morality.

(37)



e T (Group C)
AT I Tees (Long Answer Questions)

I geees! I &I | (Attempt All Questions) (3X8=24)

20.

21.

22.

FATIATET TFISTIFT [TTATEESATY JbTT qT{ad ¥ ATTH( ETeHIR AN
FATH THE |

Highlight the basic characteristics of realistic law school and describe the contribution of

Justice Holmes. 4+4
#ga1(Or),
ATTHF TR THHI & &l ? Hel ATFIH IR FATH Tl | 4+4

What is economic law school? Describe the contribution of Karl Marx.

THETT TPl & &1 7 FEfq Y T TR EXATR Tl aelehgsaly SATedT THerd |

What is property? Explain the modes of acquisition and transfer of property. 2+6
A Abl & & 7 AT T WTHER Fihes delary |
What is Ownership? State the differences between possession and ownership. 2+6

()



I faepra ¥ faeerg

fafredresor arferar
daTfvs qRATEHT
faua : oo faeere X faerg (Cdl.115) FET 9
97 ST qIT ASHAR faaeor
ThTS EPACIES Fd [AgH ELE] TN I AT | STHT ASHAR STEAT
HUeT [ amr| 8% |@rer| am | 8% | @ 8 gt |armr| 8 | @] am o
q | "SR gamro |12 8 - 1 - 1 1 1 - 1 |- 4 3 1 27
R | qHETETERT 16 |10
3 | SERETATERT 15 9
¥ | AfadTae Rrer 10 6 -1 2] 1 - 1| - 1| - 6 2 1
Y |faeTger sy 15 9 24
¢ |fgwEE Mgmee |15 9
© |y ¥ wrEey |7 5 - -1 - -1 -1 1 2 1
c |qafaErerdE fawge (15 | 9 24
SICAECeIRE R L
Q |aTeAdtwd fadrgRr |15 | 10
? NN
STHAT 120 | 75 - 3 2 1 2 2 1 2 1 75

(¥0)




TYA AT, HSHIR T GHY ATfAT

FH | TR THR | T ST | TG T AR | T SEHHR Y (fe)
Q| EE W | Q9 9 19 %
R BIAREE] 5 Y %0 2%
3 ATHI J9 3 5 Y Ys
ST R 9y 9z0 fa¥e (3 "ua)
e .

o HHEIITAT AT TEH T 0 GIAeTd, a1 Teepl T 30 GiqeTd, TN qearl T97 W F(qerd T S=of FeTarel Je= % Jfaqerd g7 & |
TR HAATCHS SFH] TeeeAAaHd +3 87 T G970 (AT T Fieb G |

. TFTEHART HEH! STHHT ASHAT TXeh A9 T THE HAFT THSHT +3 F¥eh T JeF [HHT T Alchelgg AT TdeH Tehlgare Jed Qrd
T FATIEEe AT FTAH TS, |

. DIET 997 T ATHT JHT Tk a1 aal 39 YIHe® Ui qred gihd 3 |

o T THATHAT (AT, HATSHA ¥ ST T8 T g7 (AT T 3 |

o TIET YITEE HLH FY TE AT “HIAT YIA” T ATHT TYAH] U “HIAT IR T |
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T’

fau ;. et e T fawrg —Cdl115—— FET : 9

e (&)

qAHT JIAEER AT Bel IR AR 9Ux9 = 9

9.

0.

11.

foreqr wAIGS AeAe®T *1 8T 7
What is educational psychology?

~

AT g F TZAAT IATEVEE AETery |

>

Write any two examples of human growth.

Td ATATaATH e TLATT (AITATES AeTerd |

Write any two characteristics of early childhood stage.

[a ~ Q c . ~ (SN
ST ATATI bl ATAATARIE=HT ATUA b T ¥ UEER Hghd Joold Tl |

Write any two physical hazards occuring in the late childhood

JRAT X fqehrg for=rel FFaegars U ATl el d |

Write about the relationship between readiness and learning in one sentence.
FPRTHF TTATIRUTATS (Feprg ATqglg T a1 AN T Aiehrg, 7 %1 g5 IUTEER
ETETH |

How can be positive transfer used in learning? Write any two ways.
FTAATAFIHT [TRTSHT ATTHTES RTeATRT FEAT AHFT T 7 T3 SAQTHT Y& el |

What is the role of parental education in children’s learning? Write in two points.

ST G¥ered JeaTaa [agTeaerl & qeaTar AT TanTes oeterd |
Write any two educational applications of classical conditioning theory.
fErepTEAT JSSUTTOTRT FART T & q5 ARFEE deTery |

Write any two techniques of using feedback in learning.

T TEreT F 33 ATTEIF IUTeE TETerd |
Write any two practical techniques of improving retention.
TRTHT el & &l 7

What is counseling?

(¥3)



qqE (@)

qAHT TYeER! Brel I TR 5 x ¥ = ¥O
Write short answers of the following questions.
Q2. HE faFEH F TR EAAE® TR ¥ E g5 AT SIEHTHT qUH THE
| (R+R)
Write any four characteristics of human development and explain any two of
them in brief.
EREIN(Y)
qTa Ffg T (IR B O I WRhEE AETR |
Write any five differences between human growth and development
3. SR ATATERATH FF TR AT [GhTaIcHE FAeEH o IR T BT Tehebl
IAEE T AT T | (R+3)
Make a list of any four developmental task of late childhood and explain any one
with examples.
g4t (or)
=TIl T | (R+3)
Make a list of any four hazards of early childhood and explain any one of them
with examples.
¥, TTX ATATARATRT FRCHE [AFTERT SrATATS SIEHHT AT TR |
Explain in brief the pattern of emotional development in late childhood.
. Rreror o yfemara afawradessr TEaiTar dersy &+ I ATaRTE
SUTIEE TEd Tad |
Present any five practical ways of increasing the parental participation in
teaching learning process.
1% 9RO WHRl & 8l 2 qRadadr 2 faeprg foeen gremgers IeevEied 9% aeld |

q+Y)
What is maturity? Clarify the relationship between maturity and learning with

examples.

(¥3)



qe.

9z.

q-.

YR SATATABIR (qbTSHT FEI HEAN Tae, 7 ATRAT THEE |

How does guidance help in children’s learning? Explain.

farameraraT aTd WER T ATAIETEATS ThIEd T % 9re dNEEE I TR |
Present any five methods of integrating child care and child development in
schools.

AT fAATAAT TART FEReehl T4 (i (qeprgert dRearaea! eeoor THard |
Analyze the pre-school learning approaches used in Nepalese schools.

g (M)

AAHT JAEER! ATAT IR (& eI 3 x5 =¥

20,

<1

KR

.
[

HIAT TUTE F ATATTRTE Fraehl EThAT 8w | T AGITAT T ATeATAEITHT

ATASIABTRT AT faebTaest ANT FEE TedRT I g7 7 F AR AT ATAETNF
JUTIE® Tiead T [qHeed SIehdl ATl THerd | (+%)

Suppose that you are the facilitator of a child development centre. How do you
help the children of early childhood stage for their language development?
Identify any four practical methods and explain them in short.

IR ATIRUTATE Y& IR | SRS (qehlgars A qednl T 7
IRTERETET AT T | (3+YK)

Clarify the concept of motivation. How does motivation help for learning?

Explain with examples.

EREIN(Y)
EIECI I I S E R AT o AL M 1R B ot T I £ B A L 1K
ATASAFEEA HA (TFGH ? IaTeXUEEd T THe | (3+K)
Give introduction to socio-cultural theory of learning. According to this theory,
how does a child learn? Clarify with examples.
TTere! faEera e ATt faewed aaHe sawdr favawer T arerdia e
fafog®a! T T SATEEIRE IUHEE HTITEE |
Analyze the existing situation of early childhood learning in the schools of Nepal

and suggest the practical ways of using child centered approaches.

(¥¥)



Psychology

Specification Chart/Grid

Psychology (Psy. 119) Class 11
S.N. Unit/Area CH |Marks | Remembering | Understanding | Applying Higher No. of Total
/Knowledge ability questions Marks Marks
VS S L VS |S L vsS |S |L |VS |S VS |S |L |VS |S L
1 Introduction to 8 5 1 1 |- - 1 - - - |- - - 1 2 |- 11 10 |- |11
psychology
2 Evolution of 10 |6
psychology and
pioneers of psychology
3 Application of 12 8 1 - - 1 1 - - - 1 |- 1 2 2 |1 |2 10 |8 |20
psychology
4 Research methods 20 12
5 Biology and behavior |14 |9 2 1 - 2 - - - 2 |- |- 1 4 14 |1 |4 20 (8 |32
6 Learning and behavior |18 11
7 Cognition and 20 12
behavior
8 Psychological basis of |18 12 1 - - 1 - 1 1 |- |- (1 |- 4 |- |1 |4 - 8 |12
individual difference
Total 120 |75 5 2 - 4 2 1 1 2 |1 |1 2 11 |8 (3 |11 40 |24 |75
Question and Mark Distribution
SN | Types of questions | Number of questions | Marks per question | Full Marks Time in minutes
1 | Very Short 11 1 11 26
Questions
2 | Short Questions 8 5 40 96
3 | Long Questions 3 8 24 58
4 | Total 22 75 180 minutes (3 hrs)

(¥¥)




Remarks:

Item format in composite should be met as per the specification grid.

Weightage in the combined cell should be met, but £3 marks variation will be allowed within the combined cells. But cannot
be nil.

In case of 5 or 8 marks items, these should ensure that 1 mark will be assigned per element expected as correct response.
However, cognitive behavior intended might not be single behavior within the item. But in total cognitive distribution should
met. £3 marks variation will be allowed within the cognitive levels.

SQ and LQ may be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviors. In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive
behavior should be approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearby 20% knowledge/remembering, 30% understanding,
25% applying and 25% higher ability level.

In case of short question there will be 2 "OR" questions and in case of long question there will be 1 "OR" question

(¥%)



#Afes (Psychology)
T 921 99 098 (Model Question 2077)

e (Grade): XI

Fwg(Time) : 3 Hrs.

quiis#® (Full Marks): 75

TSI qHTFT AR Mo HT Hiferss gax farqueg | fpamran faguesr sgepet quiTeshars
s=rss | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)

e & (Group A)

Ffq diwra STacs Jeew (Very Short Answer Questions)
T qeTeed ST} e (Attempt All Questions.)

9.

q0

qAfRIAETE R TR |

Define Psychology.

ARTHF AR FEET AATAATTR! Toh FARCHE &7 &7
How clinical psychology is an applied area of psychology?
fasTer T @TemRor AT fo=rdT F U faear SETeHE |

State any one differences between science and common sense.

ATARTF BIATT AATETATE  FEATSTA |
Differentiate phenotypes from genotypes.
faprears afewtid e |

Define learning.

TUTSH! ATEATGF SHEaTdTe AT AqIITR  IIEX (G |
Give an example of classical conditioning from your real life.
GagATATS qRATd T |

Define sensation.

Figeried FHA TUAT T, ?

How is 1Q calculated?

F qZ T TEETUTRT AH G |

Name any two projective tests.

qiferer TEHHT AFAT THEEEET AN g 7

What is the use of aptitude tests in educational setting ?

(¥e)
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9. SRUME! ATERHT FEP ATERET AT FIA T Afeheg; 7
How motivation can be used to explain someone’s behavior?
¥ @ (Group B)
i Sarewe e9e® (Short Answer Questions)
T qeeed 9w e | (Attempt All Questions) (8x5=40)
93 HATE A A TR
Describe the scope of psychology.
3. Mg FAEITESTTAT dig TP ANEE qfe=ne e |
Identify the Buddhist Philosophy's contribution to modern psychology.
V¢, HHATF WA T FTAAT GaHAT FAMGATTATE  FAI TART T Aleprag ?
How psychology can be applied in mental health and legal context?
. FUATCHE AT fafaars qaeror saear fafuer smarar Seeeer afed g
ATETE |
INlustrate descriptive research on the basis ofthe survey research method.
€. AHATE A T FRF Jcdg®edl JU T |
Describe the factors affecting attention.
Q9. fragedr virrer afthe aaRAT HET AHE o 73Tl THa ]
What role does the pituitary gland play in the behavior of an individual?
Explain
94t (Or)
BT adt fodeaf ¢ foregfaedt &1 e fagr=e =amet ey |
How do we forget? Explain the mechanism behind the decay theory of
forgetting.
i, Tearaae STERUEE ATUrhardal FA i ATSS ATl T e 7
Explain how "tools of thought" help in the thinking process?
9% “HTEw  HIHEASETHT WIEe O HTH Toe” AT TATgH! ditacd qitd T |
“Emotion adds colour to one’s life” Justify this statement.
FI4T1 (Or)
“frefq Tar ava &, | &red |V ATt A |

“Forgetting is a boon not a curse”? Explain

(¥5)



g T (Group C)
A IacHF geeE (Long Answer Questions)

S JeeEd! I &R | (Attempt All Questions) (3X8=24)

%0,

1.

R

faremerae faandiema #ifag -9% &1 FATEIE THEEE ATAT T & FET
TRUEE ATAYTF Te] ! AR |

What steps are needed to study the psychological effects of COVID-19 among
school students?

AT AT T PhATCHE Aqavahl [qgTedaadhl drerehl FHAAT T [Fear

afeaT e« |

Compare and contrast classical and operant conditioning theories of learning.

HAASAEATHT FAHE TGl ATAYAFAT [ B 7o R JQEEHT ATEAT THEIE |

Why is emotional intelligence essential in human life? Explain any four points.
Fg41 (Or)

“Afhe® T AHT T=T H¥e grarl” AT AATSATS AATARITE ATIRAT A Tcher

et fedmae =arer TR |

"People differ with each other" explain this statement based on the

psychological basis of individual difference in behavior.

(¥2)
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THAT ¥ 99 090 (Model Question 2077)
Fe (Grade): X

Fwa(Time) : 3 Hrs. quiiga (Full Marks): 75

TSI Tha T TR TeaHT Hifersh Iar faavig | fopamrar faguet dgwe quigsars
sMrss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full

marks.)
e % (Group A)

i i S Temes (Very Short Answer Questions)
qa JeeEed 9O e (Attempt All Questions) 99%9=19
1. UTSFHTAHT HISATS] ITARHT MATAALT ey HA A9 AqTHA T=AT 7

Who ruled Kathmandu Valley after the Gopala dynasty in the

ancient
period?
R foesfa aEw Frees @O \fETET £ 9% RO AR |
Give any two reason for considering Lichhavi dynasty as 'Golden

age
3 Hed UASEEd Fal AMEA Th (907
Where did the Mallas rule?
¥. AT TUTCAh] TehlchRUTehl AT bel T 7
Who started the unification campaign in Nepal?
Y. TATSHT 0T AR I EAF B G5 FRUEE Jooi@ TR |
Mention any two causes for emergance of Ranas in Nepal.
% U THHE® Hed Uled H 3 H I = aehepl g ?

L



Which Rana ruler took the title of His Royal Highness [HRH]
Maharaja for the first time?
o, ¥ 00¥% TR ATATRIGTHN B AT AT Fooi@ Terd |
State any two acheivments of people revolution of 2046 B.S.
. @9 009 TR FIT ISHT qeal TATFTHAT & (9T 7
Who was the first prime minister after the revolution of 2007 B.S. ?

Q. S-S 99 TATAPT FF SATAATCAH] HLT ATSHT & ?
Which caste celebrate Ubhauli-Udhauli as a major festival in
Nepal ?
Q0. T T ATEHIAF (ATLATH T 55 HILAEE TR |
Write any two advantages of linguistic and cultural diversity.
9. HAFATT ATRIATHT Tl GoIhl F Teh AT TlE=T TR |
Identify any one role played by Nepal in non-aligned movement.

¥9E € (Group B)
iy IavrcHe weAews (Short Answer Questions)

o JyeEEd 9o e | (Attempt All Questions) SXY=¥0
qR. FUTAR! SAETIHT AT & & g ¢ H g8 GITHl AT T4 | +3

What are the sources of history of Nepal ? Explain any two

sources.
3. (RMeTee O SAFRITHT aHT IChHT == THard |

Discuss in brief about Kirat regime.

EREN]

A ITSUETR] FTCTAT qR=T fa28d |

Briefly introduce Sen states.
9%, TRV SMEh F T3 (G ACTEE T (el Hecas! aeHT Sial rer

T |
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Write any two of the ‘Divya Upadesh’ [Divine Counsel] of King
Prithvi Narayan Shah and explain their importance in brief.
U, ST TfhFITHT FETGY YMEhl TNTRTHH! a0d THed |
Describe the contribution of Bahadur Shah in unification of Nepal.
9%, TUTAR! STTETIHT IVEA FTAHT Tl THE AT TIATEEATE THICETHT
G |
Show the major incidents of Rana regime in timeline.
Q. IO STTEFHT TAF qfeg, TATART ASTANTHT FEAT THATT IGAT 7 BIThAT HeATFH
THET |
What was the impact of the fall of the Ranas in the Nepalese

politics? Evaluate in brief.
95. TS HATS F U =TS Tah! ATHIF AEHAH Heed A THar |
Analyze social and cultural significance of one of the festivals you

celebrate?

9R. Tl FHTSTHT FIAATH T TR |
Discuss the structure of the Nepalese society.
qgar

AT T SIS =] FFehl a0 T8 |

Discuss the relations between Nepal and Japan.

¥Hg T (Group C)
A IAcHS JeHe® (Long Answer Questions)
I JEeEEd 9 fEe | (Attempt All Questions) 3IXG=RY
9. AITART SITETEHT Hed SMEARAR FRTRTHH == TR |

Explain the contribution of Malla regime in the history of Nepal.
ERLCI!

AT THTRIUTHT JATARTI QMMEhT TR A3 Tl |

Y ¥



R

<2

Evaluate the role of Prithvi Narayan Shah in the Unification of
Nepal.

TATAHT 053/ 0%3 ATTHT HUH! ATRIATH] FTATH b g1 ? FHIET THard |
What are the achievements of Revolution of 2062/63 B.S.?
Critically analyze.

T, A ¥ ARTAE AUHT AT SATIRET ATATRT TN T |

Explain the condition of tripartite trade relations between Nepal,

China and India.
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THAT JITIT

FET 9
fowr : <fger sreoaw
w“$”

i B IR A=A WA Q1 X9 =19

Q.  ofgd ATIAATS U ATRMAT ARATNT Tl |

R Hfedr werad fawy qeArIHH £ UF difac Se@ TR |

3. ST YOI qaq WAl & BT 7 U ATl el |

¥, faqid sl ATy FEAIAr (Hetrosexual normativity) &1 T IaTET
fe e |

Y. HERIHE [a9THl T3 IIREW a8y |

% faEwE g dqrcHs AT RUcdl "9 W UHE g% ATIRES
TETary |

o il ATHIIATRHRITH! TATT HeAh AT TIAT IERET (& erd |

c.  URUTHe Afgeh ATHITATRUTeT AR Al & &l ?

R, ARIETEH Yledl AU TAeTHl & ART & faar 7

q0. @EUAl AT ARl & & ?

9. AR ARG FTAIOON 099 (3.9.) ATAR AITAHT Afge AERAT FHH
TP F Th PRI AR |

w“a”

Bl IR A I¥A (& X ¥ = ¥0)
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Hospitality Management

Grade: 11

Specification Grid

Subject code: Hom.

125

Unit

Content

Working
Hrs.

Knowledge

and

Understand

Application

Higher Ability

Total

Question

Number

Total
Question

Marks
Weight

Total
Marks

Very Short

Short

Long

Very Short

Short

Long

Very Short
Short
Long

Very Short

Short
Long

Very Short

Short

Long

Introduction To
Hospitality

12

Introduction to
Travel and
Tourism

12

Growth and
Development Of
Hospitality
Industry

12

Career
opportunities in
Hospitality
Industry

10

Rooms
Operation
Management

Accommodation
Management

10

%0

16

25

16




7 | Hospitality As 10
A Service
Industry

8 | Service 6
Marketing

Total 80 6| 1|1 113 |0 |2 |1 |1 | 9| 5| 2 16| 9| 25

16

50

Remarks:
e [tem format in composite should be met as per the specification grid.

e Weightage in each unit should be met, but +2 marks variation will be allowed within units. But cannot be nil.

o SQand LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviors. In such case these will be added to their respective cognitive behavior. In sum the distribution of
cognitive behavior should be approximately to the required distribution.

e The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%
applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

e In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR"

question.

«1




Candidates are required to give their answers in their own words as far as practical. The
figures in the margin indicate full marks.
Group: A
Write Very short answer to the following Questions. 9x1=9

1. Define hospitality.

2 Mention the basic components of tourism.

3 Write a way which helps to increase the day of living for tourist in Nepal.
4, Write any one importance of chain hotel.

5 List out any two key positions of hotel industry.

6 Classify hotel on the basis of its location.

7. List out any two personal skills of hospitality workforce.

8. Write an importance of market in tourism.

9. Define 'tourism brand'.

Group: B
Write Short answer to the following Questions. 5x5=25
10. State the importance of amenities in tourism.
11. Describe briefly the traits and attributes required for hospitality services.
12.  Briefly examine the functions of front office department.
13.  What is organisation chart? Draw an organisation chart of large hotel.

14. Explain the role of service in hospitality industry.

Group: C
Write Long answer to the following Questions. 2x8=16
15. Define hospitality and explain its nature and characteristics.
16. Examine the factors affected to the growth and development of hospitality
industry in Nepal after 1950 A.D.
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HET 99 faer: AT e frer

quIe © Y ERERHERLE
qAHT JIRT AT Ber I e TX919 =1
Q. WT Hed RTeTer TUIEHT SETHT TR F Uk THRIHF JHG Jod@ Terd |

q0.

Mention any one positive change carried out by Human value

education in your life?
qIA FAA AT THTRR Gl SFaeRd 930 HEad 168, ¢ U ATRHA] delerd |
How does honesty help to develop the good character ? Write in a

sentence.

PRICHE ATAATE TATSHT AEATH] FAI AN] T TTATH T | Hl Th IETE0
I THEE |

How do you apply positive thinking in your life? mention any one
example .

Areel aRErR 9HH & & 7

What is ideal family?

el IRERHT e ANREATS FEAT SHFeR TKwg 7 F T ATl deTerd |
What sorts of behaviour is done to the senior citizen in the ideal
family ?

AT Y& THITIHT ATHINS TEHTE TGS qUIE ATATIHT FH T I AEqerd |
Write a way you have adopted to foster the social harmony in the
community where you live in?

AT FUTIRVTHT HA T ATATH ool TR |

Mention a dimention of personal transformation.

T TR I TFIE G, HAT 7 Fe T FaTHT TeTerd |

Personal transformation is possible. How ? Write in a point.
ATATARIT =T TeAhl & &l ?

What do you mean by environmental justice ?

YTeBfeTeF TaH ATEIh TEIETH! ARETTHT TRl AXATIHT F T3 IETeX (GHer |

%



11.

Give any two examples of indegeneous practices of natural and

public heritage.
TERTHE qRATT Foot@ Tl |
Write name of an yogasan and mention a positive change carried out

by it in your life.

qAFEHT TIAH Fhal I [Gere - Y X5 = ¥O

R

3.

9%.

9.

9%

qe.

qz.

AT A e Heed oo Tl |
Mention the importance of human value education.
4T or
AT el [aevdr Swi@ T el |
Mention the features of universal values.
Tadcd [qehTEa! AT &TATETT T ATEdw! qiHHT Aecdqul grg W [audAT Faradl
THAT TAR AR |
Preapare a model dialogue on the topic of forgiveness and courage
have important role on personality development.
YFRTHF AT [T T o G ANFES Jeoi THER |
Mention any five ways to develop positive thinking.
FaaFd afearHT aieariied Fgafede T e gel gvg | a9 TATedrs it e |
There is more co-existnce and responsibility on joint family. Justify
this statement.
ATHIMAE FHAT HIAH TH I Fodd THald |
Mention the ways to establish social justice.
TG TR ATATSAh FATARIAT A HEEd T4 7 ATRAT dohe T&qd
T |
How personal transformation helps to the social transformation?

present your logics.
feTr fareprer woeet & &1 ¢ faenr faeprr T T etmaeTs g 7

%%



What is mean by sustainable development? Why sustainable
development. is necessary ?

SREINOY

et feodf JeE

(<P)

.

TSI TFIRTH HE

(a) Importance of public heritage

TrIET FRETorAT fammdterr syfHe

(b) Role of students on heritage perservation.

TIHGAT T ATHINSAE BT TIEHT [TaTH SATTHT o T2 THRIHE TATIEE
Joot@ TR |

Mention any five positive effects carried out by volenteers service

and social work in your life?

TAHT TEAH SR [GRr 3IXg5 =RX¥

20,

<1

R

JHRTCHE =kl FahraaT gerar G873 ¥ T4 am¥l Aecdqul g+ | b 7 SRer
TH TET T |
The habit of praise, love and respect are important for positive
thinking. Why? Give your reasons.
ATEeT qIRARH IR=d 65 T [a9des I« T |
Define ideal family and mention its features.

gt Or
artster fafaaarer fafas gees Swr@ we amifees fafaudretas qrafaes war
T AT FHIIH T IJUTAEEH AT TR TR |

Mention the various aspects of social diversity and Prepare a list of
ways for mentaining social unity and harmony within social
diversity.

T ATATERY FE ¥ fEiaReR AT Sfea e g geRTd fae
T TRFRFT THEATS e (ASHl THAT TAR IHE |

A



Prepare the letter with suggestions for the head of local government
for the steps to be taken to perserve the local environment and

sustainable development.
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3. 9 e fquaeed fattieaor arfder T 9991 W ee

BIOLOGY Specification Grid 2077
Grade: 11 Subject: Biology Theory (Bio. 201)
Competency level °
Remembering Understanding Applying Higher Ability 2 §
B o
o o o o =9 5
. 2| g2 g E |2 F 2| g F|E
3 3 P wi = 1%} — p= n — p= v — G}
Z <
Z k= %D %) %) %) Y % v %) 0 12 » %)
Z 5 S1E| |4 |8 |2 |4 |4 || |g |2 |5 |:2
5] S | & b7 Z k- k7 G Z Z G Z Z
) = | S| 8 9 & g8 Ll gLl 9gLelyg gLy gl gl
S| 5§ 3565545 85 3555855 565 88
R I I I B = BB = e =R e = =R B =) I IS
) o =) c g g =) ) ) =) =)
Z Z Z Z pa Z Z Z Z Z Z
1 | Floral Diversity 30 18
2 | Ecology 11 6|26
3 | Vegetation 3 2
4 | Introduction to
. 1 1
Biology
5 | Biomolecules and 15 9
Cell Biology
6 | Introduction to s (2 |2 ]2 [t0]5 |51 |5 (18 [3[3 |2 ot |8 |1 [t |3 [15]1 |8 | 3]0
Microbiology
7 Blot'a and 10 6
Environment
8 anservatlon 4 )
Biology
9 | Faunal Diversity 34 19
- 28
10 Eyolutlonary 15 9
Biology
Total Marks 12 18 21 24 75 |75
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Item format plan
S.N. Type of item Score per Total item | Total score Time
item
1 | Multiple Choice Questions 1 11 11 25 minutes
2 | Short Question Answer 5 8 40 155 minutes
3 | Long Question Answer 8 3 24
Grand Total 22 75 3 hours

Remarks:

e Item format in composite should be met as per the specification grid.

e Designated weightage in the combined cell should be met, but +2 marks variation will be allowed within a unit/content area. But no unit
can be nil.

e Atleast one LAQ, two SAQs and three MCQs must be included from each group/combined cell.

o In the case of SAQ and LAQ), these should ensure that 1 mark will be assigned per element expected as correct response.

e The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and
30% higher ability level. Higher ability includes analyzing, evaluating and creating level.

e SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

® In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution. In the case of SAQ there will be 2 "OR" questions and in the case of LAQ there will be 1 "OR"
question.

o)



Model Question

Attempt all questions.
Group 'A'

Circle the correct one from given alternatives. (11 x1=11)

1.

~

Identify the correct bonding between nitrogen bases in DNA molecule from
given pair.

a.A=C b.A=G c.A=U d A=T

Miller and Urey designed an experiment and try to recreate the environment of
primitive earth to support the theory of biochemical origin of life. Which
composition he has used to produce simple amino acids?

a.  Ammonia, Hydrogen, Nitrogen, and water vapour

b.  Ammonia, Methane, Hydrogen, and water vapour

c.  Ammonia, Oxygen, Carbon dioxide, and water vapour

d.  Ammonia, Nitrogen, Oxygen, and water vapour

Which habitat is needed for xerophytic plants to survive?

a.  habitat with dry condition

b.  warm habitat

c.  habitat like desert

d.  habitat with little water

“Red rust 1s one of the destructive diseases in tea plants which results adverse
effect on tea yield. It is caused by a type of algae.” Which discipline of Biology
is related to explain the above statement?

a. Mycology b. Agronomy  c. Pathology d. Phycology

Which of the following is a practice of in-situ conservation of biodiversity?

a. Botanical garden b. Wildlife sanctuary

c. Zoo d. Seed bank

Which one statement of the following tells the favor of prop root?

a. It has the function of support

b. It has the function of absorption

c. It has the function of fixation

d. It has the function of conduction

Forelimbs (wings) of Dragon fly, Pteranodon, Hawk and Bat are given,



10.

1.

What type of organs are these?
a. Homologous b. Atavism
c. Analogous d. Vestigial

Which is the nearest ancestor of modern man?
a. Homo sapiens neanderthalensis

b. Homo sapiens sapiens

¢. Homo erectus erectus

d. Homo erectus pekinensis

In the given figure, X denotes an organ of the
frog which produces a particular sound. What
does that sound indicate?

a. Danger

b. Hunger

c. Excitement

d. Sex appeal

Trichocysts is an important organelle in
Paramecium. Which activities does it associate for?

a. Defense, offence, and adhesion

b. Defense, reproduction, and nutrition

c. Offence, osmoregulation, and defense

d. Adhesion, osmoregulation, and reproduction

IUCN noticed the one horned rhino restricted in Chitwan national park of Nepal
as high risk group. Its population has declined due to habitat loss, excessive
poaching, low rate of breeding, human encroachment and other descendent
factors. According to this description, in which risk group does one horned rhino
of Nepal notice?

a. Near endangered b. Critically endangered

c. Endangered d. Least endangered

O



Group 'B'

Give short answer to the following questions. (8 x5=40)

1.
2.

Write any five characteristics of Chlorophyceae.
'Gymnosperm is an advanced group than Pteridophyta'. Justify this statement
with any five points.
OR

Compare between simple fruit and multiple fruit in two points. How can fruit
play an important role for continuity of generation in plant life? (2x2+1)
How can ecological factors influence in pond ecosystem? discuss it with suitable
examples with respect to its structural and functional aspects. (2+1+2)
Explain any five ways, how microorganisms play an important role in the field
of medicine?
The excessive and unbalance use of pesticides is one of the prominent
environmental issue since last few years in Nepal. Mention any three
consequences of over use of pesticides in your locality and suggest awareness
campaign that you have follow in two points. (3+2)
What is transverse binary fission? Write its process in Paramecium. (1+2+2)
How can pancreas of a frog play an important role in digestion? Explain it in
reference to physiology of intestinal digestion. (2+3)

OR
Describe with suitable diagram, how copulation and cocoon formation takes
place in earthworm. (2+2+1)
How does Darwinism explain the theory of organic evolution? Clarify your
answer. (5)

Group 'C'

Give long answer to the following questions. 3 x8=24)

9.

Why is sexual reproduction important in lower grade plant like fungi? Explain it

with respect to sexual reproduction of Yeast along with diagram. (2+ 2x3)

93



10.

11.

OR
Explain the diagnostic floral characters of family Solanaceae with floral formula
and floral diagram. Write the botanical name of any two plants of this family
regarding medicinal and edible values. (4+1+1+2)
How excretion is performed in earthworm? Explain in analytical approach of the

structure of septal nephridia of earthworm with labeled diagram. (1+4+3)

Meiosis cell division is important in life of organism since it maintains the
chromosomal stability in offspring which is happen due to reduction and
disjunction of homologous chromosome. It is a multi-step processes and two

successive steps within this process is given.

Fig- 1 Fig-2

a. In reference to disjuction,what changes do you find between fig-1 & fig-2
? Describe it. (4)

b. What had happened in chromosomal stability if changes not occurs from

figure-1 to figure-2 ? (1)
c. Draw the diagram of succesive next one step after figure-2 with two
distinguishing features. ( 1+2)
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[Ed.203]
frerr T faere (Education and Development)
T 921 99 098 (Model Question 2077)

w7 (Grade): XI

Twa(Time) : 3 Hrs. quiigs (Full Marks): 75
TSI AHATH AR 9T HT Hiferh X & q7s | FpRTAT faguer sgswe quigmers
s=rss | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)
e & (Group A)

afq ey SaeHs Tves (Very Short Answer Questions)

Y gyeEs! I TR (Attempt All Questions.) ®WxI=1

9.

feretTerT TR EFIRER! ATH TETRH |

Write the name of any two forms of education.

frepTeaT st frer fbd smavad g EBY 3 FRUEE delerd |

Why is right based education needed? Give two reasons.

favTT e 8 STwaTcepl RTeTT ¥l ded Jeield |

Write the education related goal of sustainable development Goals
(SDGS).

RFERRTT T Gl TR T U ATEelNe I defa | |

Write a practical way of transforming traditional local technology.
TTHTTE =TT FEL JadT T F TIT JRHT AT |

Write one way of promoting social justice.

THITIHT ATHITRT aTRT FTATRIUHT AN RIEATT Tl T qed qfAepT afg=m
AT |

Identify one major role of education for empowering the
marginalized class of the community.

g AT T TF Wed ACTE |

Write any two importance of green economy.

)
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11.

STIfereIdTSTe A=l & &1 ?
What is livelihood?
FTeTT T W B g5 WTSTATh WRATHT ATH e |

Write any two provincial organizations involved in education.

TUTEH] THETTHT TEHT ATTATSIHFT F 33 TFATEAES ATETer |

Write any two possibilities of income generation in your society.
Reretrepr fasprerert @IRT T TEd e USET THE AiHET qfEw TR |
Identify one role of local body in the development of education.

¢ § (Group B)
i ITTcHF Tee® (Short Answer Questions)

qa JeeEed IuX e | (Attempt All Questions) 5 X ¥= ¥O

R

3.

9%.

9.

9%

forerr ¥ A fa=repl smRavereg TS e |

Show the interrelationship between education and development.
Aqqr

faTeATeRT B AT ATATHERHT T Uk Tl TN ACTe |

Write one practical application of each of the five dimensions of

education.

Sravaae fadrg afadig T & T AEENE IUIEE qHTSTe |

Write any five practical ways of promoting lifelong learning.

foamera qEerl RIeAT #reee (a0 qor staqmartt faaawer=r fRrean gfaft=a

F I AT JUTIEE HTSTE |

Write any five ways of ensuring soft sills and life skills based

education in school level.

T A TRERTEEH] F T Hede® oo Terd |

Write five importance of local oral traditions.

QTHTISTF =ATIHT AT RTEATHT THE =Y Fa9TodTesa =T TR T FHT TZATaTh
BICHIHT T TR |

Nl
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1.

Write the main characteristics of social justice based education and

explain any two of them in brief.
Sfareprarster AT RIS Te FA AT qTABEER AT TAE HT TEH]

BICHHT FUH TH |

Make a list of any five roles that education play in livelihood and

explain any two of them.

afeamR, faamerd T qeErata=e Al aud T erd |

Explain the interrelationship between family, school and community.
CRE

TIHT Foarad g iferd T faeergeer wifafafuar qug war Fearit ggs 7

IR AlEd defed |

How do you participate in the education and development related

activities in your community? Write with example.

AITAHT BT AN] HERaehl ATIRIA e (HET §-3) I Thlhd ITSAFBHB ST Ioold
THETH |

Write the structure of the basic level (class 1-3) integrated curriculum
of Nepal.

g T (Group C)
Al S s wees (Long Answer Questions)
o JeeEEd 9uX e | (Attempt All Questions) 3 X 5= ¥
RFERRTT, YAfqarar T e RIena=edl dmRar-ddis gaevdied el
TIeT |

Explain the interrelationship between traditional, progressive and
modern education with examples.

TATAHT FelepT AT RTETTehT Te=raT yafqent awrem T favir faerarsr Rrem vy
AT IR T ATARINF SUTe® feard Tare |

R



R

Analyze the progress of access in education for all in Nepal and also
identify the ways of fulfilling the sustainable development goal
related to education.

g4
TATCTeRT fATETTehT TS FadT ATAINTAE AT AT SIS F(HTAT el =R
JUTIEES] GIEhHT AT THerd | |
How can the educational practices be made social justice based in

Nepal? Explain any four in brief.

T TEHT & RIEATH Goe GUEEewdle (e qardrs T9adRT aaqrsgy &
TR IUTEEH BIEHAHT AT TR |
Explain briefly any four ways of enhancing the effectiveness of the

local level institutions involved in education.

O
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[Geo. 205]

e (Geography)
THAT 999 99 089 (Model Question 2077)
w7 (Grade): XI
Twa(Time) : 3 Hrs quitgs (Full Marks): 75
TSt FEEET AR AT AifdE SO AT | AR e aewer quiTesmars
s=sy | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)
e & (Group A)
afaq @i ST TeTe® (Very Short Answer Questions)
Ja yeeEd I e (Attempt All Questions.) 11x1=11)
Q. IRl BT TR SR |
Define Geography in short.
R IR GHEId % gedel [Audes deterd |
Mention any two integrated subjects to geography.

3. QR AT HAgH! THTEUT deadl deags delad |

Remark any two factors which affect to the earth crust.
¥, qUIEH &R ETATIHIArs TAEar §edel dcdesd! AH odeferd |

Indicate any two factors that influences the climate of your area.
Y. ATAATAH F g5 HIAHES ACTE |

Write any two mode of transportation.

% KB JHREE qEed |

Write the types of settlement.

o, SAEE igaTs FEA E 38 ST AETerd |
Suggest any two measure to minimize the population growth.

5. [HaTeqdE qumelers AaaiadadrsT &1 7% ST JACTE |

3
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11.

Suggest any two measure to reform subsistance farming system in
to the commercial.
HEISTATATE JUIAT AAIATAHR] R Tl AAIEHehl ATH AETald |

Write the names of any two rivers of Koshi drainage system.
qUTE T FReTd FIMATSCATTAET F 5% @IATeH] ATHAGTE |
Write the name of any two food crops that grows in your

geographical region.
TATCTeRT TSR FaaToTerel a7 qUTSHT &FTHT TUHTHT Geadl hIeaTes JTETeld |
Write any two benefits brought by the division of the provincial

states in your area.

T7E § (Group B)
Gty SareR® Tee®E (Short Answer Questions)

S TRFeEd 9 e | (Attempt All Questions) (8x5=40)

AES

3.

9%.

9.

q%.

=TT AT 9P eI |
Mention the rock formation process.
Fq41(Or)
JEATH ATed AASTTHIAT ATARE T qHTAaSeetd THal |

Mention the effects of endogenetic forces on the formation of earth

crust.

TAATIATE FATAIT o qr=ael Jcagehl Ju Terd |

Discribe any five factors influencing the climate .

HTET AT Yisharel ST AT THad |

Explain the soil formation process in brief.

Identify the measures to protect your locality from the major
natural disasters.

qHTIHT AT T=AHT AN F TIT ATSTATRT AT TR TR |

¥
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q-.

0.

Design a model plan to protect from the effects of earthquake.
TATTHT AT TATIBIHB AT ATSTATH] HEcd (AT TR |

Analyze the importance of planning for development of planned
settlement in Nepal.

TATETHT STAGTAFT TANTEE & % g ? Fel Thehl ACAT BIEHAH ACTaTd |
What are the uses of water resource in Nepal? Describe any one of

them in
brief.

FI41(Or)
AYTART FHUIh TEAAR BIEHHT edard |

Write about the nature of Nepali agriculture in brief.
SAGEITR] TAHT (AR ATUHT HEXEE U= T FdATS GHTITE T B
qre 9T IUIEE AETed |

Identify the effects brought by the uneven distribution of the

population. Suggest any five measures to overcome the effects.

g T (Group C)
Al S s wees (Long Answer Questions)
9 yeeEd 9wk &R | (Attempt All Questions) (3 X 8 =24)
TIATATATS BTATATHI] I T T TAATEHT FHIL THEIES, 7T T aTIel
F T ETATATTHTIT TATS TETeTd |
How does the permanent wind effects in the origin and nature of
climate ? Mention the effects of any one wind with reference to
any one climate.
HAAT(OT)
qUTE JeATHl TAHT TTHITHIIZATE HUFT & HAT AALET @] HUH
EREG RN

=4}
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R

What kinds of effects have you seen on the earth surface by the
natural disasters ? Write down.

UTeE(qe T ARl & & 7 TGH Aecd I T{al |

What is natural resources ? Explain its importance.

THITH FETAATA AR TATATE JUTATR]  ATARTHR |

Describe the drainage system of Nepal by the help of map.

a%



FrAtaT HA

Grade 11
Specification Grid
Plan for Question and distribution of marks covered
Unit |Content Area Teaching | Knowledge Comprehension | Application Higher Total Question | Total | Total
Hours efficiency covered Marks
VS L VS L VS L VS L VS L

1 Concept and Nature of 12 2 1 1 3 1 |5 16
Procedural Law

2 Types of Procedures 15

3 Principles of Procedural |16 2 1 3 0 |6 18
Law

4 Law of Evidence 12

5 Court proceeding and 25 2 1 1 3 1 |5 16
Evidence Law

6 Civil and Criminal and 30 1 1 1 1 |a 19
criminal Proceeding

7 Court Management 10 1 1 0 |2 6

Total 120 8 0 3 1 1 1 11 3 22 75

Notes:
6.  The alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and
coverage of the contents.

7. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to the possible extent.

5\



8. Short question will be of five (5) marks and there will be eight (8) questions from each of the chapters to the possible extent. All
the questions shall be compulsory. However, two alternative questions will be added to any two questions among the total

questions asked.
9.  There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative

question will be added to any one of the three questions.
10. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher efficiency and

in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N. 12 to 19) and
long answer questions (Q.N. 20 to 22).

(SX=Y



[Prl. 207]
wrafaty = (Procedural Law)
THAT 999 99 099 (Model Question 2077)
w7 (Grade): XI
Twa(Time) : 3 Hrs. quiigs (Full Marks): 75
TSI AHATH AR T HT Hiferh X &q7s | FpRTAT faguedr sgswa quigrers
s=rsg | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)

g & (Group A)
afaq @i ST TeTe® (Very Short Answer Questions)
qa yeeEd I e (Attempt All Questions.) 11x1=11)
) FATEfT HAA AR F B 7
What is meant by procedural law ?
) I FEEY AT & S ?

What is meant by the General procedure ?
3 fre 9T zat g7 &7 @ FaaET Iwd TR |
State any two conditions for registration of writ pettition.
¥)  YISATIR] [Tl aHT dETRd |
Write about Principle of Res-judicata?
Y)  THI BAA AR % Bl 7
What is meant by Evidence Law ?
v fafad 7 difigs JATEEFR BT TF BRE FEASTE |
Show any one difference between written and oral evidence.
9)  AETAAT TXAT AR & &l ?

What is meant by court fees?
©)  TRTS TSI (e STRT MY
Why warrant is issued?

=N
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9)

HGTHT HATHATT T FTSET & &l 7

What is the benefit of Mediation?

R ATl & vk, ?

What is meant by registration of complaints (Firadpatra).
HITATHT ITAAT I H q5 AHES Feoid e |

Mention any two rules which should be followed in court?

T § (Group B)
it o Teew (Short Answer Questions)

. JyeEH SR fe | (Attempt All Questions) (8 x5=40)

.

AES

9%.

9.

9%

qe.

FrAfafe FTAAH! Heca AT == THer |
Explain the importance of procedural law.
goen(or)

Frfaly FEAA T ARATT FAA (o= ik GearsTard | ?
Show the difference between procedural law and substantive law.

TekicTieh ~ATAH! [agTeiehl AT STl Tl |

Explain the Principle of natural Justic.

ATl THTA TAHT o &l ¢ TG qbIT TRISET TG T FR(6¢ delald | 3+3
What is examination of witness? Write down the things to be
considered while examining witness.

AT JHIITATS fehel FHTOTRT AT fergae? Fiem T |

Why hearsay evidence is no evidence? Examine.

FITAqETATE T8 T FAAAT AT T TIBATH AHAT Foei@ TR |

Explain the procedure of response to the parties(myad ra suchana
jari) from courts.

ST AT AT & A 7 Aedl @ [ fageg ? Ioei@ i |
What is meant by Filing of First Information Report? Why FIR is
filed? Explain.

R0
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9.

AR Tl & &1 7 ATHARTIA Te7 AUl Frifafugssdr anedr auH T |
R+3
What is bail and remand? In what conditions accused can be kept

in custody?
TR ARTATEEHT AT JUTATR TATTH] ATLTSR AT TR |
Explain the status of use of information system in Nepalese courts.

gaar(or)
RIS ATHA Al & & 7 T8 ATl IhdT ATl THeld |
What is a Mayad tameli (time limit )? Explain the procedures of
time limit( Mayad tameli) ?
g T (Group C)
Al ITcRs e (Long Answer Questions)

3 TeTeed! S e | (Attempt All Questions) (3X8=24)

RO,

1.

R

FRATTL FAAR THRES ATAT TR |

Explain various types of Procedural Law.
HSTATATE HUHT haA] BRI T T HAAT AT FHAAHIES & T T 7
Il THEE |
What are the procedures of court verdict( phaishala) execution and
correction(sachyaune) of verdict by court. Mention.
ATl Frafafy qeEr & BT 2 AATAR] ArRWHT FATAT BT THTERIRATRT AT
AT T | Y
What is meant by civil procedure? Evaluate the effctiveness of civil
procedure in the context of Nepal.

gaar(or)
THT GHTT Ahl & B 7 GA& THIOT T AYTE JHIT dreehl (Hdl GeaTSard |
What is physical evidence? Distinguish between direct and indirect
evidence.

GHT |

29
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[Soc. 211]
FHTeETE (Sociology)
T 921 99 098 (Model Question 2077)

®&r (Grade): XI
Fwa(Time) : 3 Hrs. quiigs (Full Marks): 75

TR THTFH AR 9TeqHT WA AR faqg | [hARTAT fagust g quigsars
s=rss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

g % (Group A)

afaq @i ST TeTe® (Very Short Answer Questions)
qa eeEd I e (Attempt All Questions.) (11x1=11)

9.

0.

11.

TSI AT Y Fears fafaeg

Who is known as a father of sociology?

AT T qFABT FH Toh AR TFI Fooid Terd |

Mention any one interrelationship of sociology with geography
Jad WTEAT ARl & Al ?

What is micro structure ?

qUTS F7g THTAH FEA e 7

How do you solve a conflict ?

TAHTT FHTSTHT AN TehTIaTaehl HHATS ha<l ATHATT 1 Fichve, ? Ueb ATRIAT
TETR Y |

How can we accommodate the theme of structural functionalism in
the present context of society? Write in a sentence.

g ¥ Afqerar Frre T Uh ATl qeTe |

Show the relation in between religion and morality in a sentence.
‘ATt e yaw wfaved faewrg giear 8 a% feqer |
‘Socialization is a lifelong learning process’ Give logic.

AT TAT ATHITAES ASNTHAT AT Teh ATRIAT =TT T@ISTETd |
Differentiate between sex and gender in a sentence.

TATTHT ASNTHATEH! Ted TEavadT JUIEH! fa=R faes |

Give your opinion on gender-based discussion in Nepal.

HeAT HeAAA fafudT BT g5 FILET FdETed |

Write any two advantages of case study method.

AT AT i A= GoAAT FbeATHT AT T3 AT G ISR |

3



Prepare two questions to collect information in case study method.

T § (Group B)
Gfre S wew (Short Answer Questions)

I geees! I G | (Attempt All Questions) (8 x 5 =40)
. 1. S (ATl FRSMEATT GREHAT TH-gHT GIaehAT ==l Tl |

3.

9%.

9.

9%

qe.

9z.

qR.

Write in short about the sociological imagination of C.W.Mills.
ATGITF THTSTHT UM o= Hed  aATeT TR |
Explain the importance of sociological thoughts in the context of
modern society.
AT [ThTEeR] TR FEEIHT A HFEh] JNTRTAH == Tl |
Discuss the contribution of Aguste Comte regarding the
developmental stages of society.
goa(Or),
FHTSTTEAR] AT AR TaXH] ARTEAAT. GIEHHT =T THRM |
Briefly explain about the contributions of Marx Weber in the field of
sociology.
THTA T AR AT FIRHT IARIHE A=A ATATH! [T T |
Analize the symbolic interactionist theory on the basis of interaction
proform by individual .
ATt faererer Rl afg=nd Y GHEEHET AT 35 ATl qohid faderd |
Identify the causes of social deviation and give any two suggestions
to solve it.
TR FAHATT HTATHHT TATT [TARE Ioei@ Tl |
Mention the fundamental features of present constitution of Nepal.
goan(Or),
JERATE! HigadATard T FATSTATE] Algdrare dref fq=ar @rserd |
Differentiate between liberal feminism and socialist feminism.
TATAHT FTAT Fiaerd AT qimar THTeA N areaed faar 9= &1 qeel
HATIRHAT e TR |
The formulation process present constituon of nepal was based on
people's participation. Justify with facts.
ferepraraT wfeem FEATiTar gig T ST AFRGHT FATARS THAT TR Tl |
Prepare a model of News on measures of increasing women
participation in development.

Y



g T (Group C)
N IWIcAs e (Long Answer Questions)

I geees! I &I | (Attempt All Questions) (3X8=24)

0.

1.

R

UM THHT & Bl 7 GTAINAE [FSTHHT AT MEES A, Siderd
HANGATT T THBT ¥ @IS |
What is sociology? Show the relation of it's with other branches of
social science anthropology, history and psychology.

#oe1(Or),
ATHATAF A GOl Hecd ==l Terd |
Discuss the importance of democratic ruling system.
THTSTATS ¥ T SATEAT T GrgIcHeE GRaepIvl el HTaIeh! [gT=aeT ATemea | a9
FRIHTRT ATATAATHE [T THRI |
The conflict perspective to undrstand and explains the society is
based on the Marxis theory. Critically analyze this perspective.
feregreep! qiRaToT fee g | FHTSE Y e Havd [aeres Se@ Tad |
Define theory. State the major characteristics of sociological theory.

4



TAIE AT

fafrieezor e
T 9 T AISATTET SFEHHR e
THTg A qry LRI JEeEETdl STFAT AZFAR STHAT
&/ THTS AR |Afq | Brer [ |afq (g ||mr (afq (@ (@ (afq | g S | afd |@er | «|mEn
Il Bl el BIal Bl
q  |HFEEE GR=T |90 q q A O =
R |EEE fqERE | 9 9 q 5 Q
EEL
3 | g uf=Tes AES q q q L %
¥ | earaantae® ¥ q q ] q q 9 3 X |5 %
AR TTES
4 |SEFEEAER T | 9 q 9 S %
AT g TRaT I
EleE R q0 9 9 q s %
SN2 S q q 9 4
5 |HAET FEEIT 9% 9 q 9 R 4 ©
qro g q o 3 E 9 ] 9 R 9 19 ¥O |R¥ |9

%



TITHT THREE aifa ager qUISH

At Afere ged 19 19

Grar IAT ATSH I c %0

ATHT ITX ATIH I 3 ¥

STHAT R 2
g .

. AT FIET I § ATHH &7 T T THATH Tl THg FHIET T 99 TIF @A B |

o T TIT YU ATHHT g7 T ¥ GHATH T UGl Fiataed gq T & FIF @ I AT b 33 JIAAT faebeq fam
Tfereeg |

. THI 999 © ASHH &7 B ¥ 3 U @A B WY FH UF oA faweq faw afrs |

3. S TEAT UGl R0 FTeTaHT qae- T, S=of T&7al qedT 0 UAATHT T TR T A= TeHl ATTLTHATTER T
& A |

0. | TEHAT fATABT Y T ArAAHATAR AT reT, BT T AT G A B | T TEAT T GIABT FIF TEATA
AfTaATIAT E49 | ST AT AT [AATO, HeATSHA T FASTAICHE TEH T TEASA |

R



[Bus. 303]
saaras g (Business Studies)
THAT 999 99 099 (Model Question 2077)
®&r (Grade): XI
Twa(Time) : 3 Hrs quiigs (Full Marks): 75

TSI Tha T TR TeaHT Hifersh Iar faava | fopamrar faguet dged quigsars
s=sa | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full

marks.)

¢ F (Group A)
afq ey SaeHs TvesE (Very Short Answer Questions)
Ja yeeEd I e (Attempt All Questions.) (11x1=11)
1. a1 ¥ 974 & 8
What is service enterprise?
2.  FEngd faunE £ qEadr dides Seid TR |
List any two sources of business ideas.

3. fafgw 919 99HT & @’
What is financial resource?

4, SEANIT FHAH T & THAGS, 7
What do you mean by multinational company?

5.  FUTAHT TAT TUHT FHA 5 UfecAe FFIHT AH oo TR |
State any two public company registered in Nepal.
6. THSREF F 35 FIAET Iooi@ TR |
List out any two duties of partner.
7.  EdgeE At 99 TEle |

Write the meaning of business ethics.

Rg
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8.  UHE FIH F g3 IATEXVEE Fooid TETd |

Mention any two examples of direct tax.
9. & HIRH HA g5 AFTF JcAeT AR |

Write any two essentials of insurance contract.
10. wTE@E T ATHANE A=H FXF GeATSTerd

Show the difference between filling and indexing.

11. FEfea =aeamdd q9& & & ?
What is office management?

g @ (Group B)
i STRTca® Re® (Short Answer Questions)
J TRFeEd 9 e | (Attempt All Questions) 8 x5=40)
12. =aadm™ 94 & 81 7 JHH H1hes a0 T | 1+4

What is business? Describe its functions
Foan(or),
ART AT TR & & 7 ATAAHT AN ATHH] Haed ATl TRl |
What is fire insurance? Explain the importance of insurance for
business. 1+4
13. =9 T @ draesd! AT<Tar e THed |
Briefly explain major resources of business.
14. THAE AT AT THT HRUES T THEM |
Describe the reasons for starting sole trading concern.
goan(or),

AT SACHT TATE I T8 q0 Tl |
Describe factors influencing the choice of the firm.

15. AHERN FATAT TR & &l 7 JAqTe AATAHT ATHaR SFadd HA 3dl TS 7
FART e | 1+4

%



16.

17.

18.

19.

What is partnership firm? How do you register partnership firm in
Nepal ? Discuss.

ST ¥ ¥ dfes FFIAEMH! =T FaarsTed |

Differentiate between public and private company.

AR Aicieh [HGTARTH] AT HS AITeA] SHAHTAETER] HicTeh FABThI TRETT
TR |

Examine the ethical practice of Nepalese business organization on
the basis of ethical principles of business.

T |

You are running a business in Nepal, then describe how do you
register it in PAN?

AT SAFACATITHT FFIEX TUTATH JTTHTR! THT HATSHA THar |

Evaluate the role of computer application in record management?

g T (Group C)
Al IacRs ees (Long Answer Questions)
qa yyeEd IR e | (Attempt All Questions) 3X8=249)
20. TEATCHHAT T ATATHR] ATIRU Aela & | TAT AT GIATH (a1 [aiges

21.

TN THaE | 3+Y
Write the concept of creativity and innovation. Explain the
different techniques of generating new business idea.
EREI(0)))
AT E ATATAIHT (A1~ Tcdgeehl auA TR |
Describe different components of business environments.
TATAHT AT FTPTEHAT Tl TS HAA AT AANTF AT HeaT Fi¥eh TTAT
AT Tedar | ATl Tl |

q00



22.

How co-operative organization plays different role than any other
business ogranization in economic development in the context of of
Nepal? Explain.

SITEH aLITIT Tl & &l 7 ATAAAH] AGH FII9, (ea=ar ¥ faeprasm
AT HEcdqul AT e TEg | faee=E TR |

What is risk management? Insurance plays vital role in risk

management, stability and development of business. Examine. 2+6
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THAT TEATT - 099

forer ¢ srEifas ( Lin 217) FET : N

quiEeh: %% TqHY : 3 Huar
9% (%) Group 'A’

(F) TART TREED! TF AT I e 9 X 19 = 19

Answer the following questions in one sentence.
q.  HATHTR] FEEY TR & Bl 7

What is oral form of language?

R AUATCHE SATHI AT & qIhvs, ?

What do you mean by descriptive grammar?
3. TRl IR ARIH ATRAT AT Al & &l 7

What is the physical adaptation source of language origin?

¥, ddS I & RS 7
What is accent?

Y. %I AT Hehl % Bl ?
What is written language?

& WITT Al & Bl 7
What is a dialect?

o e AR fE |

Define lexicology?

5. qEE ATH] AT & iR, ?
What does lingua franca mean?
. fafy wweer & &1 ?
What is a script?
q0. I AT AT & qhvs 7
What do you mean by language decline?

99. T TR AT & B 7

What is language empowerment?
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1=

3.

9%.

9.

q%.

qe.

9z.

q-.

Q)

0.

qHT JYTH BT IR G © 4 X 5= ¥0

Answer the following questions in short. 5x8 =40

AT ST ¥ TeIEATeh TRl [eTaresl ==l T |

Mention the differences between human language and animal communication.
AT AREAN g7 Wl BT TS WBHd gara ¢ debdied saTedl THerd |

Do you agree that language is changing? Explain with examples
JI4ar

T FRA H 7F WA T TR

Describe any two sources of the origin of language.

ATePT T ST Sleilehl [T s@rserd |

Differentiate between dialect and idiolect.

qTHT ¥ GBI HARA ArqgFarad grgd, a0 Tl |

Describe how language and culture are interrelated.

qTghicer AT T & A¥hvs, Tal THard |

What do you mean by sign language? Elaborate.

What is corpora? Describe.

TATEAT ST ATHT T SMAe%s [a=ehl AraRaeaedel == THed |

State the interrelationship between castes and the language spoken in Nepal.
AR ATHTH AGHATTAT AT FF T AR TReHT ATIRE® Ieodd Tl |
Mention the bases of measuring language endangerment according to
UNESCO.

e
ATUTh ATHAGTRII AT & Sf¥hee, == TTEE |

What do you mean by language documentation? Describe.

qAAHT AP ATHI SR BE & X 3 = ¥
Write long answer to these questions.
qToTeRT 9fe= e aweet fafa deewedt U THER |

Define language. Explain various levels of language.

q0%¥



1.

R

FHTSTHATIGRT Tl & af¥heg ? 9T, ST 3T ATHISE AT Hafer=repl
freraT IEERvElEd T OTE |
What is sociolinguistics? Explain the differences among language, dialect and
language variety with examples.

EREI
TATETAT ST ATIEEH FHHII JAT faRoreme == THed |
Analyze the listing and distribution of the language spoken in Nepal.
ATITTTATAET o =TT YTATRTF &6 Saewmad! qe= faqe |
Explain any four fields of applied linguistics.

qoy
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FH | TR TER | T Gg@ | I TN AEPNR | ST AEHER T ()
q Y e 79T | 9 q 9 %
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3 ATHI J9 3 5 QY Yz
STHEAT R 9y 9z0 fq=e (3 Fuar)
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3 |

=9 FATANT [AeA, HATHA T fasiar @ T Jed (AT T9 3 |
THTE 9,3,3 T ¥ AT AT §% 2T AqRFT SIel TITes TIH THE L& T 9 a7d Tl ¥ ATHI ATqiead Jo7 et oos | fq qevee ded
JIPUHT T& T TRH FAIS,

90



THAT T
TAAEEAT FETIT
e ¢ (TDh)

qwE © } "9
T h: AT BIET ITCHE TH (39x8=39)

Group A: Very Short-answer Questions (11x1=11)
SIS AT (-2 Pl g3 TosRIgseh! 8 Seord e (K (
Name any two disciplinesrelated to population studies.
R0& ¢ | ST SATHR UTCTHT Ttk &1 STTENET SHASEATeh! foraeorm
VU STEHTATR F Teh HIT Aeqerd | (U(

Mention any one cause of unequal distribution of population by geographical

region as per the census 2011 AD.

N Y

TATAR! HTAAA bl T HICH AN [FdTE bl AN FATH FHT Hicl

-~

dlhehl G 'TETR |

>

Write down the age mentioned by nepal government to both girls and boys

for marraige )K (
fore Tameed ETEH(WHO (1 STTER Hegetrs TR THard] (K(
Define death according to WHO.

GIAI T A0 YeEHT TATE TTEE A AATSHT qUTSeH! & T 6k &
T (HA(
Fooding style and nutrition will affects the death rate of human being. Present

a logic of your own.

AATASITE TfT FARM(Brain drain (U SAfRITT T@aTE TUTSC o6 TH Hargwo, Fl
T3 AT IURIEE AT | (A(

q0g



g2

gR.

What role can you play from your side at individual level to prevent brain
drain,? Mention any two ways.

TeRRTITTerEerTHT GIEITE SFeeht ST TATEHT ATTICTE o g3 THhRTTEs [ETe,
| (HA(

Give any two suggestion to your friend to be safe from drug addiction.

SISl gIeaR g1 AT T (Population Doubling Time (70T ™ el St
TR | (K(

State the formula for estimating population-doubling time.

SUAT Q08¢ FATHR U] SHESE heal 2.34% P v Hfd aum

STEEEAT qlseR graT? (U(

What is the doubling time for the population of Nepal as per the population
growth rate of 1.35% according to census 2011 AD?
ST hTefeh! g T farsToraT Sreqe e | (U(

Write down one feature of project work.

SIHSEAT FATHT TRATSHT HRIHT AT F Toh Mhehl Teb JI9T e |
(HA(
Choose a title for a project work and write it's one objectives regarding

population studies.

TE W: BICRWIHS THTE (Lx4=10)
GroupB: Short-answer Questions (8x5=40)

SHHSEAT HAThH! TR fad T8ehT F I ILaes Jooi@ e | (K)

Introduce population studies and mention any three objectives of its .

q0%



Or
STHEEAT ST F qfedel i Ioid e |
Mention any five importance of population studies.
%3, SV T THAT He&TUTRT e TR | (U)
Compare population census and sample survey.
8. “IUh SHWT T forameet safererTs Wielt Sfiaren! qardt 1 wered e fies ™| a9
TS 8 THRE(HA)
Marriage at appropriate age provides adequate time for the preparation of the
future life of a person . Justify this statement.
Or
ATEHT ST TR SEATEehT Ses[E Ui R0 a9 Y fodre T =ei =ame |
quTSehT fo=eaT J9eh! e gsﬁum“atﬁﬁﬁw SUIh daeT heHe® Sl
e |

Despite the various governmental efforts, there is still prevalence of marriage

before 20 years. Give any two main determinants and three appropriate steps

for its prevention.

24, qUTE HATHATS FUATETE TS o FEdT IURGE SAASS ATIT AT B2 T
qi= AT IR TR | (A)
Present any five ways that you are adopting to be safe yourself from

morbidity.

88, UTCHT SHUSEAT SHAEATIAHR! &A1 oW W o Ui Hglewah! HaquT ==

TR | (K)
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¢,

gR.

Briefly mention any five issues in the field of population management in
Nepal.

HeIoHT egerd | (U)

Explain any five roles you can play as an adolescent for the population
management in the society.

R4 T T R0E ¢ T SFRTUMT STTHIL UTCTeh! SHASEAT AT 3,39,48, %33
T R,8%,%%,40% Teoh! ORI 99 Ik SATURAT wrargehia fafer s i Jurerhr
ST IhGat FRTeTRE I(A)

The population of Nepal was 23,151,523 and 26,494,504 respectively in 2001
and 2011. Find out the population growth rate by using exponential growth

method.

IS SfcaTeh! TREeRT TR qUTSel SR 7T+ SRUEE HardHT Seci e |
(A)

Briefly explain the steps that you can adopt for writing the project report.

GHE T ATHISITIHS TAeR (3x¢=RY)
Group C: Long-answer Questions (3x8=24)

AT TRHTe T URTSHIE GUI8 ST SETSENS THEEeh! &l a1 aga T3l ©7|
T YR HF -1 SHTSEERT FITATS UeHd TATTT TR WA Eo Fool
TR T AR F0H e (V)
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R,

RR.

There is annually increasing trends of migration of people from mountain and
hill region to the Urban and Terai region of Nepal. Explain any four roles that
your local governance can play to prevent the such uncontrolled migration.
TUTETHT Ushel UREThT YT S1Gg SHaT SU ANTHGheh] 2TTE Ush THETehT T9HT 3T
74 | SUB ANTHGHH] SLaTeshl ST SFIed HeWTRIATE quTseh! o J&ia
TRl (HA)

Care of senior citizen has been emerged as a social problem of Nepal due to
increasing trend of nuclear family. Present your opinion regarding inter-

generational participation for caring senior citizen.

ToRRTIRISRRTIISRT ATTeT HHTSTHT |THTISTE forehTeret ATHT quTSel T Ha e T
ST T e (A)
Clearify the the role and responsibilities that you can play as an adolescent for
the social development of the society.

Or
TRITRIEET T W@ JaeT TRl qaledl dledars I Aa<dardl @ a4

afeedd T Al W AHEad GHSEE FaeTIH T4 AIA13 I IUTIEe THd

=1 TG Ueh I oTe{erd|
Write one lettters to your sister who has just entred to the adolscent stage by
mentioning the changes appeared, problem should faced and ways to

management it in that age.

9%



HeT : 19 Wﬂw : Dance [Dan. 229]
fafrfteseur aferesr
ThTg RICREES RIET A T FAENE 9 | Io9 q&qr ST G¥ | ST HFAR ST
IR & 98 SE3
At | (A |afq | ST (A |t | e | || At || | | Ftq | |«
e e e e e
9 |AYTerET gt 20 |6 (1 {1 (1 (3 0o |2 |1 |1 |9 |5 |2 (16 |9 |25 |16 |14
ATFAcTH! =g qgr
gfearaT
R AYTAHT YA A |28 16
TAH IR=T TAqT
gieTeT
3 UEATA A ( 22 15
AIAATETH) TAT Hcdh
T
¥ TIRT WIA@UE @RI |10 5
REAL
STEAT 80 |6 |1 |1 (1 (3 (o |2 (1 |1 |9 |5 |2 |16 |9 |25 |16 |50

T

o  TIHI TAT FIT T FIT TEH JYT ¥O FITerd, FANT T [T T&EF J97 30 GIasrd ¢ F== F&aTH J9T 30 Gaod &7 &7 | A7 A HE
T TEEEHT THA +3 &7 T J9T 81T 77 Flrd & |

o TFETTF THEH THIT JFH] FYF TG7 T THE [T THZHT +2 HTF T 97 [FHIT T7 GlFAeg 77 g (HEaE 797 G T
fragaregar Fear #1777 |

o ST FIT T FTHI JITHT UF T d&] IT F9TEE GiT GIeT qlebd & 1

o T FEAT JHIT VAT, HATFT T g FF T GIT [T THIT &
FIeT TOTET 7 9 §% SIeT Tl YT T ATA GYAAT UFel FIar g9 T & |
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Item format plan
S.N. Type of item Score per item | Total item |Total score Time
1 | Multiple Choice Questions 1 11 11 25 minutes
2 | Short Question Answer 5 8 40 155 minutes
3 | Long Question Answer 8 3 24
Grand Total 22 75 3 hours

Remarks:

Item format in composite should be met as per the specification grid.

Designated weightage of the units/content areas should be met.

In the case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.

The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying
and 30% higher ability level. Higher ability includes analyzing, evaluating and creating level.

SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.
In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be

approximately to the required distribution. In the case of SAQ there will be 2 "OR" questions and in the case of LAQ there will be 1
"OR" question.

9%



Model questions

Grade XI Subject: Chemistry (Theory)
Subject Code : Che. 301 Full marks: 75
Time :3 hours

Attempt all questions

Group 'A'
Circle the best alternative to the following questions. (11x1=11)
1. How many atoms are there in two molecules of water?
a. 3
b. 4
C. 5
d 6
2. What is the number of moles of ammonia gas formed when 0.5 mole of nitrogen
gas is reacted with excess of hydrogen gas?
a. 05
b. 1
C. 2
d 3
3. Which of the following bonding is responsible for the solubility of ammonia gas
in water?
a.  Hydrogen bonding
b.  Tonic bonding
c.  Covalent bonding
d.  Van der Waals' force
4.  What happens when Sulphur dioxide (SO.) gas is passed through an acidified

solution of hydrogen sulfide (H2S) gas?
a.  SOs is oxidized to Sulphur

b.  HS is reduced to Sulphur

c. SOz is oxidized to H2SO4

d. SO, is reduced to Sulphur
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Which of the following property of crystalline substance describes the similar
chemical composition?
a.  Isotopism
b.  Isotopism
c.  Allotropism
d.  Isomorphism
SO; gas is formed as an intermediate during the manufacture of Sulphuric acid
by contact process. The formation of Sulphur trioxide from sulfur dioxide and
oxygen is reversible.

280, +0; = 2SO3; AH =-196 k] mol ™!

Which conditions of pressure and temperature favor the reverse reaction?

a.  High pressure and high temperature
b.  High pressure and low temperature
c.  Low pressure and high temperature

d.  Low pressure and low temperature

Which is the correct order of ease of carbon dioxide production by heating the
Group II metal carbonates?

a.  MgCO; >BeCO3>CaCO3>RaCOs

b.  CaCO; >MgCO3; >BeCO3>RaCO;

c.  BeCO3;>MgCO3; >CaCO3>BaCOs

d.  BeCO3; <MgCO3; <CaCO3<RaCO3

Which of the following is related to Batch process?

a.  Requires high- cost equipment

b.  Can -not be controlled easily

C.  Generally available in fully automated plant

d.  Involves sequence of steps followed in specific order
Sodium-glucose pump is an example of

a.  Primary active transport protein

b.  Secondary active transport protein

C.  Primary passive transport protein

9=



d.  Secondary passive transport protein
10. An intermediate compound X is formed during the production of urea through
ammonia/carbon dioxide technology. What is the molecular formula of X?

a.  NH,COONH;

b.  NH2COONH4

¢.  NH4COONH;

d.  NH4COONH4
11.  Which of the following are recycled in the manufacture of sodium Carbonate

by Solvay’s process?

a.  COzand NH4Cl

b.  CO; and NH3

NaCl and CaO
d.  NaCl and NH;

Group 'B'
Give short answer to the following questions. (8 x 5=40)
1. Anelement X has 2 electrons in K shell, 8 electrons in L shell and 5 electrons in
M shell.
1. Identify the element X and write the number of protons and electrons in

it. [3]
ii.  Size of X- - - ion is greater than that of X atom though both contain the
same number of protons. Give reason [1]
. c. Write down the formula of one of the compounds of X where X is in -3
oxidation state. [1]
OR
Know -how about ionization energy (IE) of elements is crucial aspect in the
study of chemical bonding whether they form ionic or covalent bond. The first

ionization energies of period second elements are given below

of elements

onization energy(kJ/mol)
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1. Define first ionization energy. [1]

ii.  Name a factor that affects the value of IE. [1]

iii.  Which of the element is most difficult to ionize? [1]

iv.  Why is there steep rise in IE from carbon to nitrogen? [2]

When electricity is passed through the molten NaCl in the presence of CaCl; in

the ration of 2:3 by weight using graphite anode and iron cathode as electrodes,

sodium metal is deposited at cathode and chlorine gas is liberated at anode in the

electrolytic cell

1. Define electrolytic cell. [1]

ii.  Find the mass of sodium metal deposited at cathode when 0.1 ampere of
current is passed for half an hour and the process has 75% efficiency. [2]

iii.  Why does calcium metal not deposit instead of sodium at the cathode? [1]

iv.  Aqueous solution of sodium chloride cannot be instead of molten sodium
chloride for the same intended product? Give reason. [1]

Derive the relationship between K, and K¢. Give one example of chemical

reaction where K, is greater than K¢ [4+1]

OR

Derive the ideal gas equation PV=nRT where the symbols have their usual

meaning. State two conditions under which behavior of real gas approaches

that of an ideal gas. [3+2]

Concentrated sulphuric acid can be used in the laboratory to produce hydrogen

chloride gas by the reaction with solid sodium chloride.

1. Hydrogen iodide is not produced by the same method as for hydrogen
chloride. Why? [1]

ii.  What is the difference between hydrogen chloride gas and hydrochloric
acid? [2]

iii.  How could you identify the bottle containing HCI using ammonia gas?
[2]

Depending upon the nature of minerals present in the ores, calcination and

roasting are mainly used for the conversion of ores into their respective oxides.

i. What do you mean by roasting and calcination in the metallurgical

process? [2]
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ii.  Name the vessel in which roasting is carried out [1]

iii.  Write the name of two possible impurities that are removed in the

roasting [2]
One of the examples of homologous series is given below.
H
H>OH
X
H>CH>CH,OH
1. Define homologous series. [1]

ii.  Find the mass difference between successive member of above
homologous series and calculate the molecular mass of X [2]

iii.  What is the reason behind the highest boiling point but least solubility of
the fourth member in the given series? [2]

An unsaturated hydrocarbon B upon treatment with Hydrogen bromide produces

compound C. Compound C reacts with sodium metal in the presence of organic

ether produces compound D of molecular formula C¢H 4.

1. Give the chemical equations for the conversion of compound B to
compound C and compound C to compound D [2]

1.  Write down the [IUPAC name of compound C and D [2]

. Give the structural formula of positional isomer of compound C [1]

Urea is a very much demanded chemical fertilizer in agricultural country like

Nepal because of the lack of domestic production. One of the raw materials for

urea production is ammonia which is obtained from Haber’s process.

1. Draw a flow sheet diagram for the manufacture of Ammonia by Haber’s-
Bosch Process [3]

ii.  What is the major challenge in establishing chemical industries in the
countries like Nepal? Mention how such challenge can be strategically

overcome? [2]
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Group 'C'

Give long answer to the following questions (3% 8=24)

9.

10.

In the presence of platinum catalyst ammonia is oxidized to nitric oxide. The
reaction is given below.
4NH3+ 50:P'— 4NO + 6H,0

1. Calculate the mass of Nitric oxide produced by the reaction of 2 mole of
ammonia with 2 moles of oxygen. [2]

ii.  What is the importance of limiting reactant in chemical calculation? [1]
iii.  If 2 moles of ammonia produce 50 grams of water upon reaction with
excess of ammonia. what is the percentage yield of the reaction? [2]

iv.  Calculate the volume of HCI gas required at 20°c and 750mm Hg pressure
which can completely react with 2 mole of ammonia gas to produce
ammonium chloride [3]

Oxygen is the third most abundant element by mass which readily forms oxides

with other elements. Some of the oxides are given below

Na,O |AlLOs; |CO SO2 Fe;Os  |[H2O2

1. Identify the acidic oxide, basic oxide, neutral oxide and mixed oxide
from the above table [4]

ii.  Write two chemical equation to prove that the particular oxide is
amphoteric in nature. [2]

.  Why is CO a harmful gas? [1]

iv.  Write any one industrial applications of oxygen gas. [1]

OR

Sulfuric acid is one of thelargest volumes of industrial chemical produced in the

world. Over the last decades the contact process has been used to produce

sulfuric acid, replacing the traditional (Lead Chamber) process.

1. Write the four steps of chemical equation for the manufacturing of
sulphuric acid by contact process starting form iron sulfide. [4]

ii.  Give any two chemical equations in which sulphuric acid acts as

precipitant and dehydrating agent. [2]
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11.

iii.  Write the chemical equation producing fertilizer using H2SO4 [1]

iv.  Why does H>SO4 always act as an oxidizing agent? [1]

An alkene X undergoes ozonolysis and gives two compounds Y and Z of

molecular formula C3H6O. Y and Z are functional isomers of each other

1. Write the two-steps chemical equation for the conversion of X into Y and
Z.[2]

ii.  Write the structural formula of Y and Z. Why are they called functional
isomers? [3]

iii.  What happens when hydrogen gas in the presence of nickel catalyst is
passed over X? [1]

iv.  What is the application of ozonolysis in the organic reaction mechanism?
[1]

v.  How can you prove chemically the compound X is unsaturated? [1]

End
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Eco. 303]
srqame (Economics)
T 921 99 098 (Model Question 2077)

w7 (Grade): XI
Fwa(Time) : 3 Hrs. quiigs (Full Marks): 75

TR THTFH AR T Hi(Ah AR [GIS;, | [FARHAT fGgUHT Sgehel qUTSHheTg
s=msa | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full
marks.)
e & (Group A)
afaq @i ST TeTe® (Very Short Answer Questions)
I yeeEed 9uX e (Attempt All Questions.) (11x1=11)
1. i a=q 9°® & 2 ?
What is an economic good?
2. Ffe "1 wad : Qq= 150 +10P 7 qfd wa: Qs = 300 — 20P wu a=qfad
e Ol TS erd |
If demand function is: Q4= 150 +10P and supply function is:Qs =
300 — 20P, find the equilibrium price.
3. o= ¥4dqA AR F @l 7

What is the closed economy?
4, AT AT FEA T AR ?

How is the disposable income calculated?
5. i faer® A= & 8

What is the economic development?
6. SIS AITHAFT FA TZ (FATAT ACTR |
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Write any two features of Nepalese Economy.

7. T AW WS TR B qE STAN Seold TR |

Mention any two uses of mineral resources in the agriculture sector.
8.  ZraAEH FY I3 SUANT ETEd |

Write any two applications of internet.
9. AT AR FT T TAN AT |

Write any two uses of Mathematics in Economics.
10.  3x? = fewfage Tungs qT eNTSTed |

Find the differential coefficient of 3x2.
11. 3% famesA(2, 3) T B(5, 7) ate S faar ¥@mes s o1 aRsed |

Find the slope of the straight line passing through the points A(2, 3)

and B(5, 7).

e @ (Group B)
Gttt SareR® Tee® (Short Answer Questions)

o qeeEd IR R | (Attempt All Questions) (8 x 5 =40)
12. wTefeesl Aereaerl GRATHT ATt TR |

Explain the Marshallian definition of economics.

guar (Or),

SH TAHl & BT 7 THHT [G9Ides® ATl THerd |

What is labour? Explain its features. (1+4=5)
13. ATl 7w =arern TEr |

Explain the law of demand.
14. feguasr qfdasred ATaRAT TAF TeTewH a2 [GTard |

Answer the following questions based on the given table.
(2.5+2.5=5)

T (%/%.51) [Price(Rs./Kg.)] |3 10 15

o a5 1 2 3
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15.

[Quantity supplied (Kg.)]

TR A T Y d1E gig AR T QY FaT gl A Il RS erd |
Find the elasticity of supply when the price of a commodity
increases from Rs.5 to Rs. 15.

TEH Hed B, Y M g B, Q0 BaT Uiqebl A= gl A3 erd |

Find the elasticity of supply when price of a commodity decreases
from Rs. 15 to Rs. 10.

[ESUHT ATABTH ATIRHT TAHT TeAEEH AT (Gqard |

Answer the following questions based on the given table:
(2+1.5+1.5=5)

SUHNT TTRUH &R TS | A ITANTAT =g ITAIRTaT
(Unit of commodity | (Total utility) (Marginal utility)
consumed)
1 5
2 9
3 12
4 14
5 15
6 15
7 14
8 12
gl afTfereht 07 THET |

Complete the given table.

TR TRUET TA(ARTEE Fel T AT FUATNTAT Fhe@r T Tere, |

Draw the total and marginal utility curves from the completed table.
F T ATATT ITANTAT e e@Tier=iehl ¥=d @3 ard |

Show the relationship between total and marginal utility curves.
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16.

17.

18.

19.

HETH FIEE Iooid TR |
Mention the functions of money.
AT AT FaebTaeh! FFATAT g T{ehT PRUBEH @TsiiEl Tl |

Evaluate the causes of Nepalese economy lagging behind in the

process of economic development.

SAaTy AREdA AITAR] ALTHT THT FAEe® AT THR |
Explain the effects of climate change in the economy of Nepal.

farg A (-5, 10) a1 9REH 9T g9 HALAHT SRTEX GUS FATS (G967 @Il
FHHI IqT AR |

Find the equation of straight line which passes through the point A
(-5, 10) and makes equal intercepts on both axes.

grgar (Or),
Aty ® TIaT A=THT [GguH geared wed 0 Q = 4L 4+ 312 + 713 © s aera
Jede® qHTEI THe |
If the production function is given by : Q = 4L + 3L? + 7L°, then
solve the following questions):

AT IATed FeAd Il AR |
Find marginal production function.
SH Y TS galehl HHT IATEd Il TSI |
Find the marginal product when unit of labour is 5.
g T (Group C)
Al SacHs Teew (Long Answer Questions)

g yeeEd X e | (Attempt All Questions) (3 X 8 =24)

20.

faguer ATl ATIRHAT TAHT TeAe®H A (el |

Answer the following questions based on the given table:
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A AT | STHET UHG | el ICATIA AT IR | GrHTT Ired
(Land in (Unit of & ST & SIAT & SIHT
Ropanies) Labour) (Total (Average (Marginal

product in product in product in
Kg.) Kg.) Kg.)
15 0 - - -
15 1 10
15 2 30
15 3 60
15 4 80
15 5 90
15 6 90
15 7 80
15 8 60

21.

22.

A ¥ AT ITATE VAT T qTeART T THRI |
Complete the table by computing the average product and marginal

product.

IR AFaal FRUETATS @A d@Ts AT THaE |
Show the three stages of production in a diagram and explain.

.
TR |
LSRN

T AT [GFEE SESHT MG AT AT T4 [hd HioATS 87 | AT

Why measurement of national income is more difficult in

developing countries like Nepal? Explain.

TATETAT HITRT ATGTTRIEHI T FATARIHET TUH TATAEED] @@l THR |
Evaluate the efforts made for the modernization and
commercialization of agriculture in Nepal.

goar (Or),

430



TATCTRT  Afer fasTareT ST ST iR THTET TR |
Examine the role of industrial sector in the economic development

of Nepal.

The End
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Remarks:

Item format in composite should be met as per the specification grid.

Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors.
In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should
be approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%
applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Candidates are required to give their answers in their own words as far as practical.

The figures in the margin indicate full marks.

Group: A

Write Very short answer to the following Questions.  9x1=9

17.
18.
19.
20.
21.
22.
23.
24.

25.

Define tourism.

What is mass tourism?

What do you understand by 'the market' in tourism?

List out the name of National Parks situated in Terai region of Nepal.

Define eco-tourism.

What is adventure tourism?

Write down the name of any two mountain peaks above 8000mt height.
Point out any two major health problems to be faced during mountaineering
expedition.

Mention any two risks of mountaineering.

Group: B

Write Short answer to the following Questions. 5x5=25

26.

27.
28.
29.
30.

Define motivation and describe the distinct characteristics of allocentric and
psychocentric tourist' motivation.

Assess the major challenges of the global tourism development in recent time.
Explain the role of Nepal Tourism Board in tourism product marketing.
Segregate Nepalese tourism market on different bases.

Write the impact of homestay tourism in Nepal.

Group: C

Write Long answer to the following Questions. 2x8=16

31.
32.

Define adventure tourism and explain its features.
Describe the requirements and process of mountaineering expedition in

Nepal.
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Marketing

Specification Grid

Grid for Grade: XI
S.N. |Content/Domain Area knowledge Comprehension Application Higher ability Total Question Marks | weightage
Unit Very | Short | Long | Very | short | Long | Very | Short | Long | Very | Short | Long | Very | Short | Long
short short short Short Short
1 INTRODUCTION OF
MARKETING
2 EVOLUTION OF 2 2 1 1 4 1 1 17 30
MARKETING
CONCEPT
3 MARKETING MIX AND
ITS COMPONENTS
4 COMPONENTS OF 2 1 1 1 3 1 1 16 26
MARKETING
5 MARKETING
FUNCTIONS 1 1 1 3 1 24 40
6 MARKETING 1 1 1
ENVIRONMENT
7 BUYER BEHAVIOUR
AND BUYING
DECISION
8 MARKETING 2 1 1 1 3 3
INFORMATION 1 18 24
SYSTEM
Total 7 1 - 4 3 2 2 2 1 11 8 3 75 120
Notes:

11. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature,

depth and coverage of the contents.
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12.

13.

14.

15.

Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to
the possible extent.

Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the possible
extent. All the questions shall be compulsory. However, two alternative questions will be added to any two
questions among the total questions asked.

There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one
alternative question will be added to any one of the three questions.

The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher
efficiency and in other level question may be asked as per necessity.

Types of Question

Types of Question Numbers of Question | Total marks

Very short answer 11 11x1=11
type
Short answer type 8 8x5=40

Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N.
12 to 19) and long answer questions (Q.N. 20 to 22).

13%



[Mar. 307]
g (Marketing)
T 921 99 098 (Model Question 2077)
®&r (Grade): XI

Fwa(Time) : 3 Hrs. quiigs® (Full Marks): 75

TSI Tha T TR TG HT Hifersh IR faravis | fopamrar faguet dgee quigsars
srsas | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full
marks.)
g & (Group A)
Ffa dfr STaeRs Jee® (Very Short Answer Questions)
qa yeeEd I fae (Attempt All Questions) (11x1=11))

1. oSReTE A=& & &1 ?

What is marketing?
2.  ISIROEAR! JTHRRT HAHT F 5 Hed T TR |

Mention any two importance of marketing towards customer.
3.  ISRUTEAR ATEHE ATIRUIH AT THa |

Explain modern marketing concept.

4., TARATAR! T ATIRUN T (T ATURUT A<l F g5 (qAT @ISR |
List out any two differences between product concept and selling
concept of marketing

5. IoReTE AEHOER A9 TETR |
Write the meaning of marketing mix.

6. HRT =AEAT Wl FEd A g ?

How demand is different from want?
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7. INRATE qRATT TR |
Define Market.
8. AR 9T & e ?

What is meant by distribution?

9. @RE®ArH 9 TETRH |

Write the meaning of buyer.
10. SRS AT IUTEITHT HT q5 (I99dTEE Jooi@ T |

List any two features of Marketing Information system.
11. =Rk ATqTE JurTeile] AR ATl THad |

Explain the concept of internal records.

g @ (Group B)
i STRrca® Re® (Short Answer Questions)
S TRFeEd 9 e | (Attempt All Questions) 8 x5=40)
12, SR AFITHT (0T~ ATIRUMEE AT T |

Explain the different approaches to the study of marketing.
goan(Or)

FARITEAH] VTR [ThTEAH BT aAT BA®RA THed |
Discuss the historical development of marketing.

13. qUigs AThRAT FEATEATHT FETHEST JATEA T AR & T RIS faohl T
AETES, | AUS FAT ITh AR TR AT T3, ? AT T |
If you have produced vegetables from your kitchen garden and you
want to sell them. How do you create demand for vegetables?
Explain.

14. SSRATEAF ATARE ATATAIH] ATEAT TR |
Explain the internal environment of marketing.

15. Furerep F==wH1 ik fashdrehl aSRemEET q¥aliegd HTUe%eh a0 THa |

3z



16.

17.

Describe the marketing functions of wholesaler in the context of
Nepal.

Fra=oT JUIETT USiee ¥ @31 SATIRIhT Heeadmd qHian  THe |

Review the importance of agent and retailer in the distribution
channel.

IYATTHTH! @XE YTHATHT THTT 917 Jcaes & @& g | dulsdl (= @RTHT Ja7d
qT Hew@qul a & ar?

What are various factors affecting consumers buying decisions? In

your opinion which factor is more influential?

18. Examine the need for studying buyer behavior.

GRe FAER AATTH] ATFLIHATH] [dd=A1 THe |

19. SERATEHAT Aifgeh UTETe ecd qUH TRl |

Describe the importance of marketing intelligence system.
goran(Or)

Explain about the process of marketing research.

TSRS ATGATAR] IHATETH ATEAT TR |

g T (Group C)
Al IacRs ees (Long Answer Questions)
o qeeEd IR R | (Attempt All Questions) 3X8=249)
20. TR [T AFIROMESH AT THerd | qieal fa=amar  sfeere

21.

AT TSR] FHA ATIRUT qel TAed g 2

Discuss about the various types of marketing concept. From your
view point which concept is popular in present scenario?

TR fafa= JopRes SaeRvl Afed SA®S THE AT TATCAT FoeepT faererar
Tl Te |

Discuss different types of market with suitable example. Also,

explain the features of Nepalese market.
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22, FSIRTEH ged qdT ATAATAT ATATEaRITH] ATIRIT T fa0dqes gahed
TR | TSR ATEAIFATS (b THH AT Tl G ? STl TR |

Discuss the concept and features of macro or uncontrollable
environment of marketing. Why marketing manager needs to study
of it? Explain.

goar (Or)
TEINTT @REFATH GT IFAEE AT TR | FENd GRE TqeRArs g+
qT GH@ Jcdesebl ==l TR |
Explain the buying process of an organizational buyer. Also explain

the major determinants of organizational buying behavior.

9¥0



el e werR e

FEM 99 TR o wg@a : Get. 309
fatieesor aifee
THTg RIECEEN EIED] A T g EERICARE] I=a TET ST YO F@r | ST HFAR ST
IR g9 H®
afg | grer | e | afg | grer | e | ata | g | | | afdg | e | S gfqa | grer | @

FEdrelier afmg 18 12
ECUIEICal
TS AT 11 6
FETITHT STHAT
qEI®
LRI ED
ghaaT 16 9
FETEITAT &
R qar
AR arEET 20 6 3 1 314 0 2 1 2| 11 8 3 22| 11| 40| 24 13
ATl ST
@I @ THRIT 20 13
TR TS
AN T
et afHer 15 8
RTATHTH
EULTCRICEIR T
AT IS
G RAT 20 14
ST 120 | 6 3 1 314 0 2 1 2] 11 8 3 22| 11| 40| 24 75

9¥9q




(LSS I

o ITHT TAT FH T Mg qEHT 9¢9 ¥O GIqLd, JART qor a9 q@eht qe7 30 gfqerd T I== I&TdTeh Y97 30 Jaerd g+ S | a¥ ASAcHS
ST TEETT FHA +3 & T 99 TR T Al 3 |

o  UFETARI THEH THAT HHHT HXeh AT T THE [HAHT THSHT +3 H¥eh T YA (AT T F(bs, a¥ T THare g g T
farTrrareqert Juar g T 1 |

o  TIAT I9 T ATHT TITHT Uk Wl el 3T UIHes 9 Jied Al T |

o I TAAT A=A [qEA, HeAA(eh T FSIAT @+ T e (A T 3 |

o  TIEI YIFEE HeH o g% AT AAAT G ¥ ATHI YO TIaT HIaT J7 Ao+ g |

¥R



AHAT URAE?

T
i B IW A=A T Q1 %9 =199
Q. Al BT AT FET ANTRE TAR &7 ¢ Tk ATHIET qelerd |

R SHIEArS e ATGHR 9 ATch F g ?

3. favewr @ g1 9E WSS ANRE AU GAF FA €T 7
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JEATel RTEAHT AFeTHdT fb el B 7 oot TR |

TATHT SIS ARTRERR] AT ATLITH TFIHT FaT8 TR Tl |

AT ATHTH WTER FF=AT BT ATAIE HAHTIAH == T8 |

TEATCAT FALATHT I ATATAF THTEEH aCHT AETerd |

SISl ATTATHT g ATHINTF THESH! AT ACTR I |

SIS ARTREHT ATALAFAEEH AT TAR TR |

5. FEAHA AEIAF T FAIHANE TEANTH Hecd oo THerd |

K I s

e T
AT AR ATIA T 3 X § = ]Y¥)
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¥) AT AR AR BIEH Il AETRd |
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e
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Constitutional Law

Specification Grid- Grade 11
Plan for Question and distribution of marks covered

Unit

Content Area

Teaching
Hours

Knowledge

Comprehension

Application

Higher

ability

Total
Question

covered

Total

Question

Total
Marks

VS|S|L

VS | S| L

VS|S|L

VS

S

VS

S

L

Concept &
Definition of
Constitution

1

1

1

1

0

Constitution
Making
Process

Types of
Constitution

Fundamental
Rights, Duties
and Directive
Principles and
Policies of
state

20

10

Power
Distribution
Structure of
State

20

Structure of
Federal
Government

22

14

9%




under
Constitution
of Nepal.

7 Structure of |8 1 1 1 110 (2 6
State
Government
under
Constitution
of Nepal

8 Structure of |8 1 1 1 110 (2 6
Local level
Government
under
constitution of
Nepal

9 Security 8 1 1 1 |10 |2 6
Agencies of
Nepal under
Constitution
of Nepal

10 |Commissions |8 1 1 1 110 |2 6
and
Constitutional
Bodies

120 3 12 ]0 |3 I |1 |3 14 {1 |2 |1 |1 |11 |8 |3 |22 75

Notes:
16. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature,
depth and coverage of the contents.
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17.  Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to
the possible extent.

18.  Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the possible
extent. All the questions shall be compulsory. However, two alternative questions will be added to any two
questions among the total questions asked.

19. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one
alternative question will be added to any one of the three questions.

20. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher

efficiency and in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer
questions (Q.N. 12 to 19) and long answer questions (Q.N. 20 to 22).
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[Col. 317]
aentve & (Constitutional Law)
T 921 99 098 (Model Question 2077)

w7 (Grade): XI
Fwa(Time) : 3 Hrs. quiigs (Full Marks): 75

TSI qHTFH ATRA TeHT Hifeasd gav faquwg | (e fagusr sgeper quiteshars
sMr3g | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)

e & (Group A)

afq ey SaeAs TvesE (Very Short Answer Questions)
I geeeed IuX e (Attempt All Questions.) (11x1=11)

1.

Glagrare A9l & &l

What is Constitutionalism?

I aAERT aATeUHl "iqamars fea afe ysrdarte ditieg ¢ TE AT
AETET |

Why the Constitution is more democratic made by Constitutional
Assembly? Write in a sentence.

TR HTATAH] B T2 €S ACTA |

Write any two merits of Unitary Constitution.

Hifdes g T & TJHAES |

What is Fundamental Rights?

N CARE N CA AR I L LA NC S i

What is Directive Principles of State?

TR FIAT ATAR FEY HAF §F EATH JTAR g HawdT G 7

What are the provision of Remedies in the violation of Fundamental

rights according to the Constitution of Nepal?

0



10.

11.

THTCH QAR AT T TUTcHE MET HARITH % Ueh qaT AeTerd.

Write a difference between Unitary Governance System and Federal
Governance System

AITAT T FURTSEUATRT TRTATTRT FALT(Heh HALATRT T TETE

Write the constitutional provisions about the tenure of President and

Vice President
AT FIAITATAR FATTraiaaears FerafaanT aerse e & TF FR
AETET |
Write a cause to file motion of impeachment to the Chief Justice
according to the Constitution of Nepal.
AT [AhT T a8 & & & 7
What are the conditions for the appointment of Chief Ministers?
ATETIR TEIAN AT AR HEed a1 IS AR
State the importance of Commission for Investigation of Abuse of
Authority.
¢ § (Group B)
i Savcs weew (Short Answer Questions)

qa JevEed 9 e | (Attempt All Questions) 8 x5=40)

12.

13.

14.

15.

Gfaere qer Her faevares an == e

Describe the major features of the Constitution

What are the process to make Constitution? Discuss anyone of them.
FIR T A Aiqgd fa= JA0 T |

Compare between rigid and flexible constitution.

TR HTATT ATAR ATATTILT (IhIT TadEwed! AT =i Tl |
Describe the provisions to appoint the Judge according to the
Constitution of Nepal.

949



16.

17.

Foen(or)
FEAT AACATHT H(AF FFeeh & g7 qog) Joold ITHEE
In which condition the fundamental rights derogates? Illustrate
oTfch THHIHROTRT [gT=T TR IASTHT FH A ITEwehl AHF Il T{ele |
Describe the role of state organ according to the Separation of Power.
What are the functions of Executive body of the State? Write

18. uTerep! FRe GRUH! TT T FHeedehl aeHT AleTed == THar
Briefly discuss the composition and role of Security Council of
Nepal.
Foan(or)
& A YU HEcd JanTd FUHT J&Tard |
List the significance of Self-governance System.
19. wftea Famaeft AANTHT Hecad! aeAT Tl e
Mention the importance of National Inclusive Commission
g T (Group C)
Al IacRs ees (Long Answer Questions)
qa gyeEd IR e | (Attempt All Questions) 3X8=24)
20. ¥9 AWE AUEREE Gia® g6 eEAq A% G9 HiaE gF AFAATFER g |
fTeeiuTeR® de Y& Terd |
"All human rights are not fundamental rights but all fundamental
rights are Human Rights." Present analytical reason.
goar(or)
HifeTeh & T FHrcaepl aTeAT GIal famd el |
Write Short Essay on fundamental Rights and duties.
21. S arEs GOl Al % 81 7 T WA AR THH TS TORAT SaehH

Jooi@ TR |

R



22.

What is federal system of governance? Discuss its composition
briefly under the constitution of Nepal.

FHL TF AT TATTT TIAT AT AR FTUETR! [FATRAT Taeg ? ToTeAD!
Gfaam sER =t afafdedr w0 qar afwar aRAT ST e |

How judicial committee deals the pity offences in the local level?
Discuss the functions and power of Judicial Committee according

the existing Constitution of Nepal
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o  TEI YT U USHH & B T AHATH Ao THTghl AT g7 T & I @ A | TIHT g5 ATaT faebeq god
B B | fahed Y9 THIEH TETAR T faTaa el TEfa g a=qed et I faq 9 3 )
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[Cul.323]
H&ia (Culture)
T 921 99 098 (Model Question 2077)

w7 (Grade): XI
Fwa(Time) : 3 Hrs. quiigs (Full Marks): 75

TSI qHTFH ATRA TeHT Hifeasd gav faquwg | (e fagusr sgeper quiteshars
sMr3g | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)

e & (Group A)

afq ey SaeAs TvesE (Very Short Answer Questions)

I geeeed IuX e (Attempt All Questions.) (11x1=11)
. HA R o HEEFT Ao E T faeer e |
Write any one difference between tangible and intangible culture.
R FYTCT FHTSTH! ALATHT ATMefcasd Al F 78 FAN Fool@ THE |
Mention any two uses of literary source in the study of Nepali
society.
3 FUTAsT gfedl TSTae & Al
Which is the first dynasty of Nepal?
¥, fpidiEsdrs (b Jeiqe o wiags! &t 7
Why are Kirati called nature worshippers ?
Y. AT HoolshT % g% ATHIAF qIRET AT |
Write any two social reforms of Jayasthiti Malla.
% HIGHTS! [&d qole] TATHTHl AIGY T AT ITATHT FeTehT & 7
Who built Taleju Bhawani temple located in Kathmandu?
S HEARIAT FATH FT g5 [A9TAEE TEIT T |

Write any two features of medieval art.
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5. YR MEH %1 T Hecdqu [§e0 JIE Jelerd |
Write any one important divine counsel of Prithivi Narayan Shah.

. 9WTg FEIETAR! T HIAT & & 7
What is the major belief of Vaishnava cult?

Q0. MH Fgehl IUSUTETE TUTGH! ATHHAT SHEATHT GLHl F U THT Joeid@ THEIR |
Mention any one impact of preaching of Gautam Buddha in your
life.

9.  TEATH T TATS gH SR F g5 (AAEE TR |

Write two differences between Islam and Christian religion.

T @ (Group B)
i ITTcHF Tee® (Short Answer Questions)

q TRFeEd 9 e | (Attempt All Questions) 8 x5=40)
R, qITica® FEIRTH] ADATHT & HEAT AlAeedl AN T IIIh AIHwS 7 IITe0
qled deTRH |

What sources are appropriate to use while studying archeological
heritage? Mention with examples.

3. HTSHTST FTAHTHT TN (b FELT TUHT oy ¢ wfereq == T |
How was settlement developed in Kathmandu Valley? Discuss in
brief.

et (Or)
HeeATAT hell HER{TehT [dToe Jeei@ TEre |

Mention the features of art and culture of Malla Period.
1%, fa=sfa wIeET Fe1, AifecT T AT T & Hedl ATTHT 94T 7 Joold TR |

What was the status of art, literature and language in Lichhavi

Period? Explain.
Y. IR TR ARHIAe TFvdel THY THHAT Farel] eIl (aehrEeT AT Ha<r
TAT TATTHT F3T | A IraeT FRUES F&dd T |

4=



Q%

9.

9z.

<.

How had inter municipal cultural relation played the important role
to promote overall development of Medieval civilization of Nepal?

Give any five reasons.

TATAHT TR G, ATl THTSTHT S@TILeHT TREATTEE FJaNTT TIH] AR |
Write down the changes seen in Nepalese society after the
completion of unification campaign of Nepal.

“FUTH SAFATHT AT TITeA] THTST Teh [T THTS {937 | 7 T8 FIAaATS
afte T |

Nepalese society based on Varnashram was distinct. Prove this
statement.

for » SETE |

What role had played by four noble truths of Buddhism to develop

society and culture? Write down.

IRATRIE ITE TS TR ATSTd HATSA qUig & F&T FUAFHES Tars, 7
AETET |
What programs do you launch to generate family entertainment
while observing festivals? Write.

goar (Or)
AT AUST GgehT TRUTHESH! HATh TR |
Evaluate the consequences of Anglo-Nepal war.

g T (Group C)
T IcRs TeAes (Long Answer Questions)
qa gyeEd IR e | (Attempt All Questions) 3X8=24)
0. FACHT FATSHT (Aogfadeid TRIare! T4 (el THar |

Analyze the impact of Lichhchavi period’s civilization in present

society.
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1.

R

FISHTST SUHT FAMEXHT AT AT ITSTEwH] ATHINTAF ATEHITR TR A=A
TR |

Highlight the socio-cultural aspects of Baise and Chaubise states
outside Kathmandu valley.

TATTAT HATe H&T qi=ael Ireqadr aard T{ad |

Explain any five major festivals observed in Nepal.

goar (Or)
fer=adl TS AIEE JIHFT AT ool T4 g TATTHT FRTGTHER 0 TR |
State the biography of Lichhavi king Manadev First and also

explain his contributions.
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Fashion Designing

Fashion Designing (Fad. 325)

Specification Grid- 2077
Time: 2 Hours

Class: 11

Unit Scope - Knowledge Understanding Application | Higher ability Total Item Item wise total
§ (K) (V) (A) (HA) number marks 2
<
g 5
E VS | S L VS S|{L| VS |S|L|VS|S|L|VS]|S VS S L §
10 - 1 - 1 - - - - - - - - 1 1 1 5 - 6
p. | Introductionto |35 1\ L s o] 4] 2 4 10| 8 |22
Textile
3. | Design Studies | 20 - - | - - - - - -1 - |1 - - 1 - 5 8 | 13
Garment 10
4, Studies-I 1 - - - 1 - - - - - - - 1 1 1 5 - 6
Fashion 5
> Ilustration-I ! i i i N ! e ! e 3 i 3 i i 3
Total 80 4 1 2 1 1 2 1 1 1 2 9 5 9 25 16 | 50
Question and Mark Distribution
SN | Types of questions Number of questions Marks per question Full Marks Time in minutes
1 | Very Short Questions 9 1 9 22
(VSQ)
2 | Short Questions (SQ) 5 5 25 60
3 | Long Questions (LQ) 2 8 16 38
Total 16 50 120 minutes (2 hrs)

91




Remarks:

e A balance between the working hour and the weightage must be met for each unit.

e | extra short question for each question no 11 and 13 and 1 extra long question for question number 15 should be
asked.

¢ Questions should be formulated in such a way that analysis, evaluation and creation can be done under high
efficiency.

e Generally, 20 percent questions of knowledge level, 30 percent questions of comprehension level, 25 percent
questions of experiment level and 25 percent questions of higher ability level should be asked.
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Model Question

Subject: Fashion Design Class: 11
Time: 2 hours Total Marks: 50

Attempt all the question
Section-A (9*1=9)
Write any one importance of fashion design ? U
What is textile fiber? K
Write the 2 names of man-made fiber ? K
Ladies mostly choose Chiffen clothes why give one reason? U
Mention any two things that should be considered while dyeing? A
What is “Apparel”? K
What do you understand by the term “flat sketch”? K
What should be done at frist while drawing block figure? A

W N O U kR WD

What is the most considerable things while draping process? HA

Section-B
Attempt all question (5*%5=25)
10. Describe the career prospect of fashion designer in the fashion industry? K
11. Classify the textile fiber with example? A
Or
Write down the printing process with suitable diagram.
12.  Which types of fabric mostly used by youth and women in context of nepal
and why write with example? HA
13. Explain the elements of design in details? HA
Or
"Rhythm and contrast are important principle of design" why? Give your
agruments with examples.

14. Diffrentiate between drafting and drapping in grament making.

%3



Section-C
Attempt all question (2*8=16)
15. Explain the flow-chart of dyeing process in details? U
Or
Classify the textile fiber in details with appropriate examples.

16. Describe color wheel with labelled diagram in brief? A

AR



Livestock, Poultry and Fish Farming

Specification Grid
Grade: 11 Subject code: Lpf. 329
Unit Scope - Knowledge Understanding Application Higher ability Total Item Item wise total
é (K) L) (A) (HA) number marks 4?;0
g 5
;‘SVSSLVSSLVSSLVSSLVSSLVSS L |2
Introduction to
animal
1 | husbandry 4
Mechanism m of
animal
2 | reproduction 5
Animal nutrition
3 | and feed stuffs 5
Common cattle
and buffalo
4 | breeds 5| 6 1|1 1 310 2 1)1 9 |52 |16 | 9| 25| 16
Common breeds
5 | of swine 2
Common breeds
of sheep and
6 | goat 4
Care and
management of
7 | livestock 8
Milk and its
8 | nutritive values 6

%4




Poultry
9 | production 15 13
Introduction to
aquaculture and
10 | fisheries 8 °
11 | Pond fish culture | 18 13
Total 80 6 1|1 1|13 |02 1|1 9(5| 2| 16| 9| 25| 16
Remarks:
e [tem format in composite should be met as per the specification grid.
e  Weightage in each unit should be met, but +2 marks variation will be allowed within units. But cannot be nil.
e SQand LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviors. In such case these will be added to their respective cognitive behavior. In sum the distribution of
cognitive behavior should be approximately to the required distribution.
e The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding,
300% applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating
e In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR"

question.
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Candidates are required to give their answers in their own words as far as practical. The
figures in the margin indicate full marks.
Group: A
Write Very short answer to the following Questions.

Write the scientific name of pig.

list the hormones of reproduction in female animal.
What is the length of estrous cycle in goat?

List the names of any two leguminous fodder crops.
Which fodder is also called as king of fodder?

list the names of indigenous breeds of buffalo.
Where is hurrah pig found in our country?

Which breed of sheep is famous for fine wool production in the world?

A N o

Define aquaculture.

Group: B
Write Short answer to the following Questions. 5x5=25
10. How will you care of manage newly born calf.
11. describe the process of paneer preperation in detail.
12. Discuss about the management of chicks in the broder.
13. Explain the types of fish pond.

14.  writeb about importance and scope of aquaculture in detail.

Group: C
Write Long answer to the following Questions. 2x8=16
15. Classify and describe the different classes of poultry.
16. Describe in detail about different types of fish culture.
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fafrsfreszor afea
fawr #re : Nep: 331

EIEReEll]

HEERe AT

BT T

STHT
EEEl

2

¥ %

afe
iy

4 R

Y (FHE -

(1) 4T ITSHT Aghasd AT (4% FATaw, 9T,
afeereT, faameasrare s weT  (3AT) T, AT,
gitaferrg, ofider ATedehe ¥ TRALTH aR A TH

I TR ST qE YA AT ARl ger $ae ol
FATS | XA FIAT TS Tgbash 97 fag &red |

(@) wiaar

() HiaaT TSRl TgHas A fog  qufaem,
TR T IeTaTe T 99 (3M) T, AAGHR
TG AT A H T T T STEAT g8 FeA
@red ¥ faverr Grel I 9% a¥mSed | J&AT JeH
qTSeHT 9T 4T Fghas A9 fag Ared |

(31 Haea arse ggFas @ fa 9eed, He e,
RAeTIETETe T IO (3T e A, gahd <
FeATETaTE B Teb FIF T TEAT g% YT Al T
favepr Srar IR T ST | TXAT FITHT TSR
qghas @ a5 et |

30

(@) faar @ugsr wa1, Hfadr, Hawa, TFEEgHr T
STATEETE (qemeT  Agiiveh TALTRUTET ATARAT FHel
Tk g9 qred

(@) faamTa qredre FaE, qA9E, I, T,
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IIT, qfearer, arrdredt, ofies @referar HeAaTe A A
T, AT, T reT
ITERQTTHT, (M) Aifecafagrea Guge TeReTlad, T4, T T
Bt HAGHREATE GgITieh TEAHT B Teb G AT Bierel
qTSHN B Aehad T f4g e, 0T, ereRerieRaTe
FA TF T Gl
(%) 4T, (Ha=a T UaTgHaTe agHad HeT 4
sregatfed g IH SIS T B T gendied
STEAT @ AT Y9 AIed ¥ ARATET JIHHN IR A&
TS | TG G GIERT TS ARIENM TT 997
femror 79 1
IS HYT, 3 R q0 %97, Hfaar, fHewa, wwrgsr, I=ma fagrare qrea
e e, T A SR foE F qE SEROTH AT ATe
(@ -T) GERH IR fa s
THIEHT T
T
qeTcHE | haa, 3 3 R 30 T, FaT, (eva ThTgHETe 38 g A B
(@wE -9 T, Tehehl I oIl MG T ISUATHATE Ueh Yo QrefT
EERCH TR IR fo AmSH
THTEHT
T
ARG /T | T, R R q0 HAT a7 THEHEE AR oI Tk Y97 T Hawa T
=T fedre TR, ITAHAE & §&  "edT fdie T T Y9 T
(AHE-3) fem ¥ T g 99 AT T TIART IR AT S |
T
ST 3 R0 % Sy
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THAT JAIT - 0909
fowz #ie : Nep: 331
faee : AU Xfes®) 9T : 3 9y

Rramdier SR e Rastrons T fdaare smawer gt g |
qHe - %

Q. TR TYAEEH Sl Ja% a3 X 4 = 94

(F) TR A TEr WITHT TIEEP I (Gor
U3e FORH MY Fly Fectdrehl Ml aWg 918, STl 91 T oH
SIS T ¢ AT qial T ITHR I AFR! ATHTA I F AT S, |
A AUPT SISHT FaT Fefepl ol AT B ? ATATHN WY GG, G 9
HIEN, TR 9 SR ASH T | AT ARPN Aqfal (@taras do qarTET
TG |

e

(1) I HATIHT ATIHAT TTHT ITART THET (F0dT Joor@ T |

(AT) WIART FATAA kA T [ToRAT T TR |

(@) AP PAN T QRITHT TEAGED! I (GBI -
ST faeaer IrTdT SR STieaeh! o]

=g, (I AFhehl Hied a&T qradl ?

FEE LS
(3F) HTIBT FAATTH Frachl ATH €l I Srachl TUTGbATHT
N Q\\l

(@) TESTHT FIAATHT TANT TUH TR Fodd THEI |

(M o e 9 QiTE yeess S TR
fe Ta=g foar | T SATpTST AT GAdeEATs A A AT ST MR
ESRI FATE @IETeal (a7 | g ged dresad qearere femieeet faar |
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English (Optional)

Grade XI (Eng. 333)
Contents Types, numbers and description of questions
MCQs | Short answer questions Long answer questions

A Historical Survey 2 2

of English Tracing out outline, explanation, -

Language and classification, comparison and short note.

Literature

Introduction to 2 2

Language and Definition, explanation, classification, -

Linguistics comparison and short note.

Prose 3 2 2
Summary, narration, comparison, Justification, critical appreciation, plot,
justification of the title or meaning, character ~sketch, comparison and
evaluation, compare and contrast, contrast, appreciation of the fictional
explanation with reference to the context, elements and discussing particular
character sketch and discussing particular sociall cultural/political issues with
social/cultural/political issues with reference

reference to a text.

toa text. . (Note: one question from the Novel/novella
(Note: Questions should be asked from both | .
fiction and non-fiction texts.) 's a must)

Poetry 2 1 1

993




Explaining with reference to context.
Summarizing, giving the central idea / theme,
critical appreciation, comparison,
justification and discussing particular social/

cultural/political issues with reference to a

Justification, critical appreciation,
comparison and discussing particular
social/cultural/political issues with

reference to a text.

text.
Drama 2 1
Character sketch, describing the elements of
drama from a seen text, writing a
summary/plot, writing a theme, justifying _
title, message of the play, analyzing,
comparing and contrasting, reasoning,
writing critical appreciation and discussing
particular social/ cultural/political issues with
reference to a text.
Total number of 11 8 3
questions
Marks 11x1=11 8x5=40 3x8=24
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English (Optional)

(Eng. 333)
Model Questions for Final Examination
Grade XI F. M.: 75
Time: 3 hours
Group A
Choose and copy the best answer. (11x1=11)
1. In which of the following genre did Victorian literature achieve its greatest
success?
1. the essay il.  epic poetry
iii.  lyric poetry iv.  the novel
2. The ..o age tended to favour the taste and search for truth in art.
1. Classical ii.  Romantic
iii.  Victorian iv.  Elizabethan

3. The smallest unit of words is called ......ccceeeeeeennn...... .

1. phoneme ii.  allophone
iil.  juncture iv.  morpheme
4. The word 'communication' has stress on .................. syllable.
1. first ii.  second
. third iv.  fourth

5. Inthe story 'The Cactus' by O'Henry, Trysdale proposes to a woman. How does
the woman respond?
1. She sends him a cactus with its name in Spanish.
i1.  She sees him at dinner and says yes.
iii.  She ignores his proposal.
iv.  She sees him at dinner and says no.
6.  What is the narrator telling us about in the story 'Boys and Girls'?
1. Her life in jail. ii.  Her life being rich.
iii.  Her life in a fox farm. iv.  Her life being famous.
7. According to Bacon, the chief use of study is .........cccceeunee.
1. ability il.  ornament

iii.  delight iv. adornment
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10.

11.

Shakespeare's 'Sonnet 18 is addressed to ........ccceevuvenienns .

1. his wife ii.  Queen Elizabeth

iii. ayoung woman 1v. ayoung man

What does the 'black ocean' represent in the poem 'Still I Rise'?

1. the speaker ii.  adeserted place

iii. aswamp iv.  Africa

What is not the theme of the play 'The Boor'?

1. money ii.  infidelity

iii.  emancipation of women iv.  industrialization

The character Madana as depicted in the drama 'Chitra' is ............... .
1. the god of springtime ii.  the god of love

iii.  a prince of the house of Kurus iv.  the god of eternal youth

Group B

Write short answers to these questions. (8x5=40)

12.

13.
14.

15.

16.

17.

18.

19.

Write a short note on the development of English language during Elizabethan
period.

Compare between the modern age and postmodern age in English literature.
What characteristics distinguish language from animal communication? Explain
with examples.

What are the different types of phrases in English? Explain each of them with
examples.

Write the three questions the king asked. Also, write the moral you learned from
the story 'Three Questions'. How will you apply the moral in your real life?
Explain.

How did the Silk Road affect towns and cities along trade routes? Give an
example. (The Silk Road in the World History)

“Sometimes too hot the eye of heaven Shines, And often is his gold complexion
dimm'd,” What does the expression ‘the eye of heaven’ refer to? What aspect of
summer’s day is presented here? How does this aspect of summer help to
establish the superiority of the poet’s friend? (Sonnet 18)

Is the title 'The Song of Death' suitable? Justify your answer.
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Group C

Write long answers to these questions. (3x8=24)

20. How does Steninbeck explore the theme of dreams in Of Mice and Men?
Analyze it with reference to the dreams of major characters.

21.  "Her inability to deal with ideas helps her to become a writer" Why do you think
Didion says that? How is writing a way of finding out more about
our surroundings and lives? Also give examples of your own. (Why | Write)

22.  Critically examine the poem 'United Fruit Co.".

The End!
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Applied Mathematics
Specification Grid, 2077
Grade: 11 Subject: Applied Mathematics (Ama. 403)
S | Content Area | Wo Competency level
N rki Knowledge Understanding Application Higher Ability
ng (16%) (24%) (40%) (20%)
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S S S S S S S S S S S
4 Z Z Z 4 4 4 4 4 4 Z
MCQ: 1
! }-)Iztl:ldlin 23 14 |SAQ:1
g LAQ: 1
MCQ: 2
2 | Measurement | 19 1 , 12 SAQ: 2
3 Consumer. 26 21212 0 5/5(1|5|1]8 > 214 0 1{8|2 (2|1 |5|1]8 16
Mathematics
: MCQ: 2
Selecting the SAQ: 2
best .
4 value/alternat 19 121 LAQ:2
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Selection and ]
5 sArrangement 11 7 g/lACg '12
Probability .
6 | and 11 7 g/fg '12
prediction )
Linear MCQ: 2
7 modeling 1 7 SAQ: 1
MCQ: 11
Total Marks 120 12 18 30 15 75 | SAQ:8
LAQ: 3
Question format plan
N Types of Marks Number of questions T(:)tal ) Total
o Questions per . ‘e Higher | MUMDEr Ol ngo ks
question | Knowledge | Understanding | Application Ability questions
L. Multlple Choice 1 5 5 5 ) 1 1
Question
3, | Short Answer 5 2 1 4 1 8 40
Question
3. | Long Answer 8 0 1 1 1 3 24
Question
Grand Total 4 7 7 4 22 75
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Note:

= Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure
based questions should be prepared for blind students.

= Questions should be prepared by giving the context and one question may have more than one sub-questions.
= Application and higher ability questions can be made by relating the other content areas.
= Questions should be made by addressing all the sub-areas of content.

= At least one multiple choice question should be asked from each area (Consumer Mathematics and Selecting the
best value/alternative).
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Secondary Education Examination

Modal Question Paper-2077

Grade: 11
Subject: Applied Mathematics (Ama. 403) Full Marks: 75
Time: 3 hrs.
Attempt all questions.

Group A (1 x11=11)

1. If a shoe manufacturing company wants to know the most demanding number of
shoes, which one of the following measures represents the best central value?

a. Mean C. Mode
b. Median d. Range
2. How much ‘Aana’ consists in one ‘Kathha’?
a. 10.65 b. 65.10
c. 11.65 d.65.11

3. Ifthe area and the breadth of a rectangular table are 24x%y — 18xy?* and 4x — 3y
respectively, then the length of this table is:
a. Oxy c.4x + 3y

b. 4x-3y d. — 6xy

4. 1If the cost of 2 kg tea is the same as the cost of 3.3 kg sugar, the cost of 2.2 kg
sugar is the same as the cost of 0.5 kg coffee. Then how much quantity of tea is
same as 2 kg of coffee in terms of cost?

a. 53kg c.3.5kg
b. 0.75 kg d.7.5kg

5. If aperson has two children and there are 5 colleges in his/her town. In how
many different ways the person can admit his/her children among those 5
colleges in the condition that both children do not want to admit to the same
college?

a. 10 b. 20
c.25 d.5
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6. A shopkeeper wants to buy stationery items costing Rs. 50 per unit and playing
items costing Rs. 200 per unit. But the person has only Rs 20,000. Let x and y be
the number of stationary and playing items respectively. Then, which one of the
following mathematical models best describes the given condition so as to decide
the maximum number of items to buy?

a. 50x+200y =20000 c. 50x+200y < 20000

b. 50x+200y < 20000 d. 50x+200y > 20000
7. A student has a probability of getting a grade A in mathematics on a test is 0.55

and getting a grade B is 0.40. What is the probability that the person will get both
grades?

a. 0.95 b. 0.22
c.0 d.0.73
8. What is the probability of getting 5 Saturdays in a month of 30 days?
a.2/7 b. 1/6
c.5/7 d. 1/7

9. How many numbers of three different digits less than 500 are formed?

a. 400 b. 288
c. 24 d. 27
10. Observe the following table carefully and select the best value in the missing
place.
X 2 5 7 10
Y 10 22 30 ?
a. 44 c.42
b. 50 d. 38

11. Ifx=yin every point (x,y) on a straight line then which of the following
statement is true?
a.  The straight line is X axis.
b.  The straight line is Y-axis
c.  The straight line through the origin and divides the first and third
quadrants into equal two half.
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12.

13.

14.

15.

d.  The straight line through the origin and divides the second and fourth
quadrants into equal two half.
Group B (5 x 8 =40)

If consistency in the scores is the criteria for awarding the students, who should
get the award based on the following performance of two students X and Y in
six tests of 100 full marks? [5]

X 56 72 48 69 64 81
Y 63 74 45 57 82 63
If the height of a square-shaped room is 10 feet and the volume of the same
room is 1440 cube feet. If the room has a door with 7 feet height whereas its
breadth is half of the height. And, the room has two windows covering the area
double than the area of the door. How much should a person pay for plastering
on the 6 faces of the room at the rate of Rs. 20 per square feet? [5]

If the distance between two cities A and B is 40 Km and the distance between
cities B and C is 50 km. How much time does a person need to travel from A
to C through B if the person can maintain the speed of 30Km per hour in the
beginning and then he can increase the speed by 10 Km more for each next 20
Km? [5]

Look at the following tariff rates of electricity consumption shared by the
Nepal Electricity Authority.
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16.

17.

18.

19.

20.

If A has a meter box of 15-ampere capacity and consumes 188 units in a
month and B has a meter box of 30-ampere capacity and consumes 175 units
in a month. Decide which will pay more electricity bill? [5]
To prepare a team for the volleyball game, 6 persons are to be selected
including 2 girls. In how many different ways such groups can be formed from
10 boys and 4 girls?  [5]

Define independent events with an example.

A person wins the game if she/he obtains head on the coin and even number in
the dice while tossing a coin and rolling a dice simultaneously. What is the
probability of winning the game by the person? [2 + 3]

A farmer can buy two types of fertilizers. A bag of fertilizer M costs Rs. 50 and
contains 6 kg of nitrogen and 3 kg of potassium. Another bag of fertilizer N
costs Rs. 40 and contains 3 kg of nitrogen and 3 kg of potassium. If the farmer
wants to add at least 30 kg of nitrogen and at least 18 kg of potassium to each
plot of land, formulate a mathematical model for minimizing the cost of
fertilizing a plot of land. Also, solve it. [5]

In a book, there are 825 pages and each page contains 45 lines.

a.  How many lines should be there on one page if the entire book should be
completed in 700 pages? [2]

b.  Ifapage consists of 50 or more lines, the cost of typing the page is Rs.
25 whereas per page typing cost is Rs 20 when the page consists of less
than 50 lines. In which of the form (printing the books with 825 pages or
700 pages) will the cost be minimum? [3]

Group C (8 x 3 =24)

The following box plots describe the scores of students in the test of
mathematics taken in the evening and in the morning.
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21.

22.

Now, compare and explain the scores of the students based on the following
parameters:
a. Median values [3]

b. Deviation on the scores [3]

C.

Taking math tests in the morning results better grades than taking the test in
the evening. Do the data support this argument? [2]

What do you mean by decision alternatives? Describe with an example.

[2]

Define decision-making under certainty with examples. [2]

Mr. Indramani has Rs. 1,00,000 to invest in one of the three options A, B,
C. The return on his investment depends on whether the economy
experiences as inflation, recession or no change at all. The possible
returns under each economic condition are given below:

Options | State of Nature
Inflation | Recession | No change
A 20000 10000 15000
B 30000 8000 10000
C 25000 12000 18000

Suggest the best option to invest using minimax and maximin criteria. [4]
What is the difference between simple and compound partnerships? [2]
Two persons A and B started a business in partnership. A contributed Rs.
30,000 and B contributed Rs. 75,000. At the end of 6 months, C joined as
a passive partner, who contributed Rs. 45,000. They arranged that A and
B shall share equally 20% of the profits and all three will share the
remaining. The profit for the first 6 months is Rs 21,000 and for the
second six months Rs 27,000. How much A, B and C get from the
business at the end of the year? [6]

The End
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Business Mathematics
Specification Grid, 2077

Grade: 11 and 12 Subject: Business Mathematics (Bmt.
405)
SN | Content Area |Work Competency level Areawise |Number
ing Knowledge Understanding Application Higher Ability Marks of
hour |(16%) (24%) (40%) (20%) Questions
=4 =4 =4 o o o =g
S 3 S 3 < = g < = g <
= %) = %) - = 2] - = 2 =)
2 2 2 2 2 2 2 2 2 2 2
=] =] =] =] =] =] =] =] =] =] =]
£ £ £ = = = = = = =] =
S| 2| 8| 2| &| 2| &| 2| S| 2| &| 2| S| 2| S| 2| S| 2| & 2| ¢ 2
5\ 5|35\ 8|% 5|53 53 5 355 55 53 53z
= = = = = = = = = = = = = = = = = = = = = =
S S S S S S S S S S S
4 4 4 Z Z Z Z Z Z 4 4
MCQ: 3
1 | Algebra 21 13
SAQ: 2
MCQ: 2
2 | Calculus 40 25 SAQ: 3
LAQ: 1
MCQ: 3
3 | Financial Math| 17 11
2 2 2 [10] 5 5 1 5 1 8 2121412011 8 2|2 1 5 1 8 LAQ: 1
Linear
MCQ: 1
4 | Programming 10 6
SAQ: 1
Problem
5 | Statistics 20 12 MCQ: 2
6 |Probabili 12 g |SAQ2
robability LAQ: 1
MCQ: 11
Total Marks 120 12 18 30 15 75 SAQ: 8
LAQ:3
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Question format plan

Marks Number of questions Total
S.N Types of per - number | Total
Questions question | Knowledge | Understanding | Application Higher of Marks
Ability | questions
L Multlple Choice 1 5 5 ) ) 1 11
Question
5, | Short Answer 5 2 1 4 1 8 40
Question
3. | Long Answer 8 0 1 1 1 3 24
Question
Grand Total 4 7 7 4 22 75
Note:

. Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure
based questions should be prepared for blind students.

. Questions should be prepared by giving the context and one question may have more than one sub-questions.

. Application and higher ability questions can be made by relating the other content areas.

. Questions should be made by addressing all the sub-areas of content.

. At least one multiple choice question should be asked from each area (Statistics and Probability).

90



Secondary Education Examination
Model question — 2077
Grade: 11

Subject: Business Mathematics (Bmt. 405) Full marks: 75
Candidates are required to give their answer in their own words as far as practicable.
Attempt ALL Questions.
Group A (1x11=11)
Rewrite the correct option in your answer sheet.
1. If the demand equation for a certain commodity is Q = a - bP, then the expression for

elasticity of demand is

Qa dP QadQq P dQy P dP
V0, L ) Qi ap 170,
2. The roots of bx?>+ax+c=0 are equal, if
a) a-4bc=0 b) b2 -4ac =0 c) b2+ 4ac=0 d) c2-4ab=0
3. If loga 5 =a, then log 2 is equal to
a) k)%S +2 b) Iozias c) 2Iof‘g5 d) Iozé
4. Ify =x", then [x"dxis
a) Xnn” e b) ’r:n: +C o) zn: d) ’;n__ll +C
5. If x+2, 3x and 4x+1 are in A.P., then the value of x is
a)3 b) 2 o1 d)4
X - for x#0
6. If f(x) = 21X and if fis continuous at x = 0, then k =
k for x=0,
a)-1 b)-1/2 c)0 d)1/2
7. If the true discount on a certain sum for 5 months at 12% p.a. is Rs.200, then the present
worth is
a) Rs.2000 b) Rs.3000 ¢) Rs.4000 d) Rs.5000
8. If an equal amount is drawn at the end of each month for 6 months, the interest on drawing

calculated on total drawings for an average period
a) 2.5 months b) 3 months c) 3.5 months d) 4 months
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10.

11.

12.

13.

a)
b)

c)

14.

A manufacturer of radio sets produced 600 units in the third year and 700 units in the
seventh year. Assuming the production uniformly increases by a fixed number every year,
the production in the first year is

a) 500 b) 530 c) 550 d) 570

The sum of the percent frequencies for all classes will always equal

a) one b) the number of classes

¢) the number of items in the study d) 100

You are allowed to choose four whole numbers from 1 to 10 (inclusive, without repeats).
Which of the following is FALSE?

a) The numbers 1, 2,9, 10 have the largest possible standard deviation.

b) The numbers 1, 5, 6, 10 have the largest possible standard deviation.

c) The numbers 4, 5, 6, 7 have the smallest possible standard deviation.

d) The numbers7, 8,9, 10 have the smallest possible standard deviation.

Group B [5 x 8 = 40]
The demand and supply functions of a good are given by
P=-Qd+125,2P =3Qs +30.
Determine the equilibrium price and quantity. Determine also the effect on the market
equilibrium if the government decides to impose a fixed tax of Rs 5 on each good. Who
pays the tax? [5]
Given a basic Keynesian macroeconomic model: Y = C + I, C = 60 + 0.4Y, Iy = Rs. 300.
Determine the equilibrium level of national income (Y.) and the equilibrium level of
consumption (Ce). Amongst 50000 people of Nepal, a person infected by a Corona virus
disease (COVID-19) had recently returned back home from a foreign country. The spread

50000
of the COVID-19 through the person body is given by the equation, P(t) = 7749999 o-0at

, where ]P(t) is the total number of people infected at time t days.

How many people are initially infected from COVID-19?

The country will luck down, if 10% of the people are found to be infected from COVID-19.
On what day will it close?

How many people will become infected eventually from COVID-19? [2+ 1+ 1+ 1]

tuate i PEENEEE 1 the ollowing limits when they exist
Evaluate lim 1(x-a) . Also find the following limits when they exist:

X—a

filx) = x+4 forxzz}
atx =2

2X +2 forx<2

[3+ 2]
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15.

16.

17.

18.

19.

1
The total cost C of output Q is given by C =300Q — 10Q? + 3 Q3. Find the output levels at

which the marginal cost and the average cost attain their respective minima. Also, show
that the marginal cost and average cost function are equal at minimum average cost. [5]
6x2—6x +5

Evaluate: (a) J\/m dx (b) [ x In x dx [2.5 +2.5]

A small industry manufactures necklaces and bracelets. The combined number of necklaces

and bracelets that it can handle per day is not more than 24. Each bracelet takes 1 hour of
labour to make and each necklace takes a half hour. The total number of hours of labour
available does not exceed 16. If the profit on the necklace is Rs.80 and the profit on the
bracelets is 50. How many of each product should be produced daily to maximize profit?
Solve the problem graphically. [5]

Calculate Qi, Ds and P7s for the following data: [5]

x: 5 4 9 |12 15| 6 | 10
y: 8 6 12| 8 6 9 | 10

Following are the marks obtained by two students Ram and Hari in 10 tests of 100 marks

each.
Test 112 (3|4|5|6|7|8]|9]10
Marks of Ram 54 | 60 |56 |68 |72|52|48 |76 |80 |44
Marks of Hari 66 |57 | 51|72 (69|63 |60|54 75|48

Who has more consistent performance? [5]

20.

21.

Group C[8 x 3 = 24]

3x+5
(@)  Define derivative. Use it to find the derivatives of XT . [4]

X

. ﬂ h ——_—
(b) F|nddxw eny—1+|0gx.

(4]

a) A, B and C have respectively Rs.50,000, Rs.35,000 and Rs.25,000 invested in a
business. A and B receive respectively 20% and 10% of the annual profits as salary.
The residue of the profit is divided among them in proportion to their capitals. If at
the end of the year A receives altogether Rs.1,200 more than B, what does each
receive? [4]

b) The difference between the true and banker's discount on a certain bill due three
months hence is Rs.5, the rate of interest being 4% p.a. Find true discount, banker's

discount and amount of the bill. [4]
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22.

a)

b)

A man has 10 friends of whom 6 are relatives. In how many ways can he invite 5
guests such that 2 of them may be relatives? [4]

Ram and Shyam appear for an interview for two different posts. The probabilities of
their selection are 1/4 and 1/5 respectively. Find the probability that both of them

will be selected, only one of them will be selected and none of them will be selected.

(4]

% %k
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Library and Information Science

Specification Chart/Grid
Grade 11 Library and Information Science (Lis.409)

SN Unit/Area WH | Marks | Rememberi | Understanding Applying Higher ability No. of Marks Total
ng questions Marks
VSQ | SQ [VSQ|SQ |LQ|VSQ|SQ |LQ|VSQ|SQ |LQ|VSQ|SQ |LQ|VSQ|SQ|LQ
1 |Library, 14 9 2 1 1 - 1 - 1| - - 1| - 3 3|1 3 15| 8 26
Information and
Society
Types of Libraries 14
Library 14
Management
4 |Collection 14 9 2 1 2 1 - 1 1|1 - 1| - 5 4 |1 5 (20 8 33
Development
5 |Library 20 13
Classification
6 |Library 18 11
Cataloguing and
Subject Heading
Assignment
7 |End Processing and | 9 6 1 - 1 1 - 1 - - - - |1 3 1|1 3 518 16
Book Shelving
8 |[Circulation System 9 5

9%




9 |Preservation and 8 5
Conservation
(PAC)
Total 120 75 5 2 4 2 1 2 2 |1 - 2 |1 11 8 | 3 11 | 40

Question and Mark Distribution

SN Types of questions Number of questions Marks per question Full Marks Time in minutes
1 Very Short Questions (VSQ) 11 1 11 25
2 Short Questions (SQ) 8 5 40 155
3 Long Questions (LQ) 3 8 24
Total 22 75 180 minutes (3 hrs)
Remarks:

e Item format in composite should be met as per the specification grid.

e  Weightage in the combined cell should be met, but +3 marks variation will be allowed within the combined cells. But cannot
be nil.

e In total cognitive distribution should met. £3 marks variation will be allowed within the cognitive levels.

e SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors.

e The distribution of questions based on cognitive domain will be nearly 20% knowledge/remembering, 30% understanding,
25% applying and 25% higher ability level. Higher ability covers analyzing, evaluating and creating levels.

® In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Model Questions
2077
Grade: 11 Full Marks: 75

Library and Information Science (Lis.409) Time: 3 hours

Candidates are required to give their answers in their own words as far as

practicable. The figures at the right margin indicate the full marks.

Attempt ALL the questions.

Group 'A’
Give very short answers to the following questions. (11 x1=11)
Which stage of the development is indicated by the Parchment Library?

How do you define Zero Based Budget?
Write any one difference between national and academic library.
Name any two book selection tools.

Write any two features of Dewey Decimal Classification.

AN o e

Write any two importance for writing an accession number in the clue page of
a book.

How can you determine subject heading of a document?

Where a Call Number is written or typed in the main card?

At which page a book pocket is pasted in a book?

10. How can you control the stealing of library resources? Ide

11.  Write any two major function of a circulation system in an academic library.

Group "B"

Answer the following questions in short. 8 x5=40)
1. Briefly describe the role of library in society.

How do you apply the 4™ law of library science in day to day practice?

2
3. How can you justify the importance of public library in a society?
4 Describe the types of documents with suitable examples.

5

How do you build appropriate call number of a given document?
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6.  Describe the objectives of a library catalogue.

7.  How can you justify the need of subject heading in catalogue?

8. Why stack reading is essential in the library? Explain with suitable examples.

Group "C"

Answer the following long questions. 3x8=249)

1.  Explain any four needs to be taken care while designing a library building.

2. How can you construct the classification number according to Dewy Decimal
Classification?

3.  How do you preserve and conserve the library resources in the context of

Nepal?

Rz



Home Science

Specification Grid- Grade 11
Plan for Question and distribution of marks covered

Unit |Content Area WH Marks | Knowledge/ Understanding | Application | Higher No. of question |Marks of Total
Remembering Ability questions Marks

vs |S |L |(vS |S |L |vS |S |L |[VvS |S |L [(VS |S |L [VS |S |[L

1 |Home Science a 3

Multidisciplinary subject |5

2 |Human nutrition and 6
The Nutrients 10
3 |Basic six food group and 6
Balanced diet 10
4 |Food preservation 5 |3 201 -2 |-]1-11|-11]-1-1-15]1|1]5|5]8 18
Introduction and Stages 5
of Child Development
and Reproductive
1 |System 7
Prenatal and Post Natal 5 19
2 |Care 8
Brest feeding and 3

3 |Complementary Feeding |5

Infant Mortality, 6
Common Ailments of

4 Childhood and Common 10 1
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Accidents Among Child
Inside and Outside

Home

Home Management

Maintenance and Care of
Home

12

Family Income

Applied Physics

20

—

Classification of Fibers

and Their Properties

Weaving

10

Fabric Selection and
Sketching of Human

Figure

10

Terminologies used in
Clothing and Fashion
Designing

18

120

Question and Mark Distribution

SN

Types of questions

Number of questions

Marks per question

Full Marks

Time in minutes

1

Very Short Questions

11

1

11

26

Short Questions

8

5

40

96

Long Questions

8

24

58

Q00




|

Total 22 75 180 minutes (3 hrs)
| | |

Remarks:

Item format in composite should be met as per the specification grid.

Weightage in the combined cell should be met, but + 3 marks variation will be allowed within the combined
cells. But cannot be nil.

In total cognitive distribution should met and marks variation will be allowed within the cognitive level.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more
cognitive behaviors.

The distribution of questions based on cognitive domain will be nearly 20% knowledge/remembering, 30%
understanding, 25% applying and 25% higher ability level. Higher ability covers analyzing, evaluating and
creating.

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR"

question.
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[Hos.411]
®&r (Grade): XI
Twa(Time) : 3 Hrs. quitgs (Full Marks): 75

TSI qHTFH ATRA e HT Hifeas gav faquwg | fhmrr fagusr sgeper quiteshars
s=ss | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)
g % (Group A)

afaq @i ST TeTe® (Very Short Answer Questions)
I yeeeed IuX e (Attempt All Questions.) (11x1=11)
1. e fasmer &7 3% faem detee |

Write any two disciplines of home Science.
2. I HeAars aRETd THE |

Define Balanced Diet.
3. HHF @RI @ T QY 1 % e died e |

Identify any two importances of food and nutrition in human heath.
4, e faSTRT @FHT SATARRI AR T & ASAR dr=rehl [qedl 3E@rsTard |

Differentiates between wage employment and self employment in

thr area home science.
5. @ GRETH FF T TRFERETT JEH qe=r THE |
Identfy any one traditional process ofpreservingthe food.

6. [a9(eA=) T b & @l ?
What is an exclusive breast feeding ?
7.  E EEMOAATE TRATHT TR |
Difine home management.
8.  HIaTdiek TRTHIH T qEael 9d Jeod@ T |
Mention any two sources of family income.
9. 9T [EH FHT I3 [A9TAT TETEH |

R0%



10.

11.

Write any two characteristics of a good home.
TR fohe fa=ureT # 33 IUIEe JEEd |
Write any two control measures of household pests.

"Sepfeer ITRT ATTeT Hed AT WG TANT TehgaH fashed en'" & Tk ae
e e |
"The use of Bio gas is one of the best alternative source of energy"

give one logic.

e g (Group B)

Hir Sacs Tee® (Short Answer Questions)
T JyeEH SR fe | (Attempt All Questions) (8 x5=40)

12.

13.

14.

15.

S SIEATHE AN FeAiAd AR Hed Jooi@ el |

What are the Importance of balance diet for a healthy life ?
#g41(Or)

T GRETH FH g5 fataesed! e T |

Explain any two methods of food preservation.

AiEATAIH THIHT W T TARTE LI T dXHEs ATl THald |
Explain the ways to maintain the health and hygine during the
menstruation period.

IId qF ¥ T JIATT EXARFT FH AR Hecd e THard ¥ F qaobl sATed
T |

Identify any four importanc of prenatal and postnatal care and
explain any two of them.

e SHALATIHHT H 1= AfHeHT T I TRl |

Write any five roles and responsibility of a home maker.

goan(Or)

AT AR REATHT JUTIEE (b SAATST UG8, 7=TedT e |

Explain why we adopt electric safety measures in the home.
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16.

17.

18.

19.

2 N

IYNRT faretTel quige! 3 o @9 UaTSH TH FE AN M6, ¢ 9 FJETaT
fereaiTep T TR |
How consumer education helps to minimize your daily

unnecessary expenditure ?Elaborate in five points.

XH EXALR ¥ AXAHTS & HaLATITR! Hecaqul 97 &1 | ITIh STy afeq
afte T |

"Cleaning and caring home is the major aspect of home
management" Justify it with suitable examples.

TS 1T FHTOTRT qIqamT Fael THEws, ¢

How do you do pre preparation of clothing construction ?

faare ¥ gaTe A=A AAEs & % g 7

What are the differences between weaving and knitting?

e T (Group C)
Al ITcRs e (Long Answer Questions)

o JeeEEd 9uX e | (Attempt All Questions) B3X8=29)

20.

21.

22.

PHEH YT Tl FHIC BTHT SATRHT HEdl A% I g, /ATl Tl |
How do you apply your knowledge of food and nutrition for

maintaining good health? What will be the consequences of micro-

nutrient deficiency in our health? Explain.

TATHT 19T ACIERHT T HTEIT T FRUEE ool Teld | ITh aHET
THTITHT AR 9T [aard |
Explain the existing situation and causes of infant mortality in

Nepal. Give suggestion to reduce this problem.

TR IAMTeReh] AT F&AT ThReb! X0 ITH 8e, 7 T8 (AHIOHT ST=iTehl Haed
T THe |

0%



What type of clothing should be best for school uniform? Explain
the importance of pattern in clothing construction?

#oa1(Or),
qreTrer AT AT 78, 31T ¥ aTEe Fadl i THEws, ! [aeqalesor
T |
How do you select colour, design and texture of clothing material ?
Elaborate it.
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Environment Science (Ens.413)

Grade: 11
Specification Chart/Grid
S. |Unit/Area WH |[Marks | Remembering | Understanding | Applying Higher No. of Total
N. /Knowledge ability questions Marks Marks
vsQ |SQ |LQ |VSQ |SQ |LQ |vsQ (sQ |La |vsQ |SsQ |[La |vsQ |sQ (LQ |vsQ |sQ |[La
1 |Fundamentals of 8 5 1 1 |- 1 - - 1 |- |- - 1 |2 2 |1 |2 10 (8 |20
Environmental Science
2 | Population Dynamics 12 |7
3 |Ecosystem Dynamics 12 |8
4 | Environmental Resources |12 |7 2 - - 1 2 - |1 - 1 - - 5 2 |- 5 10 |- 15
5 |Biodiversity 12 |8
Conservation
6 |Environmental 12 |8 1 1 |- - - |1 - 1 |- - 1 |- 1 3 |11 |1 15 |8 |24
Degradation
7 |Environmental Pollution |13 |8
Environmental Hazards |12 |8
9 |Chemical Environment |12 |7 1 - - 1 - -1 - 1 |- 1 |- |3 1 (1 |3 5 |8 |16
10 |Quantitative 15 |9
Environmental Analysis
Total 120 |75 5 2 |- 3 2 |1 |2 2 |1 |1 2 |1 |11 (8 (3 |11 |40 |24 |75

RO%




Question and Mark Distribution

SN | Types of questions Number of questions Marks per question Full Marks Time in minutes
1 | Very Short Questions (VSQ) 11 1 11 25
2 Short Questions (SQ) 5 40 155
3 Long Questions (LQ) 3 8 24
Total 22 75 180 minutes (3 hrs)
Remarks:

e Item format in composite should be met as per the specification grid.

Weightage in the combined cell should be met, but +2 marks variation will be allowed within the combined cells. But cannot be nil.

In total cognitive distribution should met. +2 marks variation will be allowed within the cognitive levels.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviours.

The distribution of questions based on cognitive domain will be nearly 20% knowledge/remembering, 30% understanding, 25% applying
and 25% higher ability level. Higher ability covers analysing, evaluating and creating levels.

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Model Questions
2077
Grade: 11 Full Marks: 75
Subject: Environment Science (Ens.413) Time: 3 hours

Candidates are required to give their answers in their own words as far as
practicable. The figures at the right margin indicate the full marks.

Attempt ALL the questions.

Group 'A’
Give very short answers to the following questions. (11 x1=11)
1.  Identify any two environmental factors that affecting population growth in

Nepal.
Write any two examples of K selected populations.
Mention any two mineral resources found in Nepal.

Define subtropical forest.

Al O

Which method of conservation would you suggest to conserve the species
which are about to extinct in the wild?

Suggest any one way to minimize energy pressure in your locality.

6
7. Write any one importance of hunting reserve.
8 Define hazard.

9

. Write anyone effect of soil erosion.
10. Mention the WHO standard of Arsenic in drinking water.
11. If the pH value of soil in a locality is below 7, which two species of vegetation
are the farmers supposed to cultivate?

Group 'B'

Give short answer to the following questions (8 x5=40)

12. Describe Earth as a closed system.

R0



13.  How do you explain positive, negative and neutral interaction between the
species?

14. Explain the eco-centric and anthropocentric perspective of resource
management with examples.

15.  Write short notes on.

a.  Rara National Park
Annapurna conservation area

16. Identify and explain the consequences of air pollution on human being and
organisms.

17. Describe disaster risk management cycle.

18. Analyse how individualization and urbanization affect sustainable agriculture.

19. Enlist different chemicals found in the environment. Explain how the

knowledge on such chemicals help to reduce industrial pollution?

Group 'C'
Give long answer to the following questionsi 3 x 8=24)
20. Explain and relate the structural and functional aspects of ecosystem with
suitable examples. (4+4)
21. Describe environmental degradation. Analyze various causes of environmental
degradation. (3+5)
22. There is a pond in your locality, if you need to analyze the water quality, what

kind of instruments and parameters you prefer. Give logics.

Q0%



General Law-I

Specification Grid- Grade 11

Plan for Question and distribution of marks covered

Unit | Content Area Teaching | Knowledge | Comprehension | Application | Higher Total Total | Total
Hours ability Question Marks
covered
VS |S | L |VS S VS |[S |L |VS|S VS | S
1 Concept, Nature 20
and Purpose of
Law 1 1 1 1 2 2 4 12
2 16
Law and Society
1 1 1 1 2 2 5 20
3 Functions of Law | 16
in Society
4 Autonomy of law | 12
and legal system 1 1 1 |1 2 |1 4 15
5 Structure of Law 12
in Nepal
6 Principles of Civil | 12
Law and Civil
Rights in Nepal 1 1 1 |1 3 14

o




Sanctity of Natural
Person and Law
Relating to Natural

Person

10

Rule of law and
Separation of

Powers

10

Dispute settlement
mechanism:
Formal Court
System and ADR.

12

14

120

11

22

75

Notes:

21.

22.

23.

The alternative short questions will be asked from chapter 5 and 9 and long questions will be asked from chapt

1.

Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to

the possible extent.

Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the possible

extent. All the questions shall be compulsory. However, two alternative questions will be added to any two

questions among the total questions asked.




24. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one
alternative question will be added to any one of the three questions.
25. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher

efficiency and in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N.
12 to 19) and long answer questions (Q.N. 20 to 22)

K



[Gel. 415]
o #HA (General Law)
THAT 999 99 099 (Model Question 2077)
w7 (Grade): XI
Twa(Time) : 3 Hrs. quiigs (Full Marks): 75

TSI qHTFH ATRA TeHT Hifeasd gav faquwg | (e fagusr sgeper quiteshars

s=ss | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)
g & (Group A)

afaq @i ST TeTe® (Very Short Answer Questions)

qa eeEd I e (Attempt All Questions.) 11x1=11)
Q. BT ATH % Bl 7
What is Law ?

. AR FT TEATST (IITAT AR |

Write any two characteristics of law ?

3 HATH JFRET Iooi@ Tl |
Mention the types of Society?

¥, HERY FHISATS TRATT T |
Define the homogenous society ?

W faduearg qiamiud T |
Define the term " Bill".

% T4 BIAT AD B Bl 7
What is state law ?

o H A T F A
What is legal person ?

5. HIAAT ATEA THAH & &l 7
What is Rule of law?

K



2. YIRYABIFIT AATA & Aohee 7
What do you mean of separation of power ?

Q0. TXHNRT ATHATTARATER F FATAT STHFT AT |
Write any two role of public prosecutor ?

9. HATIAT FHH b BT 7
What do you mean by Mediation?

e @ (Group B)
vt S Tew (Short Answer Questions)
S TRFeEd 9 e | (Attempt All Questions) 8 x5=40)
9. DI I3 & Bl 799 Tl |
What is the purpose of law? Discribe briefly.
93, FIAARN THiAH AHAT SATRA THRY ?
Discuss the nature of law.

¥, FEAAH AR ATTIF FEE oo THR ?

State the four economic functions of law

Y. “FHIATA FHSTHT FTHIAE HeITI A TS |7 TR |
"Law maintain social welfare in society." Justify.

qgar (Or)

“HiTTT HTATR THE F&ATES 2l |7 G Herd |
"Constitution is the fundamental law of land." Justify

9% SUTHT FET B HE AN 57 7
How does federal law apply in Nepal?

9. TSR ¥ FEsiie & a9 (=T sarserd |
Differentiate between private law and public law?

iz, arTAdTiRl F¥adT faare TATETTHT Sl AaTade qHIRT fagero
THETH |

Analyze the role of district court in the settlement of juvenile disputes.

¥



g4t (Or)

~

Jepfeaeh faaTs THTATHRT JUTIEE TEvaHl FGAh THE |

Discuss about the alternative dispute resolution?
2. QTfch JIHE (qGT=aehl IqcT FE AT STl T |

How was the theory of separation of power originated ? Explain.

g T (Group C)
Al IWIcAs e (Long Answer Questions)
o qeeEd IR e | (Attempt All Questions) (3X8=24
R0, HIATH! IASAAAE 1A (b7 Hecaqul & 7 ITIh IATeXH diad
AR TR |

Why is political function of law important? Discuss with appropriate examples.

). HUTSTHT BIAAT YU FIes HE TART grg ?
How is the sources of legal system applied in Nepal ?
Q. AT FEAHT ATH (AGTIesh! ATl THEl |
Explain the general principle of civil law?
g4t (Or)
FIAAH] AUV TFEIIHT AR T4 FTAAR Hecd THT T |

Discuss the concept of law and shed light the importance of law.
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fafyrerepzor arferesr

HgTiwleh HeaTgeh, Hel 99
T ASAT 4T AZHAR fardzar

8/ THS TEIAR T CE TGRT =9 & Wu‘a—vr —
e ?
afq | ey [arr| sfq | S| @ | sfa | | [a| st | |@iet (9| st [ S@e| |
e arer e e arer
o= q0 q 9q Q119
EATadTE g 7| 90 q q 919
ENIPIEISIER
ERIREEE SRS q0 9 9 9 9
. fo aeREE 9% q 919 q
arforssr 93 9% 9 Q 119
e 94X T T | 90 9 9 1119
REEIRURCE
SEH ¥ ST 92 q q q q q

%




5. [rad qoar fAsieq|  qo q q 9 | ¥ %
IR
. MHiE® BN, [ q q 9 | 4 %
e W= # ¥
o= e
FATIETaE HFIAT
q0. Tl AT AUer| R0 | 1 S R E
T
STHAT 90 S 3 R 19 99 | ¥O | RY¥ | 9
TIAEH THREE
Gl JhREE ElEEIERE] qUITg®
afq gferea ged 99 99
TIeT IR AT q9H S %0
ATHT I T3 99F 3 ¥
STHAT R Y

qegeg .

o T AT UOF q USHHN & T ¥ AHATH Tl UhTg THIET T 99 T9F & B |

Qe




BIaT T9F YU ATHHT &7 T ¥ THATH Tol UhIgehl Fiaqiaed g4 T & TIF T8 T AT b 38 FOAT faebeq fam
Tqfer B |

ATHT T99 & AShHT &1 S ¥ 3 W9F T8+ S 919 % Ueh YOWHT qebeq fam Tfepet 3 |

A TEAT qUEHHT R0 FTTAT TG T, I=o T&TAT TeHT R0 FIATAT T T T AT TeAT ATaLAFATTAR
9 TEd B |

qI TEHT ATt geBla T Aas e daR dfd g, SeT ¥ A YIT e B | G GEHT A Grethl §IH @A
ATTATIAT E37 | S TEAT AvANT [AYATT, FeATGHA T [qeiATCHE qEehl I e |
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[Fin. 417]
faemexr (Finance)
T 921 99 098 (Model Question 2077)

®&r (Grade): XI

Twa(Time) : 3 Hrs. quiigs (Full Marks): 75
TSt TAEET AR AT AifdE SO TS | AR e aewe quiTeswars
s=ss | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)

e & (Group A)
afq ey SaeAs TvesE (Very Short Answer Questions)
I yeeeed I e (Attempt All Questions.) (11x1=11)

1. faqemsre 99 R |

Write the meaning of finance.
2. ardigew gwafa ¥ fataa aedia dreeel wie gedrserd |
Differentiate between real assets and financial assets.

3. ofqa 99 99 e |
Write the meaning of letter of credit.
4. TRy qiqaiaes T & IRTES 7
What is meant by fixed income securities?
5. DEMAT d@rar @9l % &1
What is a DEMAT account?
6. ATEl qUTES ATHRAT PTEATHT TF I HAIFT & 2000 FAT [AATAT | FATHT AT

TG 95 % B | TUEA SAeb FoAlehl AT B qThTT THIES, |
Suppose you borrow Rs. 2000 from bank for one year to finance
your education. Interest on loan is 18% per annum. How much

interest you pay on your bank loan?

RN



7. s 9T T |
Define microfinance.
8. wifgwarg gfewifrd T Iaerwr T e |
State risk with some examples.
9. Si@Ed 4 * fAsiEd dm Al faean gears e |
Differentiate between life and non-life insurance.
10. HHES AT BT AR % Bl
What is mutual fund?
11. =rhadiexe 9=®l & &1 7 T3l & (e |
What is compounding? Give an example.
g @ (Group B)
Gttty SaacA® Tees (Short Answer Questions)
S TRFeEd 9 f&er | (Attempt All Questions) 8 x5=40)
12. fafqa sHaeaTase! SAaeaTafed FAesd aHl Sawd THerd |
Discuss the managerial functions of the financial manager.
13. urerar fafam FMeaaaEl SR Tedesd ThReE! aHT H&qar 0+ T el |
Describe briefly the different types of depository institutions in

Nepal.
14. 9T AT HFIAT [ATHIS R ATHATTHT T8l A+ fafas gemreser aAr fagus
Eul

1N

Following information are derived from the balance sheet of Nepal
Auto Company Limited:
791 gsit (Share capital) Rs. 3000,000
R fufwae (Share premium) Rs. 2000,000
gfgafra  ama (Retained earning) Rs. 1000,000
a.  HFEIATHT ARGATRT AT a7 GE HA Hq &l 7
What is the shareholder's equity of the company?
b. I HFEERET 40000 P {1 G A i AR feparer ey Hiq v ?

RO



15.

16.

17.

What is the book value per share if the company has 50,000
shares outstanding?
fFerTert Yebes & & g1 ¢ WETHT AT TR |
What are the types of deposits? Explain briefly.
FEFHNIF [FgTIes ATl T{ed |
Explain the principles of cooperative.
T3l S T HFAIET 20000 AT GREHdes Wwdl S | T [l
GREFAEs F Y T &Y 0000 SEq dTHT RAT | FFIA |1 F TH a1t
fafres el @REHAT A IoI6es A @REHdIH o AUH GUSHT A1E
FicTohel SRhTAT T4 Fichrg | FRATTET 34 THAT HEY 1000 SATHT 3 1 B T
HETH! AT 9% T | A&l aReEbeedrs qTite STAT TR a7/ @ T
H(ETehl T b ATTUATETATS AThTAT T ThH T B |
A life insurance company has 20,000 policy holders. Each policy
holders with the age of 35 has Rs. 250,000 for life insurance. The

company is willing to set an annual premium rate to charge to these

policy holders so that it will have sufficient cash to pay off the
beneficiaries of any policyholders who die this year. The expected
death rate for age 35 is 3 per 1000. The cost of money for the
insurance company is 7%.
a. AT Jogax TUET T |
Calculate the expected death rate.
b. AT FEIES qEAfad g §aT i qRRTT TIEE |
How much the insurance company pays for the claims for the
expected death?
c. I Gitawarars T THIHT FFIAA F(A ok IOI3G 7
How much the company charges from the policyholders at the
beginning of the policy period?
goar (Or)

i



18.

19.

Tiftqs ATHT TR TS ATHT Yorg a9 (M ATeee GguH o |

Term life policy offered by Rastriya Beema Sansthan is as follows:

wrer 4T 9o A (Amount of term life policy) = Rs. 675,000

i Age? (Annual mortality rate) = 3%

Azl T (Cost of money) = 10%

T fqT 99E |

If you are willing to purchase this term life policy, what fair amount

of premium you must pay?

T TH[ED AT BT XY Z 1 4000 fear 93w & 4o &1 e ¥ ABC

FHHIAH] 2000 fFdT X %, 1¥0 FT T FRIAR AT G | HTET 4000 fqaa=

A T |

A mutual fund has 1000 shares of XYZ Company, currently trading

at Rs. 150, and 2000 shares of ABC Company, currently trading at

Rs. 140. The fund has issued 10,000 shares.

a. HIYH GI FH HA B a7
What is the NAV of the fund?

b. XYZ & 9% ¥ 950 o gig T ABC FFe! 97 & 990 o weal
FYR! ATTHAT AAHATRT AT ATAR HIH GF THAT FeA Hiel &l ?
If investors expect the price of the XYZ Company's shares to
increase to Rs. 180 and price of ABC Company shares to
decline Rs. 110 by the end of the year, what is the expected
NAV at the end of the year?

F Tk AR (T fafae st afrawer 718 yare fagusr o |

The following cashflow of a project occurs at the end of each year.

a9 (Year) 7= yare(Cashflow)

1  Rs. 700

2 Rs.900

R



3 Rs.200
4  Rs. 600
5 Rs. 400
a.

10 % AR ATAR ATATT Hed ITUMT THRE |
Calculate present value by using 10 % discount factor.
b. 90 % THAAET HTAR AET HA AT Tl |

Calculate future value by using 10% interest rate factor.

goar (Or)

b AT o g ¢ ATNhIH JbRes aredl Tad | 2+3=5
What do you mean by an annuity? Explain the types of annuity.

e T (Group C)
A IS Tees (Long Answer Questions)
qa JeeEd X e | (Attempt All Questions) (3 X 8 =24)
20. @ Y, RoR0 F faHr fgie egfaa faftaa darer Jae fudros fafaa fafaes
(NEPSE) #T 9U&! PRIERET Th BT T Il TRUH 7 |
Consider the following stock quote for Chhimek Laghubitta Bittiya
Sanstha Limited derived from NEPSE trading as on March 5, 2020.
Symbol | Close | Vol. | Prev. Diff% | 52 weeks
close High | Low
CBBL |1070 19040 | 1021 4.80 1343 751
a. HRMEAR a2 g [GTHT ITh Tkl AT Hed Hid 42T ?
At what price did the stock close on the trading day?
b. fof® agfad fafaa e I faT #fq PRes FRER qus v 7
How many shares of CBBL stock were traded on the day?
C.  HICYAH Hdh HAA TUAT TG ? AqH A & &l 7
How do you calculate the quote "Dift%"? What does it mean?
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21.

22.

YR EATHl GATET ATTFTH T FATH FRIAR T P H(T &l 7
d. What is the highest and lowest trading price of stock during
last 52 weeks?
ggar (Or)
AATAHT STIREE @Raehl ARM e [ fq-medr Jureliel JanTe! AT sAred
THETH |
Explain the C-ASBA system used to apply for purchasing shares in
Nepal.
TR A= G ¥ a9 R agTiee e Tl |
Define insurance and explain the fundamental principles of

insurance.
qUTE & 40,00,000 F & TT 43 Yo T TTA qUT AHABIV FehedT T fel AT
e |
You are planning to borrow Rs. 1000,000 on a 5-year, 12% annual
payment fully amortized term loan.
a. I HUTH ATE THTT Hid 8l ?
What is the annual payment on the loan?
b. ST HIH AT qUH AfTH AT AR H(T &l ?
What fraction of payment made at the end of second year will
represent the payment of interest?
C. STh WU JH TR AAT HHTA H(q 2 ?
What fraction of payment made at the end of third year will
represent the repayment of principal?
d. S e Afeqw auEr AT T Fiar Rl B 8l 7
What would be the amount of interest and principal paid in the
final year?

Best of luck !
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FET 99 v wg@a : Sin.425
fatifeesor arfere
THE | TEEER] T 3 Ay FAEE 49 JoF THAT | AT T AT | ST HPAR ST
9w &b
I o e e G e G e giq  |@d |«
Hour | g £ Bl Bl Eici)
9 ATEAT AT 24 15
3 e e 28 19
3 ity ggfd 10, 6/ 1|1 13 |0 |2 |1 |1 9] 5/ 2| 16| 9| 25| 16 5
01 qre=Ted
SEIC 18 11
ST 80 6| 1|1 113 (0 |2 |1 |1 9/ 5/ 2| 16| 9| 25| 16| 50
(A=

o HIHIT FUT S T &l TEFT G979 YO GIavIa, JIIT T9T 9 T&T G99 30 GIrd 7 T=o &Il 997 30 Gierd &7
G | T FAACHE ST TEEHTT THT +37 &7 T J97 [FH719 77 Flpd & /|

o UHETTH THEH THAT JFHHT FYF 797 91 THE [T THIZHT +3 BXa T3 G97 [THIT T qlFdeg av g%
TSI GIT IR T [ATgaeqe FEar FAH T 77 |
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Computer Science

Specification grid 2077

Grade: 11 Theory (Com. 427)
Competency level

Remembering Understanding Applying Higher Ability -é
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z z Z Z pa Z Z 2| Z 2| Z
1| Computer system 20 12
2 | Number system and conservation 1 7
Boolean Logic
3 | Computer software and Operating 1 ]
system 1

4 | Application package s |3 (3 [1]|5]2(2]|2 ol 71713 211|518 (2(2|1|5]|1]8 3
5 | Programming Concepts and Logics 8 5
6 | Web Technology I 8 5
7 | Multimedia 6 4
8 | Information security and Cyber law | 10 6
Total Marks 80 8 12 15 15 50
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Item format plan
S.N. Type of item | Score Total item Total Time
per score
item

Multiple Choice Questions 1 9 9 | 20 minutes
2 | Short Question Answer 5 5 25 100
Long Question Answer 8 2 16 minutes
Grand Total 16 50 2 hours

Remarks:

Item format in composite should be met as per the specification grid.

Designated weightage of the units/content areas should be met.

In the case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.

The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying
and 30% higher ability level. Higher ability includes analyzing, evaluating and creating level.

SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.
In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution.

In case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 1 "OR" question.
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Model Question
Grade XI
Time 2 Hours

Group A: Multiple Choice Questions 9 x 1=9)
Tick the best alternative.

1.

Which one of the following is an input device?

a) speaker  b)printer c¢) monitor d) mouse
Which of the following is NOT a bus type?
a)  Address bus b)Databus c¢) Memory bus d) Control bus

How to represent Boolean F(x,y)=x.y in logic gate?

Which scheduling algorithm allocates the CPU first to the process that requests
the CPU first?

a) first-come, first-served scheduling c) shortest job scheduling

b)  priority scheduling d) Round robin scheduling

Which operator is used to start for enter the formula in in Excel cell?

a) $§ b) @ c)= d)+

Which looping process checks the test condition at the end of the loop?

a) forb) while  d) do-whiled) Nested loop

How to insert an image in web page using HTML tag?

a) <img=..> a)<imgsource=..> c¢)<imgsrc=..> d)<img href=.>
Which image format is best used for photographs and offers a small file size?
U)

a) PNG b) GIF c) BMP d) JPEG

Which of following is monitors user activity on internet and transmit that
information in the background to someone else? (U)

a)  Malware b) Spyware c) Adware d) Virus
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Group 'B'
Give short answer to the following questions. (5 x 5=25)
1.  Explain different types of secondary memory of computer system.
OR
Describe the decimal to binary number conversion process with example.
. What are the functions of operating system? Describe.
3. Define different types of CSS.
OR
Explain the different components of multimedia.
4.  Differentiate between the do and while loop.

5. Suggest the prevention methods of cybercrime.

Group 'C'

Give long answer to the following question (2 x 8=16)
6.  Explain computer architecture with block diagram and functions of its

components.

OR

Write a program to input the elements of 4 x 3 matrix and prints its elements

properly using array.
7. Draw AND, OR, XOR and XNOR gates with truth table and logic gates.

230



Apiculture and Sericulture

Grades: 11 code: Aps. 429 (Grade 11),
Specification Grid
Unit | Content Knowledge and Application Higher Ability Total Question Marks Weight Total
g Understand Number .5 Marks
= @
5 E
o o
= Very |Short |Long |Very |Short |Long |Very |[Short |Long |Very |Short |Long - Very |Short |Long
Short Short Short Short Short
Introduction
1 |[to Apiculture 5 3
Biology and
2 |Bee Colony 8 5
Apiaries and
3 |management 20 12
Equipment
. 6 1|1 1|3 0 2 1 1 9 5 2 16 9 25 16
4 |and foraging 5 3
Introduction
5 |to Sericulture 5 3
Silkworm
6 |rearing 21 14
Cocoon
7 |assessment 16 10
=T 80 6 1|1 1|3 0 2 1 1 9 5 2 16 9 25 16 50

9




Remarks:

Item format in composite should be met as per the specification grid.

Weightage in each unit should be met, but +£2 marks variation will be allowed within units. But cannot be nil.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors.
In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%
applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Candidates are required to give their answers in their own words as far as practical.
The figures in the margin indicate full marks.
Group: A
Write Very short answer to the following Questions. 9x1=9
q. W 3 HRIHT ATAHT ATH AR |

List any two species of Bee.

. EAHS AXH B BT 7
Write short note on swarming.

3 HIOUEHHT YART g9 % g% YAl AHARH AW Jeod TR |
Name any two protective weare used in bee keeping.

¥, STEAT W SR AT SYARN g9 HeX 33 YoTqesdl ATH qeield |
Write any two bee flora found in Nepal.

Y. 2T [T B g3 SIfeR A ETE e |

List any two species of sillz worm.

% Protozoay (Pebrine) IRt #re SRl 910 @e@d |
Write causal organism of protozoay (Pebrine) disease.

s Mounting #1 %+ TF Hed Iei@ THEE |

Write any one importance of mounting.

S, HET AT & qeS 7
What is Cocooy?

<. A BEAATE FE A A ?
How will You identify dead Cocooy?

Group: B
Write Short answer to the following Questions. 5x5=25
q.  FAYTTHT T¢TH Wllehl FPATAATRT AT el |

Write about the scope of sericulture in Nepal.
R A (BT SEaAEged U TR |

Explain about the life cycle of silk worm.
3 U FRAH! [AAEE S THe |

EEE!



Write the characteristics of good quality cocooy.
¥, JUTAHT R T Heed AR |

Write about the importance of apiculture in Nepal.
Y. TURAOY WE IATEAHT ATNT HIT PIeATHTeh aITIT Bl T, 7

How would you manage bee colony for good honey Production.

Group: C
Write Long answer to the following Questions. 2x8=16
Q. R FATHHT (AT TohREe TF fdqiHewesd! Saaear | a1 qu+ THE |
Discuss about various types of combs and their management.
. A (BT ATaedSE T ATAUESH! AT == e |

Discuss about the materials required for silkworm rearing.
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[Beh.431]
Yreadeen qar duren Xrem (Beautician and Hairdressing Education)
AT 9¥9 19 R099(Model Question 2077)

®&r (Grade): XI
Twa(Time) : 3 Hrs. quitgs (Full Marks): 75

TSI qHTFT AR Mo HT Aiferss gax farqueg | fhamran faguesr sgepet quiTeshars
s=rse | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)

e & (Group A)
afaq @i ST TeTe® (Very Short Answer Questions)
T Reeed 9uX fae (Attempt All Questions.) @x1=9)
Q. AT AT A F El 7
What is aesthetics?
R radepell RTEATH F e Hewd TRy |

Write any two importance of beautician education.

3 I AISTTAT B 8 2T docdeedl AH TETad |
Write the name of six elements of balanced diet.
¥, [AHCTERT A H & /T
What is sterilization?
Y. gieS TTaT FEATHT FHET EUAT L YIRS IR g 7
What do you get first aid if skin rashes problem appears during
threading?
% TR FATEITE I IS ATATEH F g5l U [Afg® TETerd
Write any two homemade processes of removing unwanted hair.
S HYTAT UTSH Iadl dee&dl ATH defard |
Write the name of three layers of a hair strand.
S, TR AT TART g dAael JrAiEee ATH Telard

REN



Write the name of any three materials used in spa.
. UE qUISH AT el B W FE VAER T8 ?
How do you care your skin when it is dry?

e @ (Group B)
v S wew (Short Answer Questions)

q yreEs! IR R | (Attempt All Questions) (5x5=25)
q0.  YNRH! FRRATHEATNTATITHA HIA Hed RATSS, 7

How does physical exercise help for physical beauty?
#g41(Or)

TAHE IJUER, FRARTZ T [HHATRRITR! Tie=y faqare

Give introduction of first aid, sanitation and sterilization.

Q. Sfrerae fafaerr TRt T AEReET SATavaE I Barg ATl FUH T |
Describe the depilation method of removing unwanted hairs from
the face.

R qUIS FeHl TATATH ITAR AL e 7 aU THE |

How do you treat foot sole cracks? Describe.

3. BRI ATHRSP! Gle=d TR SR TAT AT &l A8 gaeg 7 fersereror
THETH |
Write the procedure of the make-up on round face. What will be

the result if make-up is done without identifying the shape of the
face? Explain.
V6. rATH IR TR | AET F A FEE Goold ITHEE
Give introduction to skin. Write any five functions of skin.
goan(Or)
BT TARTS (RITHRIR) T R T AN TCTel< |
Write the procedure of manicure and its decoration.

g T (Group C)
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Al ITrcAs geAeE (Long Answer Questions)

& geeeas I I | (Attempt All Questions) 3X8=24)
. HAAT @ AT T a9 FRUEE 9few THerE | B VRS A O

Q%

SUTIETH] AEcdd! [aeeTo THE |
Identify hair problems and their causes. Analyze the importance of
household measure for hair care.

~

AR TEHRE! I=T fEHere ¥ I8l HeTd AU TR | Thidd ATeRdTs

HTFYF TATSH ANFEE Iootd TRl |
Give introduction to the facial make-up and its importance. Write the
techniques of making the natural face attractive.
ERCl
SATGIS WA % &1 7 SAgIg T dlCehl T AHPT HIZaT TaH dhI3AE® Joeid TR |

What is blow dry? Write the techniques of blow dry and its

advantages and disadvantages.
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Plumbing and Wiring

Grade: 11 Subject code: Plw. 435
Specification Grid
Unit Content Working | Knowledge | Application Higher Total Marks 2
Hour and Ability Question Weight é é
Understand Number s 8 El
VS|S [L|VS|S |L|VS VS | S VSSL:S’&
1 Introduction of Plumbing | 2 6 |1 |11 0|2 |1|1|9 |[5|2|16|9|25]|16
2 Tools for Plumbing 12
3 | Plumbing Pipes and 10
Material
4 G.I./PVC Pipe Fittings, 10
Joints and Valves
5 Measurementsand symbols | 4
used in plumbing
6 Tools and accessories 14
7 Concept of electricity 6
8 Electric Circuit 12
9 Electrical Power and 4
Energy
10 | Cell and Battery 6
Total 80 6 |[1/1/1 (3|02 |1,1|9 |5|2]16 9

%0




Remarks:

Item format in composite should be met as per the specification grid.

Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviors. In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive
behavior should be approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%
applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR"

question.
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Model Question

Candidates are required to give their answers in their own words as far as practical.

The figures in the margin indicate full marks.

Group: A
Write Very short answer to the following Questions. 9x1=9
1.  Whatis plumbing?
2. Write the full form of CPVC. CPVC.
3. For what purpose can we use reducer?
4, How can volume of material of pipe be measured?
5.  Write the applications of micrometer.
6.  What s the function of switch?
7. Define electric circuit.
8.  Abulbis rated with 100 watt. What does it mean?
9. Define 1 unit electrical energy consumption.
Group: B
Write Short answer to the following Questions. 5x5=25
10. List out the steps involved in laying of pipe.
11. What are the different types of pipe joints?
12. Differentiate between AC and DC.
13. What is series combination of resistor? Find the equivalent resistance of it
mentioning its characteristics.
14. Mention the different methods of charging a battery. Explain any one of
them.
Group: C
Write Long answer to the following Questions. 2x8=16
15. List out the different types of tools used in plumbing works. Mention their use
also.
16. Explain in detail about the construction and working principle of fluorescent

lamp.

¥R






Remarks:

Item format in composite should be met as per the specification grid.

Weightage in each unit should be met, but £2 marks variation will be allowed within units. But cannot be nil.

SQ and LQ can be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors.
In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should
be approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearly 40% Knowledge and Understanding, 300%

applying/skill and 30% higher ability level. Higher ability level covers analyzing, evaluating and creating

In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Candidates are required to give their answers in their own words as far as practical. The
figures in the margin indicate full marks.

Section A
Write Very short answer to the following Questions. 9x1=9
1. Define Chain Hotel.
2. When and how Nepal did open its door for foreigners in terms of entry?
3. Who is Domestic Tourist?
4.  Write any one function of Skipper in Hotel.
5. Write down the full form of GRE and FIT.
6.  What is the function of the Emergency Key?
7. Who is responsible for preparation of cold food items?
8. What is the French term for Senior Captain?
9. What is the standard size of Square Table for four covers?
Section B
Write Short answer to the following Questions. 5x5=25

10. What the difference between Downtown hotel and Resort?
11. Explain the Basic Components of Tourism.

12.  Explain the Telephone Handling Etiquette.

13.  Write the major responsibilities of Room Attendants.

14. Explain the major outlets of F&B Department.

Section C
Write Long answer to the following Questions. 2x8=16
15. Draw a neat diagram of large hotel organization and explain it briefly.
16. Highlight the coordination departments of kitchen with their relationship.
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AHAT I3 9T

F&T 99 UTegeh ATHI=ER T Iepleal
qUISE: Y FHA: 3 "I

e &
Gropu A

JAHT JYEER Aq g IR e | (Very short question)

9.

q0.

.

HTAfgaR (SMCR) &1 1 &9 «&Ted |

What is the full form of SMCR ? (K)

TR YR AT ARRTT ST HIAHHAT & U H&T AaRd Ioord TR |

Mention any one major interference of communication process in printed
media. ( U)

TGB! AGIRT FHA a9 ATTHT 8l ?

From where the concept of penny press is originated? ( K)

TAFINATRT EA R AT TR |

Write down any two significance of journalism. ( U)

ATATAR TAFIRATS & FEAT AT HGTHT AT YT THILE, 7

What type of burnning issues should be delivered by environmental
journalism? (A)

FHTARHAT STATEA [l oot TR 7

Why should dateline be mentioned in news ? (K)

TAFRAT FA TF FH ACAR |

Write down any one duty of journalist (K)

What is information ? (U)

Jureet vl H U FATaETdTATS AT FATIEIATS AT [aq b X G¥hTaes [ |

Give any two suggestion about the things to considered by good reporter to the
journalist that you know well. (U)

THTAHT raeal JTaTd Higiene AUHT &l 7

When the internet service has been started in Nepal ? (K)
AT TAFATHT B R qT fAfHaares defard |

Write down any two limitation of Online journalism.(U)
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TE g
Group B
qqH TSP T Sux f&er® | (Short questions)
R TSAREH TFNET IoAd e F UHH GIel ATl TR |
Mention the types of communication and explain any one of them in brief. (U)

93 TS TABIRATHT (TTTTTHAT AR B Teb THTHAEHT THAT TAR TR |
Make a sample of news on the subject matters based on eco-journalism ? (A )
Fgar
FHTAT HeAH! Hed ¥hesb WY U G¥ITR(6TH] THAT TR qTHad |
Make a sample of editorial being focused on the news values. (A)
¥, AT AF KM TET T [ 99 FRee =0 T e |

State the things to be considred while conduction research based reporting.
(HA)
. FAEEARH Ades T e |
Highlight the sources of news? (U)
ERC|
AT T JARU THAFIATHT & B G 7 Sei@ Tl |

What are the differences between print and broadcast journalism? Mention it

(U)

9§ FEMER J@AE ET FEl gy At gu TR |

Introduce the news structure with figure. (A)
9. UTF A FATERTAT GAFT AN AT@eTH T AT T [UEeE Ioid TRl |

Mention the qualification and qualities required to be good reporter. (U)
iz, fagmra Roifdgsr T9A1 @ TUR AR |

Make a sketch of model of Beat reporting. (A )
9%, AAATEH TABATH] ATTLIHAT T AEA ACTRd 7

Write down the importance and need of online journalism? (K)

e T
Grop C
JaH TEAeEH ardr 9av ez | (Long question)
0. FEER YIRAT HEA THIA grg ¢ At AT TR |
How we complete the communication process? Explain with figure. (A)

¥



9.

R

TATHT SATAATIE TAFIATR ATALAFAT (b Tag, ATHAT dbded e T |
Explain the importance of professional journalism in Nepal with suitable
arguments. (H.A)

JI4qr
fore frdifes T s @raTToHe Riffeg®r qovTcas faeayo THae 7
or

Make a comparative analysis between beat reporting and investigative
reporting? (H.A)

ATHITSTS Fostrerel ATH FARHT TREBT THATAHR] [T THar |

Evaluate the positive and negative aspects of social media . (H.A)
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ey T e fran (Optional Health and Physical Education)

AHATIAIA (Model Question Paper)
H&TT(Class) © 99(11)

qUITE (F.M.) © 9% (75) THA(Time): 3 H9CT (3hr.)

TUE * (Group "A''% X 2= 22
el 99 ATAT FITEEHTATT WWW?%‘F@?{ (Answer the any 11 Questions in very short)
1. NI TREEENIAR & Bl
What is physical fitness? (K)
. I THRE dedl (eafdH I s FE0 T a7 7
Write a way to practice the first position of suryanamaskar. (A)
3 FEETESITH ATEHT I B T AT W@ qHEES & g7 |

Write down two main health problems that appear to be due to lack of

carbohydrates. (U)

¥, T Al @RS g9 ¢ fohd, U AT deTRid 17
Why should our lifestyle be healthy? Write in one sentence (HA)

Y. AfEATETIRT THAAT AUATST T % Ub AT FaeR AETed |
Write a safety behavior that can be adopted during menstruation. (A)

S 2 o R AT U A
When was South Asian Sports Federation established? (K)

9 AT GABTET g5 AT Hecd deerd
Write any two importance of International Games. (U)

c.  TTHTeT feHel AHATIe arsfaeiaHir Tl Hiqarer farars ars fegwsr
How many byes are given to ten teams in constructing Knock out Tie sheet (Fixture)?
(A)

%, WTEIRY APl F UF Hed qCTR |
What any one importance of the local games? (K)

Q0. TqUTEHI MSURHT e H Tk TATHTA Al Ufg=Te T TFRT FA Teh
feartreTar eretad |

Identify any one local game played to your locality and write one feature of its. (U)
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11.

TIT GeAPT JagT THHT AN ATATSH I FH Teh JITT AT |
Write any one ways to promote the local game. (A)

e @ GroupB

qABT Jeeed Seaar e | % X & = %0

Answer the following questions in short.

AES

1=

9%.

.

Q%

q9.

HIEE SITHT ST 9T MM [RTETTeh ATTIAHATATS IS FiEd T

TR |
Clearify the need of health and physical education in human life with examples.
TATAHT HAMAT @I FRAFHB! TATARIAT TFGHT ATRAT Thes T

{ H;%x q | Give your arguments about the effectiveness of vaccination program in

Nepal

~IHITAT TUHT FH T (GHHATE IT IS T b U ABTNF GHTAEE
> \l

Give any five preventive suggestion to your neighbour to prevent the pneumonia.

ARTIETS TEIATTHT o 1T STHHIT AAREE Joold TeTd |
Explain any five long term effects of drug Misuse.
OR

ARTIRTY TREAD! [HAAVHI AT TATeel T RT&T JITAhbT FIHT

o A e T AT AT |

Write any five that role do you can play as a health education provider in controlling
drug addiction.

TeTrele =RITEE ¥ [ IME= HROT T AETUHT ATIRAT AT T8I |

Compare among Anxiety, Neurosis and Depression on the basis of causes and

symptomps.
{Tad THEH HiATET [aHes &=l HAANTAT g 7ol [EHES HE Gl

Mg, 7ETed |

Write down, How many teams compete in the World Cup Football? How are these
teams selected?
OR
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FUTEHT fa=meaT fagamerasr d=ras e emuer Teadfa g fires
I TATNTATATS STaedd TTHT GoTAT T FdeIF JIUEE Ioold
TR |

In your opinion, what should be done to run the Presidential Running Shield

Competition effectively? Write.
i5. 9TEE AAFTE GAbl Slel == T e |
Explain an ancient Olympic Games in short.
9%, 93 ¥TaT faH® THATIE JUTAHT ATSHEA TTANTATH arerae qar
THETH |
Prepare a knock out tie sheet of 13 teams for a Badminton compition.
e M(Group )3 x5 =¥

defcbl YrAeh] ATHT 3dX I(\G"lﬁlﬂ\ |

Answer the following questions in long
R0, TWRATU T QY SAAR] ATNT MLAE [FATRATTR Hecd T ATALHAT
Ioi@ TR |

Mention the need and importance of Physical activities for the healthier and

longitivity of life .

. W@ SAEFAAR] ATTTH] AT TATES HTAFT T ARHEE AT JETHT
FUF T |
Descirbe the ways that you have adopted to follow the healthy lifestyle in eight
points.

R TFY YA YUITATHT AFeeh HIH AT ATl THel |
Explain the functions of male reproductive organs with labelled diagram.

OR

AT AfeATERr AT TAT TSI TATERT ATHIT TALATHN THTETT
Tlﬁ%\'l'{ | (Critically analyze the current sexual and reproductive health status of
Nepali Women.

The End!
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YAEs fIATH JI7 TP THA =

F. | TWAH TER | T GG | TFT T SAEPAR | AT ASHHR T (e
q 8% et g9 | % 9 ? 30
R Brar g9 Y Y Y, q00
3 ATHT 997 R c 9%
STEAT 9% 40 930 AT (R =vam)

- K
JYTEE HIEAT AT TANFUHT THEETHT Tedhl THedld TSTAR T HBARE] Tlad (Hed TR JF Fred T, |

THEH! STHAT HBHT X AT T THETTART THISHT 3 FZeh T T (AT T Ficbris, d¥ s THIgane Y97 Al T favaasga

AT HTAH TIG, |

JTATATAT T TEHT TIH 0 T, aTeT TEehT T 30 FIqTd, TANT T8N TIF U FIqA9Td T = &IAT qgehT FIT Y Fiqered Fifee 3 |

I TAATAT [0, AR ¥ Fqsr @ T g9 (A T 3 |
T T 99 T IR AT I3 AT ATARET BET JeAET TAH 97 7 4 AT T3l T ATAT AfaRad 99T qie 991 |

difepuet que B3 I e THTgATe ATHI J97 WATHAT TT T STeehel THgale Al ial T GIel JIes |leq T | AT’ JITHT Teh waT

TSI IT YeAEe Ui Gled ik g |
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THA T’
Model Question
fawa : @@eg fae [Sps.445] THT } O
Attempt all question
qIE & : TOABTILAEEH T AHAT STR AR | (RX9=R)
Group A: Write the answers to the following questions in one sentence. (9
x1=9)

1. @awe fa=a w=er & & ?What is sports Science? (K)

R ATl dieeTs STHTAT SIST qTaT A0 Sarasdl T g8 ¢ What type
of liver is used when erecting an electricity pole on the ground?
HA)

3 GATSIESH ATAORE THEES AN T AIATS Al & Ul I TETard |
Write down a solution that can be used to solve the physical problems

of players (U)
¥,  Ahcddls HAAA  HAARHENET WH g1 How many types of

personality are there according to Krestcher? (K)

Y.  WARSHT TRIUHICE ATIT TANT Th 35 FRUES  Arsderd | Suggest the
reasons for using anthropometric measurements in sports. HA)
% Udhe WTAINTATHT AT SFaeamdq 9+ & & ? What is human resource

management in sports competition. (K)

S GATSIEEH G HIUTEAR] HIIT T F Ul ST J&terd | Write down a way
to measure the sports performance of players. (U)

c.  FNMEARl JANEE  HANRACHS  Hrgal a9 @fem ‘How to get
psychological benefits from the use of yoga (U)

], Whadd WdHl AERAT 98T & % g ¢ What are the basic skills of football
?7 U

R4V



TIE G : AP TITE0H! BIEl IR AEGTET | (AXU=RW)
Group B: Write short answers to the following questions. (5 x 5 =25)

0. WAHR [aAHH IaedeT GlAdg THa |
List the objectives of sports science. (K)
9. URTETUTRT AR WHET & BT 7THE JPRES AATH TR |
What is training Load? Describe its types(U)
Faa1Or
GAETHT G0 HEed I ATTLIRAT T TTa I |
Clearify the need and importance of nutrition in sports? Explain. (U)
R, GARIHT TRIIHICE HTAAR] TART HIA g 7
How do you apply anthropometric measurements in sports? (A)
sgar Or
IR TREEINHT AT AWTRTHRT AN T AANRATCHE FHTZaEe e THerd |

Identify the use of yoga practice and psychological benefits for

physical fitness. (A)
3. UINCHIATs qRINT T4 ETESTFIeT FRUEE qU TR |
What is athletics? Explain the steps of the high jump. (U)
¥, THead AR JECHE T ATHTHF MIAee Iocid T erd |
Mention the defensive and offensive strategies in football games. (U)
FHE T @ AABIIAETH A I A€ | (RX5=9%)
Group C: Write long answers to the following questions. (2 x 8§ = 16)
. GARIH & T GANGH AT AT AR AT b o<l B 3 qeb Aleal
HTRAT TATS T T |
Study of Kinesiology is essential for sports person and in the field of

sports? Present your logical arguments. (A)

et Or
G FHIfasTars afeifrd 79 a9e des e e | Define Sports
psychology and describe its areas. (U)

R4z



1§, GATSIEEH! A T AAHBATH ATAFNG THRI AT T T ANAH BIAHHB GIHT TR
T{e® | Prepare a one-week training program to increase players'
speed and flexibility (HA)
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& 99 T ;. et g QAT SEAqan RIemw [Sol.447]
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AT ¥ 9THTTe faerd AR
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PLEEII EIEEES)

JAH TFRE®w | ilad qg@T | GHd [qErsT ( qUliSeh
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BIar 997 S Y ox4 . ¥O0

ATHT 99 3 %% 3Ixg . Q¥

STHAT R 3 ¥uaa VY
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o T YA AT gH B |
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93, 94 ¥ 9 TEERE YIFEEHT Ueh ATqad qe= i 3 |
TSl FARATE T FITEEHT A, AT, TART T I=F T&TATRT Y7 J[AAE THTgard T Aled Alebel o | a8 F9F FeT
T GITRT TR TR THITAT 7 g B | TehTs THATE ATHI 9 AT Sl | TG FoSaHT Glal Afafad Joe TTeat

J9 |IATTH Thredle AR T Aedd G |
I=F TAT A=, [y, Feaierd, s ¥ Hed I¥e=dl Jeaes HEe 604 S, |

o~
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QAT AT AT SAaaqaeir Rrer [Sol.447]
qUITgeh: 5% qAT: 3 °U

o N

g JeesHl A% faqe |

qHe &

qAHT TIAETHN AT Bral S G | 99 X 9= 19

9. ITHI® AT T FrafeTesd [aa faaesl araRawa=d Ush ar ] Sooid
TR |

R IRASAT FE T (FATATHT THIART ATRTEEHT HaL FRIHHN qE
T8rs ¢ Ueh ATRHT J&ard |

3 ZeaRcHl FANT &l Araa™l 9413 98g, | {67 7 % us do g
T |

¥, g i wHE ST & U 9T SR 7
ERISIEA AWH! SfqeTee! AfAd [EAhH! ATH AETald |
IS F TATARUNT AT TG ¥ AqA TITZHT SAATH qTRHT BT
Th TATT Telard |

S ST ¥ AT fowR HT TF BRF ACTerd |

5. AYTAH] AMTT FATH! [HaT=Abl ATNT H&ql [Har=r gumel e
TRTHT B 7

. IHHATAAT ARl & Bl ? U ATRMHAT AETald |

Q0. IFHY ST T Wer T fa=repl & Tk =TT TeTerd |

-~

Q4. ANIRTIR TAGTATE T F Tk IUT TERTSTE |

qqg g
qAHT JIAEEH Bel I (eI | X ¥ = ¥o
qR. ARG HTE ATTHT FATAHRRT FTANT HaLT T Fleprss, ¢ ATRAT AT

F ITFFST FHTEIEs TEId THar |
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SREI
FIAX TAT a7 feisTee [SHIEHdT TANTS qUigh! SHATHT T
HPRICAE THTEES Telald |

93.  9TATAT IITRT SIAA TgATehT [a9drars qi=adl FamHl Joeid el |
¢, STFiTterer fafaerdrer Tdes &eET T YaTaes et e |
Q. TR el faeaaT IUTHATRT STt TRAT | T ATeeTg e
T |
EREI
BATGT (gl HIAAT AT FATABN] § AR FRUEE Tr=ac]
T fereeIooT e |
1% FHN fad Al & 81 7 IAEUEET IHRT [axehl Hdee Ioold
THETH |
O, TG fAAROHT I 9T B Y ToaeseRl AT A |
95, ETHT F9TehT ATHT FREATHT ATNT FHEAT UM Faervard T deg T
TEHAT AT AT IRUGATs ehadied 99 el |
9%, ATHAT (R TAT JATHALITHR AdEseATs AT AR TAT AT T HT
AT YR T THAT TS HEq0 IR T ?
He T
AT FYAEER! AHI IR (&I | 3IX g =R¥
R0, TATIATE THTARRI TTHT FAATIA TH FH & ATl FALINE I3hTaes
TEI TR |
9. AMAEATE G TS B qAT TATAT AT FUTIROT EAAT FA A

HI G TR 9T ? & JUTell FHISTHT BT T qeATdd bl GHTS
T b 7 HE ?
ERLI

Y
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